
� �

���������	�
	����
�	
����
�
���	�	����	�	�	�	���������	�
	����
�	
����
�
���	�	����	�	�	�	 �
������������	���	�
������	
������
������
�
���
���������	
�
�
����	
�
�
�
�
�
�

����������	
�
	�����
	�������
�
������	��������	�������
�

����������������������
�������������������
��������
		����	���
 ������

�
�
�
�

����������	
��������
�
�

�!����!�"�����	#�
����������������
�

	�
��
��������������
��
�������
�

��	�������	���	�
��
�

�����
�
�

�$�!��
��
������
��
����������
�
�
�
�
�
�

�#%�	���"���������&''(�
�





� �



�
��	��������!�
�

�

���������������������������� ��������������!"��!#$� ���%�& !�%� ��������� �'�

�

��	�(�)�������(	�*&�������+,%� ������������-���./0.1�.����2!$�$�!���$�����!��3�$�����4!�!���$���%!�������

 �%�������� ���%������������

�

�����'�5�%,��(�$&�����36$�&�"�����%&���& �����%�%��6��������������!"��!#$� ���%��������7�8��%6���3���������

�$!3��*&��3��!$ &7�������%��&!���$��%������������

�

���('��$��'���!��$���&�!,���"�����%&�!$+��&�������& �8�%&%�+��!�%�%���3�$���!�%��������� ��

������������%�� ��������������!"��!#$���!$���������!#$��$���%��%�& !�%� ��
�%�$�$�!��

(��$,�!����&�����'�

�

�� ��� ���'� (��!�� ����%�� 
�36��"� �!�+�� �� ��� ��'� �������� 
�7�%� 9��$:$ �"� ���� 4����3�� ����!�!��� �$� �%���

��������8�����%&%���$%�7�%���%&%���3�$���!�%� &��$����������!"��!#$��� �%�������� ���%��������7�'�

�

��� ;����  �� �&63!��� �$��6�!���  �� ��� ��(� �"��������� �� �� ��� ����!#$�  �� �&63!��� �$��6�!���  �� ��� -��.

�&�&�!��:$�<���(=�������%�2��!�! � �%����%�� �%�������������!"��!#$� ���%��������7�'�

�

�����'��'�>������������'�	'���$%������������!�$��$�%�&$�����!�� ���������3����3�&���!�$�����	�
����'�

�

�����'��'�	&!� �3�$��4������	��2�%���5�%�2�9�+�������������!�� ���������3��(������

�

����%���%'�(����%������4��
'8������4�$��'�
��! &%�
'8�9&����:$�4�"��'�����3��
�+!����>'�	��������+!%!#$�

*&��4!�!���$���%&%�+��!�%�%���3�$���!�%�����%��+��!�$�%����%��������7�''�

�

�

�

�

�

�

�

�

�

�



� ?

����	��
�
�
� �
�
@�����''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� ?�
� �
�������		���''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� A�
� �
��"�������������
�
"��''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� ���
� �
	
��������!�����������	
�
	�����
	�����������������
�����
����)�

 �����*�&���
������*�&����������*�&�����������*�&��

�

� �
� �$��� &��!#$��'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� �?�
+!+!��,-.�/��������*�&�� �
� �'�'��$���� �$��%�'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� �1�
� �'�'?'��B���!3�$���� �
� � �'�'?'�'��%�& !�%�	���$�!�3,��!��%�''''''''''''''''''''''''''''''''''''''''''''''''''� �0�
� � �'�'?'?'��%�& !�%� ��
�%�$�$�!��(��$,�!����&������<
(�=�''''''''''� �C�
� �'�'1'�
�%&��� �%����$:�!%!%� �
� � �'�'1'�'��%�& !�%�	���$�!�3,��!��%�''''''''''''''''''''''''''''''''''''''''''''''''''� �C�
� � �'�'1'?'��%�& !�%� ��
(��'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� ??�
� �'�'D'���$��&%!�$�%�'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� 11�
� �
+!&!��,-.�/��
 �����*�&�� �
� �'?'��$���� �$��%�'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� 1D�
� �'?'?'��B���!3�$���� �
� � �'?'?'�'��%�& !�%���$ &��!3,��!��%�'''''''''''''''''''''''''''''''''''''''''''''''''� 1C�
� � �'?'?'?'��%�& !�%� ��
�%�$�$�!��(��$,�!����&������<
(�=�''''''''''� 1E�
� �'?'1'�
�%&��� �%����$:�!%!%� 1E�
� � �'?'1'�'��%�& !�%���$ &��!3,��!��%''''''''''''''''''''''''''''''''''''''''''''''''''� 1/�
� � �'?'1'?'��%�& !�%� ��
(��'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� D?�
� �'?'D'���$��&%!�$�%�'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� AD�
� �
+!(!��,-.�/��
������*�&�� �
� �'1'��$���� �$��%�'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� AA�
� �'1'?'��B���!3�$���� �
� � �'1'?'�'��%�& !�%�	���$�!�3,��!��%�''''''''''''''''''''''''''''''''''''''''''''''''''� AC�
� � �'1'?'?'��%�& !�%���$ &��!3,��!��%�'''''''''''''''''''''''''''''''''''''''''''''''''� AE�
� �'1'1'�
�%&��� �%����$:�!%!%� �
� � �'1'1'�'��%�& !�%�	���$�!�3,��!��%�''''''''''''''''''''''''''''''''''''''''''''''''''� A/�
� � �'1'1'?'��%�& !�%���$ &��!3,��!��%''''''''''''''''''''''''''''''''''''''''''''''''''� 0D�
� �'1'D'���$��&%!�$�%�'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� 0C�
�
+!0!��,-.�/���������*�&�� �
� �'D'��$���� �$��%�'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� 0C�
� �'D'?'��B���!3�$���� �
� � �'D'?'�'��%�& !�%�	���$�!�3,��!��%�'''''''''''''''''''''''''''''''''''''''''''''''''''''� 0/�
� � �'D'?'?'��%�& !�%� ��
�%�$�$�!��(��$,�!����&������<
(�=�'''''''''''''� C��
� �'D'1'�
�%&��� �%����$:�!%!%� �
� � �'D'1'�'��%�& !�%�	���$�!�3,��!��%�'''''''''''''''''''''''''''''''''''''''''''''''''''''� C��
� � �'D'1'?'��%�& !�%� ��
(��'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� CC�
� �'D'D'���$��&%!�$�%�'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� C/�
� �
	
���������!�����������	
�
	�����
	�����������������
������
����)� �



� 1


 �����*������*�&���
 �����*�������*�&����
 �����*
������*�&��
� �
� �$��� &��!#$��'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� E��
&!+!��,-.�/��
 �����*������*�&�� �
� ?'�'�'��B���!3�$���� �
� � ?'�'�'�'��%�& !�%�	���$�!�3,��!��%�'''''''''''''''''''''''''''''''''''''''''''''''''''''� E?�
� � ?'�'�'?'��%�& !�%� ��
(�''''''''''''''''''''''''''''''''''''''''''''''''''''''�'''''''''''''� E1�
� ?'�'?'�
�%&��� �%����$:�!%!%� �
� � ?'�'?'�'��%�& !�%�	���$�!�3,��!��%�'''''''''''''''''''''''''''''''''''''''''''''''''''''� ED�
� � ?'�'?'?'��%�& !�%� ��
(��'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� EC�
� ?'�'1'���$��&%!�$�%�'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� /��
� �
&!&!��,-.�/��
 �����*�������*�&�� �
� ?'?'�'��B���!3�$���� �
� � ?'?'�'�'��%�& !�%�	���$�!�3,��!��%�'''''''''''''''''''''''''''''''''''''''''''''''''''''� /��
� � ?'?'�'?'��%�& !�%� ��
(�''''''''''''''''''''''''''''''''''''''''''''''''''''''�'''''''''''''� /?�
� ?'?'?'�
�%&��� �%����$:�!%!%� �
� � ?'?'?'�'��%�& !�%�	���$�!�3,��!��%�'''''''''''''''''''''''''''''''''''''''''''''''''''''� /?�
� � ?'?'?'?'��%�& !�%� ��
(��'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� /0�
� ?'?'1'���$��&%!�$�%�'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� /E�
� �
&!(!��,-.�/��
 �����*
������*�&�� �
� ?'1'�'��B���!3�$���� �
� � ?'1'�'�'��%�& !�%�	���$�!�3,��!��%�'''''''''''''''''''''''''''''''''''''''''''''''''''''� //�
� � ?'1'�'?'��%�& !�%� ����$ &��!3���6�''''''''''''''''''''''''''''''''''''''''''''''''''''� ����
� � ?'1'�'1'��%�& !�%� ��
(�''''''''''''''''''''''''''''''''''''''''''''''''''''''�'''''''''''''� ����
� ?'1'?'�
�%&��� �%����$:�!%!%� �
� � ?'1'?'�'��%�& !�%�	���$�!�3,��!��%�'''''''''''''''''''''''''''''''''''''''''''''''''''''� ��?�
� � ?'1'?'?'��%�& !�%���$ &��!3,��!��%''''''''''''''''''''''''''''''''''''''''''''''''''''� ��0�
� � ?'1'?'1'��%�& !�%� ��
(�''''''''''''''''''''''''''''''''''''''''''''''''''''''�'''''''''''''� ��/�
� ?'1'1'���$��&%!�$�%�'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� �?��
� �
	��	���������
����
����'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� �?1�
� �
�����		����������
�
"��''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� �?A�
�
������
�
1�
�''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� �?0�
� �

�#���	��������������������������������#������
��1�	����
�
����
���������
	���'�

�

� �

!+!+!��23, ,4$,5�6���,6$7 ,-,-�'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� �1��
� �'�'�'�'��%���!�%�3�$�$&������%�'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� �1?�
� �'�'�'?'��%���!�%����!$&������%�''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� �11�
� �

!+!&!��,�8$�/�-�6���,-.$,439,7�''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� �
� �'�'?'�'�-����!�$�%�(�����%� ����3��$�$��� �11�
� �'�'?'?'�-����!�$�%�(�����%� ���%���!�� �11�
� �

!+!(!��:/�$5��$5/�6,5�6���,8��.�-!!!!!!!'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� �D��
� �

�#���	�����	��	����������	�����������
�	�
��

�#��	
���	��
��
������

�

� �

!&!+!�
�.�9�6��.�-!!!!!!!!!!!!!!!!!�'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� �DC�

!&!&!��$5;,�6�6�-��39 ��$�-�<� ��95�6,9,7��6��$�-5���9,��'''''''''''''''''''''''''''''''''� �DE�



� D


!&!(!��$,�9,;� �-�;�$=/�.$5-�6������'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� �A��
� �'?'1'�'���%���"�3!�$����&63!����������$%��� ��	������!#$�'''''''''''''''''''''''� �A��
� �'?'1'?'�������3!�$����!������<�=�''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� �A?�
� �'?'1'1'�������3!�$����$ !�������%�6$.�%�6$�<5=�'''''''''''''''''''''''''''''''''''''''''''� �A1�
� �'?'1'D'��&� �&�������,���!���''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''� �AD�

!&!0!���.�$/,��9,7��6� ��$���;�$�� �-���>� �-�6������!''''''''''''''''''''''''''''''''''''� �AA�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�



� A

�

�

�

�������		����

�

�


�%� %!%��3�%� �$� �*&!�!��!�� *&63!��� 4�$� %! �� �3��!�3�$��� �%�& !� �%8� ��� *&��

� *&!���$� ���$� !3�����$�!�� �$� $&3���%�%� �����%�%'� �$� �!��� ����!�&����  �� �*&!�!��!��

*&63!���  �� !$���,%� �$�  !+��%�%� :3�!��%�  �� ��� �!�$�!�� �� ��� ���$����6�� �%� ��� �����%��  ��

4! �#�!%!%8� �%��� %�� ��2!���� �� ��%� �����!�$�%� *&63!��%� �$� ��%� �&���%� &$�� %&%��$�!�� �%�

F �%��3�&�%��G����������&�'�
��4! �#�!%!%� ���%���!�%�!$���:$!��%�%����2!��������%������!�$�%�

*&���!�$�$��&�����$�%��&�!�$�%� ��%���%8��$���%��&���%�%�$�2��3� �%�$&�+�%��%���!�%�!�$!��%�

������!�!�� �%���3��#B! �%���4! �#B! �%'�
��4! �#�!%!%� ��%���%��&� �� !$+��&����� ��$������

���!#$� ��3�� ��� �$!#$� �� �!�$� �� �3��%8� �&$*&�� ��$����3�$��� ��%� �%�& !�%� %�� �$2���$� �� ���

4! �#�!%!%�  �� ���!�$�%� ����� 2��3��� �%���!�%� %��&���%� ��$� 4! �#B! �� &� �B!.��3���7�%8� �%6�

��3�����2��3��!#$� ������!�!�� �%� ��4! �#B! ��'�

�

� 	�:��!��3�$����� �%���%����!�$�%�%�$�������%� ��2��3���4! ��B�.��3���7�%8�����&���

$��  ���� %�����$ ��$�%� %!� ��$%! ���3�%� *&�� ��� �!��$ �� �9.� �%��� %!�3���� ���%�$��� �$� ���

��&�8��$���$��$����!�$�%�*&���&� �$�+��!����$����!$���+���� ����.�≤H�9.I≤��.�D��%�����3��

��%&��� ��  �� ���  !%��!��!#$�  ��� ��&�8� ��� +�����  �� ��� ��$��$����!#$�  �� ��%� !�$�%� 4! �#B! ��

 ���$ ��:�������$��� ����9� ���%!%��3�'�

�



� 0

� 
�� ��&��!#$� *&��  �%��!��� ��� �����!#$�  �� 2��3��!#$�  �� ��� &���%� %��&���%� �$� ���

�����%�� ��4! �#�!%!%8��%6���3������B���%!#$� �������$%��$��� ���*&!�!��!����%����!+��<����&���

��$����3�$���%����!*&������$������������!����β=�%��3&�%���$��$������&��!#$��'�8� ��! �������

 !+��%! � �  �� ��3���7�%� *&�� %�� �&� �$� 2��3��8� ��� ��3�����3!�$���  ��� 3����� �$� &$��

%��&�!#$� �&� �� %���  !26�!��  �� !$���������� �� �%�,� %��:� 2&$�!#$� ��$���  ��� �9� ��3��  �� ���

��$��$����!#$8� �%6� ��3��  �� ��� ! �$�! � � �� �%���!�! � �  �� ��%� ��� &���%� 2��3� �%� �$� ���

�����%�� ��4! �#�!%!%?'�

�

B"

�=�B"<

�B
�8B

=�B"<

�B?

"

I(H

I9HI=�9<(H

9�=�9<(�9�(B

+

+−

+−+

=β

+↔+
� � <��'��'�=�

�

� 
�� ����3!$��!#$� ����%��%���!�%�*&��%��2��3�$� &��$������4! �#�!%!%8��%6���3��%&%�

��$%��$��%� ���*&!�!��!����$����3�$����%������3��J� �� �����&$�%� !2!�&��� �%���3��%�$K�

�

<�=� 
�%� 4! ��B���3���7�%� 2��3� �%� �&� �$� %��� �%���!�%� ��$��� 3�$�$&������%� ��3��

���!$&������%8��%� ��!���%���!�%�*&����$�!�$�$�3:%� ��&$�!�$�3��:�!��'�
�� !+��%! � � ��

�%���!�%� ��%!���%� �� ��� ����!�!#$�  �� �%��%� �$� 3����� �� 3�$��� �������!#$�  �� 3�$����

%!3&���$��� !2!�&����%&���������!"��!#$��� ����3!$��!#$� ��%&��%���!�! � '�

�

<?=� ���!$���+���� ���9��$�����&���%���&� ���%�& !������2��3��!#$� ����%�4! ��B���3���7�%�

�&� �8��$����%!�$�%8�%����!3!�� �������������!�!���!#$� ���4! �#B! �� ���!�$�3��:�!��'�

�



� C

�!$� �3�����8� ��%�� �� ��%�  !2!�&��� �%� �$��%� %�J��� �%� %�� 4�$�  �%������� ��  �% ��

��!$�!�!�%� ���%!����))�$&3���%�%��%�& !�%����������! �$�!2!���!#$�����������!"��!#$� ��

 !+��%�%� �%���!�%� 2��3� �%� �$� ��� 4! �#�!%!%�  �� ���3����6��  �� ��%� !�$�%�3��:�!��%'� ���

�� �����������!"�����&$�%!%��3��*&63!���!3��!�����$������ ����3!$��!#$� ����%���%!���%�

�%���!�%� ��3�� %&� �%���!�! � 8� �%�  ��!�8� ��$����� ��� �%��*&!�3���6��  �� ,%��%� �� %&%�

��$%��$��%� ��2��3��!#$'�
���$���!���4����*&���%���$��%���&$������7��%�$�!���� �����+���

������'��!��!�$��%��!����8�*&���$�������&��! � ��%���%!���� ����3!$��� ��%���$%��$��%� ��

2��3��!#$�  �� ��%� �%���!�%� �$� %��&�!#$� ��$� ��� ��& ��  ��  !+��%�%�3,�� �%�  �� �$:�!%!%�

��3��%�$��������$�!�3���6�8��%������2���3���6�8���&��3�!3���6�8��$��������%8���*&�����

�����%�3!�$��� �����!$2��3��!#$�%���&� ������!"�����$�������3,�� �%���:2!��%���3������

3,�� �%���3�&���!�$���%8�%!�3����%����*&!���� ��&$�� ��&� ����!���!�����������$������

3� ����3:%� � ��&� �� ����� ��� %!%��3�� �$� �%�& !�8� ��� *&�� ����� &$�3!%3�� %!%��3�� %��

�&� �$�����$��� !+��%�%�3� ���%�*&63!��%'��%���$�%����+����$�!$&�3�$������������&$���

L�&:��%��:����3� ����*&63!���3:%�� ��&� �M�

�

� 
������$�!#$� ��&$�3� ����*&63!���$�� �����!3!���%��%���3�$��������� ����3!$��!#$�

 �� !2���$��%��%��*&!�3���6�%8�%!$�������������������3� !�� ������%��,�$!��%��$��6�!��%�%!����

3� ���� ����&�%��� ���� &$� ������3�� ��3�&���!�$��� �N�� 3��# �%� ��:2!��%� � �B��!���

� ��&� �3�$��������3�����3!�$����B���!3�$���'�

�

� �$��%��� �����7��%�� ����!"������%�& !�� ���&�����%!%��3�%��!$��!�%��� �� ���%�%!%��3�%�

���$��!�%���$��%���!�%� �����&��������<��&3!$!�8����!�8�!$ !��������='�
���%���!��!#$� ����%�

%!%��3�%�%������!"������3� !�� ���,�$!��%�����$�!�3,��!��%8������%�$ �����!$2��3��!#$���$�

��& ��  ��� ������3����	�
����8�3!�$���%� *&�� ��� +��! ��!#$�  �� ��%�3� ���%� *&63!��%�



� E

����&�%��%�%������!"����$���� �%�������� ��3,�� �%��N���,�$!��%���3���%�& !�%� ���$O3����

���3� !�� �� �!��$ �%8� �%�& !�%�  �� ��$ &��!3���6�� ��  �� ��%�$�$�!��3��$,�!��� $&�����'�
��

��������!"��!#$� ���%��%�%!%��3�%��%�:��$2��� ��4��!�� � �����%!����&�!�!"��!#$� ��%��&�!�$�%�

��3�� 3� !�%�  �� !3����$��!#$� ����� ���!���%� *&�� %�� �3����$� �$� ��� ���:�!%!%�  ��

4! ������&��%1.0'�

�

� �%6� ��� ����#%!��� 2&$ �3�$���� �%� ���  �� �� ���  ����3!$��� ���3�7���3� ���� *&63!���

��������%!%��3��*&�����3!�����$�������%���$ !�!�$�%� ��2��3��!#$� ����%��%���!�%�*&63!��%�

*&���&� �$�%����3���� �%���3������&�%���%���������!3����$��!#$� �����!���%��3���� �%��$�

3����!���%� &�!�!"� �%� �$� ���:�!%!%'� ��� �%��� 2��3�� %�� ���%!�&�� ��$��� &$�� � ��&� ��

��������!"��!#$�  ��� %!%��3�8�  �� ���� 3�$���� *&�� ��%� �����%�%�  �� !3����$��!#$� ��� $�� %��

����!��$� �3�6�!��3�$��8� %!$�� *&�� %�� �&� �$� �%��������� ���+!�3�$��� ��%� ��$ !�!�$�%�

��$+�$!�$��%������*&��%����$���������%���!�����!#$!���� ��&� ��*&��%��+!�:���3������&�%���

 ������!�B����!#$�*&��%��!3����$��:��$���%����!���%'�

�

� � �3:%8����������������$���!��8�%�� �%��������&$������!�3��*&�����3!��������!�$�����%�

%�J���%� ����%�$�$�!��3��$,�!���$&������<
(�=���$���%�2����!�$�%�3�����%8����*&����%����

*&�������%�$�$�!��3��$,�!���$&������%��4�� �%������� ��$������3�$����$���%�O��!3�%��J�%����

�B��!���!#$� �� ��%� %�J���%� ����$! �%� %���3�$��� %�� �%��!�� �� ������3���6��  �� ��%� $O����%���

3&�� ����%� �%�& !�%� %�� 4�$� �$2��� �� �� �������  ��  ��� &$�� �B��!���!#$� �&�$�!���!+��  �� ��%�

%�J���%C8� E'� 	��� ����� �%��� �����7�� �����$�� &$��3��� ����6�� $&�+�� *&�� ���3!��� �%��!��� ��%�

:���%�  �� ��%� %�J���%�  �� 
(�� ��$� ��%� 2����!�$�%� 3�����%�  �� �%���!�'� ��$� ����� %�� 4����

��%!������� �%�������� ��&$��%�& !���&�$�!���!+��*&��$��%�������3!����%��!����������3���6��

��%� %�J���%� �  �� 
(�� ��$� �%���!�%� *&63!��%8� ��  �� �%��� 3�$���� 4����� ��%!���� ���



� /

 ����3!$��!#$� ��$���  �� 3� ���%� *&63!��%8� �� *&�� ��3�!,$� ���3!��� ��� ����������!#$� ��

+��! ��!#$�  �� ��$%��$��%�  �� 2��3��!#$� �%��!� �%� �� ��%� ��%!���%� �%���!�%� 2��3� �%� �$� &$�

%!%��3�'� ��� �%��� 3�$���� %�� %!�$��$� ��%� ��%�%� ����� ��� ��%!����  �%��������  �� 3,�� �%�

�&�$�!���!+�%� ���$:�!%!%��3����$ ���%����,�$!��'�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



� ��

�

�

�

�

��"�������������
�
"��

�

�

�

��%��������� &$� �����!�3�� *&�� �����!�$�� ��%� %�J���%�  �� 
�%�$�$�!�� (��$,�!���

�&��������$���%�2����!�$�%�3�����%8���$����2!$��! � � ����$�����&$��4����3!�$����&�$�!���!+���

*&����& ���$���� ����3!$��!#$� ���%���!�%�*&63!��%��$�%!%��3�%��$�%��&�!#$'�

�

�

�����3!$�����%��%���!�%�*&63!��%���%&%���$%��$��%� ��2��3��!#$� ����%�%!%��3�%��!$��!�%� ��

��<���=.9?�8� ��<���=.9?�8� �<���=.9?�� �� �$<���=.9?�� 3� !�$��� ��� �����%�3!�$���  ��

!$2��3��!#$� ����$�!�3,��!��� ��$� ��� ������3�� ��	�
����� �� +��! ��� ��%� 3� ���%�

*&63!��%���$��%�& !�%� ��$O3�������3� !�� ���!��$ �%8� ����$ &��!3���6���� ����%�$�$�!��

3��$,�!���3&��!$&�����'�

�

�

�����3!$��� ��%� ��%!���%� �%���!�%� *&63!��%� *&�� %�� �& !�%�$� 2��3��8� �� %&%� ��$%��$��%�

��%����!+�%8��$���%�%!%��3�%����$��!�%� ����<���=.��<���=.9?�8���<���=.�<���=.9?�8�����<���=.

�$<���=.9?��3� !�$��� ��� �����%�3!�$���  �� !$2��3��!#$� ����$�!�3,��!��� ��$� ��� ������3��

��3�&���!�$�����	�
�����������!"������+��! ��!#$� ����%�3� ���%�*&63!��%'�

�



� ��

	
���������
�
�

����������	
�
	�����
	�����������������
�����
����)�

 �����*�&���
������*�&���������*�&�����������*�&��

�
�
�
�

�������		����
�

� ��������	
��
����	������������
��	�
��	���������
����
	���	���
���	�
�
	��	��

��
����	�����	����������
������
���	����	�������	�	�������	�	���������

���������	�

������ �	�
��� �	������������ �
�	����� ����	�� �	� 
��	�
��	�� ���
���� ����

������	����
���� 

���� �� 
	���������� 
	�
���	� ��� 
��	������
���� �	����� �	� ����

������ �	� 
��	�
��	�� 
������
����� �	� 	��	�
	�� 
��
���� ���
����	��	��� ���	�� ��
��

�
�
������� ��������� �	� �
����
�� �� �
�	����� ��
���� 	� �
����
���� 
	���
��� !"#$� ���

����
���
��� �	� 	��	�
	�� �	� �������� ���
��	�� 
	���
���� ��
���	��	��� ���	�� ��
��

%�&'''(��)&'''(��*	&'''(�	���	���������	�	���
	��	���	������������
��
����	��
�
�����
����

�	� )�+���	��� ����� ��	�,�� �� �	��
���� �	�	��	��� �	� ��� �������	,�� �	�� ���
��$�

-��	�
��	���	�	��	��
����
	�	�����
���
��	��	�������
�
����
�����
������	�����������

����� ����
���
��� ���
��
���� 	�� ��������� �	� �	����	�� �� 	�� 	�� 
	����

	���� �	�

�	����	�� �	����".$� /	� ����� ��	� �	� ��� �	��	������ 	�� 
��	�0�� ���� �	���������� ���

����	�
�� �	� ��	���� �
���� �	� 
��	�
��	�� ��	� �	�

���� �	��
,��� 	��	� �
��� �	�


��	������
�����������
��������������
���	��������������	����
�
�����0�

��$�

�



� �?

� 1�� �����


	���� �	� ���� ���
��	�� 	��	�
	�� ��	� �	� ���
��� 	�� �����
���� ����

��
�� �	� ���� ��������	�� �	� ���
��
���� 	�� 	�	��
��� ����� ���	�� �	�	�

����

����
�
��	���������	�����	�����
����	����
����������
���	��2���	��	�

�����	�	��

�� ���� ��	������	�� ���

���� �	� ���� 	��	�
	�� �	� 
��	�0�� ����� 	�� ����	��� �	�


��	������
��� 	�� ���� ���
����$� 3��� 	����� 	���� ����	� �	�� �������� 	���� 	�������� ���

	����
�� �	� �
��	
��� �
���
��� ��	� ��
��	��	�� �� ���
��	�� �	�� ������ '''%� &%�&'''(��

4�&'''(��)&''''(�� '�&'''((������
,����� ����
����
�
���	�	�����	������������������	�
,���

����	��	�
	����	��	����
�����	�	������	�����������	�������������	�����������	���	�

	����
��	����	�	�

���� �������
��	����	������	�������	���
���	�����	�
��	�
��	��

���
���������
�	���������
���$�

�

�

�����������	�
�����
����

�

�������	������������

�


��4! �#�!%!%� ������<���=��$�%��&�!#$���&�%�8�%!��!�$�4��%! ���%�& !� ���������&$�%�

!$+�%�!�� ���%8� �$� %&� 3����6�� �%��%� �%�& !�%� %�� 4�$� �$2��� �� �� ���  �$�3!$� �� �����!#$�

��!$�!���� ��4! �#�!%!%��$����*&��%��2��3�����!�$��������������!�� ���:�! ���#�!��'����+����� ��

��� ��$%��$���  �� 2��3��!#$� ����� ��� !�$� ������� �O$� $�� 4�� %! �� �����3�$���  �2!$! �� ��� *&��

�B!%��� &$�� ���$� +��!��!#$� �$� ��%� +�����%� 4�%��� �4����  ����3!$� �%�8� �0.?1'� �&$*&�� %�� 4��

���$��� �� ��� ��%!���� 2��3��!#$�  �� �%���!�%� ���!$&������%� <���!������%=8� %�$� ����%� ��%�

�&����%�*&��4�$��� ! �� ����3!$������%��%��%���!�%�����%&%���$%��$��%� ��2��3��!#$'����%���



� �1

(�%3���� �����$�$� *&�� �%� 2���!���� ��� 2��3��!#$�  �� ���!������%�  &��$��� ��� 4! �#�!%!%8� %!$�

�3������4���$�3�$�!#$� ����� !2!�&��� �*&�������%�$�������� ��� ����3!$����%����*&���%��%�

�%���!�%�  ���$ ��:$� 3���� �3�$���  �� ��� ��$��$����!#$�  �� ����� <���='� �%�������$� �%��%�

�&����%�*&����%����!������%�3:%�!3�����$��%�*&��%��2��3�$�%�$�!�$�%�3�$�$����!+�%'�


�%��%�& !�%��������� ����3!$��!#$� ����%��%���!�%� ������8���� &���� �����4! �#�!%!%8�

%��4�$�����!"� ���$�%&�3����6������3� !�� ������$�!�3���6�'��$��J�%����!�$��%��-��$���$���

�������� ���%�A�3� !�$�����%�$�$�!��3��$,�!���$&�����8��&%!���$��$��+! �$�!�����2��3��!#$�

 ��&$� 63������$��%�� ��%#�! �����$�%��&�!#$���&�%���&$*&��$�� ����3!$���$������$%��$���

 ��2��3��!#$� ���%����%���!�'�
���$���!���$��4�����3!�! ��*&��4�%������3�3�$���%���&�$���

��$�&$�3� ����*&63!���� ��&� ������� ��%� �%���!�%� 2��3� �%��$���������%�� ��4! �#�!%!%8�

�B!%�!�$ �� !+����$�!��%�������%���%!���%����!������%�*&��%���& !�%�$�2��3����%6���3�� ��

%&%���$%��$��%'�

�

��4 ��+!+!�	5�-.��.�-�6��?5$/�9,7��;$5;3�-.�-�;�$�� ��@,6$7 ,-,-�6���������
�


��������� ���������
���������

�

�

�� �ββββ!�

�
�"#�$��

�P�$���Q!$��0� �<�9=D
.� /'?1C� 	���$�!�3���6��

�$��!��'�C� �<�9=D
.�

�1�1<�9=D
.�

�D�A<�9=D
.?�

�1�1<�9=A
.?�

E'CD�<�'�E=�

0'AE�<�'�0=�

�D'D��<�'�?=�

�0'�D�<�'�0=�

�

	���$�!�3���6��

���%��'-'���(�%3���
'�'��� �<�9=D
.�

�?�<�9=A
.�

�1�1<�9=D
.�

�D�A<�9=D
?.�

E'/D�

E'?C�

0'/��

�A'�A�

�

	���$�!�3���6��

��� �>'���
�P���'�E� �<�9=D
.� /'??� 	���$�!�3���6��



� �D

Q4���Q'�/� �<�9=D
.� C'1�E� 	���$�!�3���6��

-��R!$%��'���Q4���Q'?�� �<�9=D
.� /'1�� 	���$�!�3���6��

�

�

�

��4 ��+!+!�	5�-.��.�-�6��?5$/�9,7��;$5;3�-.�-�;�$�� ��@,6$7 ,-,-�6����������
�	5�.,�3�9,7���
�


��������� ���������
���������

�

�

�� �ββββ!�

�
�"#�$��

�

���%%�� �5'�?��

�<�9=D
.�

�1�1<�9=D
.�

�D�A<�9=D
.?�

�1�1<�9=A
.?�

E'A0�

�0'�0�

�D'?1�

0'A0�

�

	���$�!�3���6��

�

��!%��$!��8��&��4!�>'8���$� &�(���


&�!$&��'??�
�<�9=D

.�

�

/'�C� 	���$�!�3���6��


����%�9'�S�>�$� ���������'�?1� �<�9=D
.�

�

E'EA� 	���$�!�3���6��

�

�$� ��� !$2��3��!#$� ������� �� �$� ��� ������ �'�� �%� ��%!���� �����!��� *&��  !2���$��%�

�&����%� *&�� 4�$� �%�& !� �� ��� %!%��3�� �<���=.9?�8� �������$�  !2���$�!�%� �$� ��%� 3� ���%�

*&63!��%�����$! �%'��!�4�%� !2���$�!�%�%��4���$�3:%���$%! ������%��&�$ ��&$���$��!"����%�

 !+��%�%� ����&�%��%� %����� ��%� ��%!���%� �%���!�%� ���!$&������%8� $�� %#��� �$� �&�$��� �� ��%�

�%���!�%8� %!$�� �� ��%� +�����%�  �� ��%� ��$%��$��%� ��%����!+�%'� 
�� �$���!���  !2!�&���� ���

��������!"��!#$�*&63!��� ��%!%��3�%��$� �$ ������<���=�%��4! ���!"�8�����������$��%��������7��

%���&%��� ����3!$����� ��%���%!���%��%���!�%�*&��%��2��3�$� &��$������4! �#�!%!%� ���<����=8�

����!"�$ ���%���$��%#��������%�& !�%�����$�!�3,��!��%8�%!$����3�!,$���$������� ������,�$!���

 ����%�$�$�!��3��$,�!���$&�����'�
���$���!���������������!�$��� � !$2��3��!#$�������� �����



� �A

�%��&��&���  �� ��%� �%���!�%� *&�� %�� 2��3�$� �� ��$� �����  ��� &$�� 3����� +��! �"� ��� 3� ����

���$��� �'�

�

�

�

��������%&�'�����	(�

�

+!+!&!+!��-.36,5-��5.��9,5/A.$,95-�

�

� ������������$�%��&�!�$�%���&�%�%�� ���<���=�������!�� ��91��1�<(���R�//'ET=��$�&$�

!$���+���� ���'�A�)���.?�(���01'A��)���.?�(8��$������������!#$� ���� �%���%�%��&�!�$�%�%��

�3���#� ��&��  �%!�$!"� �� ��  �%�����$��� ��  �� �!��� �� < �%!�$!"� ��� (!��!����='� 
��

��$��$����!#$��$��6�!��� ����<���=�%�� ����3!$#�����3� !�� �����+������!#$'�

�

��� ����!"���$� +������!�$�%�  �� ��� 3�$�%�  �%� 3&�%���%�  �� �� �� %��&�!#$� ��$�

%��&�!�$�%� �%��$ ��!"� �%� ��4! �#B! �� �� %� !�8� ��%� �&���%� 2&���$�������� �%� �� ����!��  ��

&$�� %��&�!#$� ��&�%�� ��� A�T� �$� 3�%��  �� 4! �#B! ��  �� %� !�� ��3�$ �� ��6�&���%�  ���

%����$� �$��� ���%��8��3����$ ����&�� �%!�$!"� ����4��+! ��8���%�3��!�$ ����&$��&��&7���

 ��$!��#��$������� �����!3!$��!#$� �� ��%������$���%'�
�%�+��!��!�$�%� ���9��� ������$�!���

 &��$������+������!#$�%���3! !���$��3����$ ��&$��9.3�����
� !�3��������&%%���
	9D1���

<∆�9� U� �'���=8� &�!�!"�$ �� &$� ������� ��  �� +! �!�� ��3�!$� �� ��$� ��2���$�!�� !$���$��  ��

��N����<%=� �� �2���&�$ �� ��� ���!����!#$�  ��� �*&!��� ��$� %!%��3�%� �&22���  �� ��2���$�!��  ��

�9UD'��A� �� C'���'� �$� �� �%� ��%� ��%�%� %�� ����!"���$� ���3�$�%� 0��3� !�!�$�%'� �� �%� ��%�

+������!�$�%�%���2���&���$��3�$��$!�$ �������3�����&�����$%��$�����?A'��°��<∆��U��'��°�=�



� �0

����3� !�� ��&$���J�� <>V
8�3� �����?���.��=����3����$ ����� �%� ��+! �!�� �� �����

��3!%�'� �&��$��� ��� �B���!3�$���!#$� %�� 3�$�&+�� &$� 2�&7�� ��$%��$���  �� $!��#��$��  �� �����

�&��"����$����2!$��! � � ���+!������������$����!#$� ���%!%��3��

�

�

�������������#�$����$��'���)�)������ )"#����������*��'����

�

� ��� ���������$� %��&�!�$�%� ��&�%�%�  �� �<���=�  �� ��$��$����!#$� �'�CA(8� �'A��(� ��

�'C��(� �� ����!��  �� 91��1� <(���R� //'ET='� ��� ����!"#� ��� 4! �#�!%!%�  �� �����  �% �� &$��

�����!#$��9N�� ���'���4�%�������B!3� �3�$����'�8���$�%��&�!�$�%��%�:$ ��� ��4! �#B! ��

 ��%� !�8��$��� �%���%���%�%�%�����!%��#�����9� �����%��&�!#$�����$! ����?A'���'�

�

� 
�%��%������%� ��
�%�$�$�!��(��$,�!����&������<
(�=� �������%�����&+!���$���$�

&$��%������3�������&R����().A�����&$����3�����&��� ��?AW�8��3����$ ���-1.�<�?9A=?�

��3�� ��2���$�!��  ��  �%���"�3!�$��� *&63!��8� ��� 2���&�$�!��  �� �B�!���!#$� &%� �� ����� ���

$O����� �������2&��!�&������0�'D0�(9"'�

�

����+��� '��,(�	����-�	�.(�����

�

+!+!(!+!��-.36,5-�6���5.��9,5/A.$,95-�

�


�%��&�+�%� ��+������!#$��������%�%��&�!�$�%���&�%�%� ��:�! ���#�!���%��3&�%���$��$����

-!�&����'�'��$�����%�%���&� ����%��+���&$���3�����3!�$���%!�3�! ��8���������6%�!��� ��

��%�+������!�$�%�:�! �.��%�8��$���%��&���%�%����%��+��&$�!$���3�$��� ����9������������ ��



� �C

���+������!#$'��$�����B!3� �3�$����9N�U�'��4���&$��+��!��!#$�%!�$!2!���!+�� ���%���

���:3����'�
�%�  ���%�  �� �9�����$! �%� ����� ��%� +������!�$�%� ����$�!�3,��!��%� 2&���$�

��!3�$�� �%����������3����	�
����?D8�?A8���$����2!$��! � � ����2!$�����%���$%��$��%�

 ��2��3��!#$��������%��%���!�%�*&��%��2��3�$��$���������%�� ��4! �#�!%!%� ���<���='�	����

����� %�� ��$%! ��#� ��$��� �� �%���!�%� 3�$�3,�!��%� ��3�� ���!$&������%�  �� ��&�� �� ���

�*&!�!��!��������� ���������%���(�%3���8������%�$�� �����������&��!#$��'�'�

�

( )

!

1

77

3?7!13!

!7

?

7

3?7!13!1

=�9<�

9=�9<��
X

�97379=�9<��=�9<!�


=β

−++↔

+−

−+

+−

−+

� � � <��'��'�=�

#$5

6$5

7$5

 $5

""$5

"#$5

5$5 5$6 "$5 "$6 8$5 8$6

�9

�9N�

�
�

���

�
�



� �E

1,83$��+!+'��&�+�%��6�!��%� ��+������!#$� ��91��1���$����9��%�:$ ��!"� ��<�=��'����(8�<�=��'����
(8�<�=��'?/��(8�< =��'A���(8�<�=��'0D��('��
�

�

���3�7�����2!$�3!�$�������$! ��������%���%!%��3��%��3&�%�����$�����������'?8��$����

�&���%���&� �������!������2��3��!#$� ��&$���%���!��3�$�3,�!��8��%6���3�����2��3��!#$� ��

���%� �%���!�%� ���!$&������%'8� ��%� �&���%� ��3�� �%�������$� ���%� �� (�%3���� %�$� !�$�%�

3�$�$����!+�%�'�
��-!�&����'?�3&�%������%���%!���%��%��&��&��%� ����%��%���!�%�2��3� �%��$�

���4! �#�!%!%� ������<���=�������!�� ��:�! ���#�!��'�

�

��4 ��+!&�>�����%�  �� ��%� ��$%��$��%�  �� 2��3��!#$������ ���3�7��� ��2!$�3!�$�������$! ����
����!��  ��  ���%� ����$�!�3,��!��%� �����%� �%� ��$� ��	�
����� ����� ��� %!%��3�� �<���=.
9?�

�'�
�

�%���!�%�
.���Xβ�

	��:3����%�

�%�� 6%�!��%�

�<�9=D� /'�0/�±�'���� σ��U�1'�C0�

�?�<�9=A
.� E'AA1�±�'�CC� � �U�A1�'/�

�1�1<�9=D
.� C'0�C�±�'�E/� χ?��U�/E'0?�

�A�0<�9=D
.� C'1DA�� �

�� 
�2!$�3!�$��� ����!"� �� ��$� 0���  ���%�  �� ��%� +������!�$�%� ����$�!�3,��!��%'� �� +�����3�$��$! �� ��$%��$���
 &��$��������2!$�3!�$��������%+!��!#$��%�:$ �������������������2!$�3!�$��� ��&3�� �����%���%! &���%�����&� �� �%�
 �������$�!��� ����� �'����4!.�&� �� ������������2!$�3!�$���
�

	��� ����� �����8� ��$� ��%�� �$� ��� !$2��3��!#$� �B���!3�$���� ����$! ��

����$�!�3,��!��3�$��� %�� ��$%��&����$� ��%� �&�+�%� �B���!3�$����%�  �� ��� 2&$�!#$�  ��

2��3��!#$�  �� ������ ���� :��3��  �� ����� Y*8� <��3�� ��� %&�!���� ���%� ��(�%3���� ����� �%���

%!%��3�=8������ ����&���%���3���#� �����&��!#$��'?'��$� ���-!�&����'1�%��3&�%���$� ��%��&�+�%�



� �/

����$! �%8���%��+:$ �%��*&���B!%���&$� �%���"�3!�$��� �� ��� 2&$�!#$��$� �����!#$�����9� ���

�&����%���������6%�!��������%!%��3�%��$���%�*&��%��2��3�$��%���!�%����!$&������%'�� �3:%��%�

!3�����$��� �%���������4��4�� ��*&���� �%���%��&�+�%�����$��$�&$�+�����3:B!3�� ��&$�����

�&���%&�!���8���3�����%��4��6��3�$�!�$� �8����2��3��!#$� ����3���7�%�3�$������ �%'�

[ ] 









 


−


−


+



−=

−−−+

�����

�9

P

�9

* =���<�

����Q����
Y � � � �<��'��'?=�

�

<�= <�= <�=

�

��

��

�� �

��

��

�

��

��

���
..

�

��

����
��

< =

�

� �

� �
�

��

�� ��

��
.

<�=

�� ��

�
�

�
�

�

�

��

� �

��
�

��

.

<�= <�= <�=

�

��

��

�� �

��

��

�

��

��

���
..

�

��

����
��

< =

�

� �

� �
�

��

�� ��

��
.

<�=

�� ��

�
�

�
�

�

�

��

� �

��
�

��

.

�

�
1,83$��+!&!�	�%!���%��%��&��&��%� ����%��%���!�%�*&��%��2��3�$��$����4! �#�!%!%� ���<���=��$�%��&�!#$�
��&�%��  �� ��&�� �� ���3� ���� ����$! ������ ��� �����%�3!�$���  �� !$2��3��!#$�����$�!�3,��!��� ��$�
��	�
�����
�

�


�%�2&$�!�$�%� ��2��3��!#$� ������������:��3�� �������%���7&%����$���:2!��3�$���

3� !�$��� ��� ��3�����!#$�  �� �*&����%�  ����3!$� �%� ��$� ��%�� �$� ��� !$2��3��!#$�



� ?�

�B���!3�$��������%�����&�� �%�������!�� �������&��!#$��'1'����3�7����7&%�������$! ���������%�

��%&��� �%��B���!3�$����%�%��3&�%�����$����-!�&����'D8��$����*&��%����%��+��*&�����3� ����

*&63!��� ����&�%��� �$� ��� ������ �'?� �B��!��� %��!%2�����!�3�$��� ��� ��3�����3!�$���

�B���!3�$���8� ��� *&�� ��� �7&%��� ����$! �� �%� ��%��$��� ��$��� �$��� ��$� ��%� ��2!$�3!�$��%�

����!"� �%���$���	�
����'�

�

















 


 −−= ∑ ∑

! 7
!7* -

!

7!1
Y � � � � <��'��'1=�

�

�9

Y*

5$5

5$8

5$.

5$9

5$:

"$5

.$5 6$5 9$5 7$5 :$5  $5 "5$5 ""$5 �9

Y*

5$5

5$8

5$.

5$9

5$:

"$5

.$5 6$5 9$5 7$5 :$5  $5 "5$5 ""$5

�

�
1,83$�� +!('� ��:2!���  �� Y� ��3�� 2&$�!#$�  ��� �9� ����� ��� %!%��3��  �� �<���=.9?�8� �����  !2���$��%�
��$��$����!�$�%� ��H�<���=I�'�<�=��'��(Z�<)=��'��(8�<[=��'?/(8�<\=��'A�(8�<•=���'0D��('��
�



� ?�

�

�

�

5$5

5 $8

5 $.

5 $9

5 $:

" $5

9$5 7 $5 :$5  $5 "5 $5 ""$5

Y*

�9
5$5

5$8

5$.

5$9

5$:

"$5

.$5 6$5 9$5 7$5 :$5  $5 "5$5 ""$5

Y*

�9

5 $5

5 $8

5 $.

5 $9

5 $:

" $5

. $5 6 $5 9 $5 7 $5 : $5  $5 " 5 $5 " " $5

Y *

�9

<�= <�=

<�= �

1,83$�� +!0!� ��:2!���  �� Y*� ��3�� 2&$�!#$�  ��� �9� ����� ��� %!%��3��  �� �<���=.9?�8� �����  !2���$��%�
��$��$����!�$�%� ��H�<���=I�'�
�%��6$��%���$�!$&�%������%�$��$���%�%!3&���!�$�%� ��Y*� ����3!$� �%���
����!��� ����3� ���������$! �����$����	�
�����������%���%!%��3�8��3!�$���%�*&�����%�3���� ���%�
<\=� �����%�$��$� ��%� Y*� �B���!3�$����%'� <�=� H�<���=I�U�'��(Z� <�=� H�<���=I�U�'?/(Z� <�=�
H�<���=I�U�'0DA(�
�

�

+!+!(!&!��-.36,5-�6������

�

�$� ��%� -!�&��%� �'A� �� �'0� %�� 3&�%���$� ��� 2�3!�!��  �� �%������%�  �� 
(��  �� ����

�����%��$ !�$��%� �� ��� 4! �#�!%!%�  �� %��&�!�$�%� ��&�%�%� �'A�(� �� �'C�(�  �� �<���=�



� ??

��%����!+�3�$��8� �� ����!��  �� 91��1� ��3�� &$�� 2&$�!#$�  ��� �98� %�� �&� �� �����!��� *&�� ���

��3�����3!�$���  �� ��%� %�J���%� �%� %!3!���� ����� �3��%� ��$��$����!�$�%�  ��91��1'� �$� ��%�

�%������%�  ��
(�� �� ���� %�� ��%��+�� *&�� �B!%��� &$�� %�J���  ���� �� �&���  �%���"�3!�$���

*&63!�����3�!�� ��?�'����3����'���38���$2��3������9� ���%!%��3��%��!$���3�$��'�	���������

�
�
�

??���������?�����������E�����������0�����������D�����������?����������������������E������������0�����������D������������?�������������������������3����

��'AC�
��'?A�
��'??�

/'/1�
/'EC�
/'C1�
/'AC�

/'A��
/'10�

/'?��
/'�?�
/'�?�
E'/E�
E'C/�
E'A0�
E'?E�
C'/A�
C'AE�
C'�A�
0'0D�
0'10�

A'EA�
1'EC�

�9�

�

�
1,83$��+!B��%������%� ��
(�� ��������������%!%��3���<���=.9?�'��H91��1IU�'A�(�

�



� ?1

�����8� %�� ��%��+�$� ��3�!,$� ����%�  �%� %�J���%� �$�4�%� ��  �� ��*&�J�� !$��$%! � � <�&���

 �%���"�3!�$��� *&63!���  ���$ �� �!����3�$���  ��� �9=8� �$� �'/���3� �� ]�?'A� ��3'� �%��%�

�������$� �$� ��� !$���+���� 0'10� ≤� �9� ≤� /'A�� �� %&� � !$��$%! � � � �&3�$��� ��$2��3�� ���

��$��$����!#$� ���<���=�%��!$���3�$����$����%!%��3�'��������3�����3!�$���� �%��!������������%��

� �2�
�

"5$55#�
�

� $##.�
�

� $8#:�
�

� $".6�
�

� $5#.�
�

�:$ 89�
�

�:$:57�
�

�:$9:7�
�

�:$668�
�

�:$.88�
�

�:$89.�
�

�:$"5 �
�

�7$ " �
�

�7$777�
�

�7$#98�
�

�9$ 59�
�

�9$#: �
�

�6$9#"�
�

�"$56 �
�

�5$675�

??���������?�����������E����������0����������D�����������?���������������������E����������0������������D�����������?�������������������������3����

�
�
1,83$��+!C'��%������%� ��
(�� ��������������%!%��3���<���=.9?�'��H91��1IU�'C�(�
�
�



� ?D

�%������%�  �� ���.
(�� %&�!���� *&�� �$� ��� %!%��3�� %�� 2��3�$� 3:%�  ��  �%� �%���!�%� �$� ���

�����%��  �� 4! �#�!%!%� ����� ��� %!%��3���<���=.9?�8� ��� *&�� ������ ���3� ���� &�!�!"� �� �$� ���

�����3!�$��� ����%� ���%�����$�!�3,��!��%'�

�

���  �%���"�3!�$���  �� ��� %�J���  �� ?�� ��3��� �� ��3��&� ��  ����%�8� ��3�� � 4�� %! ��

����&�%��� �$���!��3�$��� ���� 9���!$%?0�&"3:$� �� 9!�R%?C� �� &$� �*&!�!��!�� �:�! �� ��$�

!$�����3�!�� ������#$��$����&$�� �%���!��*&�����%�$������3���6�� ��!��$��� <�<�9=1=� �������

��$����3���6�������, �!���<�<�9=D
.=� ����&�� ������*&!�!��!���$�����%���!�%�3�$�$&������%�

3�%��� �� �$� ��� ��&��!#$� �'D'� �!� %���3�$��� %�� �&+!���� ��� �B!%��$�!��  �� �%���!�%�

3�$�$&������%��$����%!%��3���������!3!�$����$���� �%���"�3!�$���*&63!�����%��+� ��<δ�=��$�

�����!#$���$�����98�%��� ����6��O$!��3�$���������3� !�� ����%�%�J���%� ����<�9=
1
�<δ�<�9=1�U�

?���3=��� ����<�9=
D
.�<δ�<�9=D�U����3=���3�����3&�%���������&��!#$��'A'�	�����B��!��������

 �%���"�3!�$���*&63!�����%��+� ����������%�J���*&�� ���$ �� ����9�%���3�����&$�3� ����

%!3!��������B���%� �����������&��!#$��'0?C��$����*&��-������%�$�������%�2����!�$�%�3�����%� ��

��3��$�$���<+����$�B���='�

�

[ ]


==β+=+
+−

+−

9=�9<�

=�9<�

Q

�
X�9=�9<�9=�9<�

D

1

�
��?1D � � <��'��'D=�

�

−−
δ+δ=δ

DD
111 =�9<�=�9<���9=�9<�� -- �� � <��'��'A=�

�

−

−

−

−
+

+
+

=
D

D1

D

11

D1

1

=<
=<=<

=<

=<=<

=<

�	


�	
�	


�	



�	

�	
�	


�	


�
��

�

��

�
δδδ � � <��'��'0=�



� ?A

�

�!� %����3�!$�� �����&��!#$��'0���$� �����&��!#$� ��9�$ ��%�$.9�%%�����4�����$����

����$��� �� ��%��%���!�%�3�$�$&������%� �������8��&� ������$��%�� �����&��!#$��'C8� ����&���

3&�%����*&������9� ����6��%���&$��2&$�!#$��!$���� ��������!�3�� ����%�� ��!3��� ������!�$���

 ����%� !2���$�!�%��$���%� �%���"�3!�$��%�*&63!��%8���$!�$ ��&$����$ !�$���!�&�����������$�

&$�+����� ���Q�� !�&����� ����� �$� �������!��$'���$%! ���$ ������$���!���%���$��!"���$���%�

 ���%� �B���!3�$����%� �����%��$ !�$��%� ���  �%���"�3!�$���  �� ��� %�J���  �� 
(��  �� ���8�

����$!,$ �%�� *&�� �2���!+�3�$��� ��%� +�����%�  ����3!$� �%� �B���!3�$���3�$��� %!�&�$� ���

��$ �$�!�� �!$���� �%���� �8� ��3�� %��3&�%���� �$� ��� -!�&��� �'C8� ���� ��� *&�� ��$� ��%�� �$� ���

�� �$� �� ��� ��!��$� %��  ����3!$���$� ��%� +�����%�  �� �Q��  ��� ���� �<�9=1N�<�9=D
.� � <������

�'1='��







−
−+=

−

D

1

=<

=<
���

�	
�

��	



���	
δδ
δδ

� � � � <��'��'C=�

�

��4 ��+!(!�>�����%� ���Q�������91��1N�<�9=D
.� ����3!$� �%����������%!#$��!$����������!��

 ����%���3�!�%��$���� �%���"�3!�$���*&63!����$�2&$�!#$� ����9��$��%������%� ��
(�� ��
���'�
�

H�<���=I������N�3���
.�� >����� ���

�Q�
���

	�$ !�$���

�

���2!�!�$��� ��

 ����3!$��!#$�<�?=�

�

�'A���

�

/'�E�±��'��C�

�

�'���±��'��C�

�

�'///E�

�

�'C���

�

/'�E�±��'�?D�

�

�'�D�±��'��/�

�

�'//E/�

��$���+���%� ����$2!�$"����$�&$�$!+��� ����$2!�$"�� ���/AT'�



� ?0

�

��3�� %�� �&� �� �����!��8�  �%�&,%�  �� �$��!"��� ��� ������ �'1� ��� +�����  ��� �Q��

 ����3!$� �� ��$�&�� �� %��!%2�����!�3�$��� ��$� ��� ����$! �� ���� ��� �����%�3!�$���  ��

!$2��3��!#$�����$�!�3,��!���<�������'?='��$���������3!�$�������!"� ��%���&� ����%��+���*&��

���+����� �������$ !�$���$���%�!�&��������&$! � ���*&���B!%���&$���*&�J��!$���3�$����$����

+����� ���%��� ���'������'�D8�����&����� �6�� ����%����*&���$��%��%���$��$����!�$�%�%���!�$��

������%�$�!�� ���%���!�%����!$&������%����� ���*&�� ��� � %�J��8�*&�� ���$ �� ����98� ��3�!,$�

�!�$��&$����*&�J����$��!�&�!#$� ��!$�����3�!���:�! ���$������%�3�$#3���%������ !3���'�

9$5

9$6

7$5

7$6

:$5

:$6

 $5

 $6

"5$5

"5$6

""$5

!#$5 !8$6 !8$5 !"$6 !"$5 !5$6 5$5 5$6 "$5 "$6

9$5

9$6

7$5

7$6

:$5

:$6

 $5

 $6

"5$5

"5$6

""$5

!#$5 !8$6 !8$5 !"$6 !"$5 !5$6 5$5 5$6 "$5 "$6

<�= <�=
�

�
1,83$�� +!D'� ��:2!��%� ����$! �%� �$� ���  ����3!$��!#$�  ��� +�����  �� �Q�� ����� 91��1N�<�9=D

.�

 ����3!$� �%����������%!#$��!$����������!�� ����%���3�!�%��$���� �%���"�3!�$���*&63!����$�2&$�!#$�
 ��� �9� �$� �%������%�  �� 
(��  �� ���'� 
�%� 3���� ���%� %�$� ��%� +�����%�  ����3!$� �%�
�B���!3�$���3�$�������%��6$��%������%�$��$���%��&�+�%� �������%!#$��!$���'�<�=�H91��1IU�'A�(8�<�=�
H91��1IU�'C�('�
�



� ?C

�

��3�� %&�!���$� �%4!4���� �� �������� ���%?E� �!$� �3�����8� �%��� �2����� %�� ��$%! ��#�

 �%����!��������������!"��������3!�$��� ����%� ���%'�	���������� �8�%����$%! ��#�*&����%� �%�

%�J���%� ,�!��%�<δ��≈��?'A����3���δ?�U��'/����3=�*&��%�$�!$ ���$ !�$��%� ����9�%�� ���$���

��%��%���!�%����!$&������%8�*&��������������$6�� ��%&%� �%���"�3!�$��%�*&63!��%�������%&%�

�!�3��%� ������7��!#$�%��%������$�$'�

�

�!� �!�$� ��$����3�$��� ��%� �%�& !�%�  �� 
(��  �� $O����%�  !2���$��%� �� �����$�� ��

4! �#��$��%��4�$�+!%����$��3!$� �%���!$�!���3�$�������� ����3!$��!#$� ��������3���6�� ��

 !�4��$O���������&������3!����� ����%�����������%���%!���%��%���!�%����%�$��%��$����%!%��3�8�

�$� ����! � � 3&�� ����%� �%�& !�%� ��3�� ��� �$���!��� 4�$� �����$ ! ��  ��� &$�� �B��!���!#$�

�&�$�!���!+�� �� ��%� %�J���%'��!$��3�����8� �%��� �%�& !�� %���3�$����������!�$�� !$2��3��!#$�

������� ����%��%���!�%�3�$�$&������%8�����&���4����*&��%����!3!�� �'�

�

�$� �%��� �����7�� %��  �%������#� &$� �����!�3�� �&��� 2!$��! � � �%� ����!"��� &$� �$:�!%!%�

�&�$�!���!+��  �� ��%� %�J���%�  �� 
(�� *&�� ���3!��� ��$%! ����� ��$��� �� ��%� �%���!�%�

3�$�$&������%���3�����!$&������%�*&��%���& !�%�$�2��3��'��!�4�������!�3���&%���$��%#���

��������$���&$�3� ����*&63!���<����&������ ����3!$��%����������$�!�3���6��%&������%&������$�

���%!�$�%� ��%������=� %!$�� *&�� �%��� ��$��� &$� %&%��$��� �$� ��%� ��%!���%� �%��&��&��%�  �� ��%�

�%���!�%�*&63!��%�*&��%���%�:$���$���$ ���$���������%�� ��4! �#�!%!%'��!��!�$�!$�&!�!+�3�$���

������� �#�!��� ��$%! ����� *&�� �$� &$� �%�������  �� 
(�� ��%� 2����!�$�%�  ��� :���� ��7�� �� ��

�%������� ����6�$��%���������!�$� �%���$���%�2����!�$�%�3�����%8�4�%��� �$ ��%��%�����%���$��

4��%! �� �3�%��� ������������%�� ��%!%��3�%��$� �$ ��%�����%�$��$����3!%3���!�3���+��!�%�

�%���!�%��$��*&!�!��!�'��



� ?E

�

	������� �%�������� ��������!�3���*&6�����&�%���%����3�$���3����%����%�+�����%� ��

��%���$%��$��%� ��2��3��!#$�������%��*&!�3���6�� ����%��%���!�%�����&�%��%���������%!%��3��

�$� �%�& !�'� ��$� �%��� !$2��3��!#$� %��  ����3!$�$� ��%� 2����!�$�%� 3�����%� ��$���  �� �%���!��

��3�� ����3��$�$���<��,$ !����=���%��&���%�2&���$�����$! �%��$��%��������7����$������& ��

 ���������3����3�&���!�$���(�����?/��

�

	���������� �8�%�� ����3!$�����:���� ���� ��&$�� ����%�%�J���%� ��
(�����!%��� �%8�

����&����&� ������!"��%������3� !�� �����!$������!#$� ������%�J������!�$��&�$ ��%���!�$��3:%�

 �� &$�� %�J��� �%��!� �� %�� ����!"�� ���  ���$+��&�!#$�  �� �%��� �� %�� ����!"�� %&� ��%���!���

!$������!#$8�����������%����$%! ����*&����%�2������%� ����%�&�%��� ����%�%�J���%���%��+� �%��%�

���3!%3��������� �%���%�$O����%��$��� �%���%��3�!�$��%�*&63!��%'�

�


�%�2����!�$�%�����&�� �%� ����3��$�$����� ���%���!�%�%�����&��$� ����&�� �������

��%!�������3���6��*&����$ �:$���%�$O����%� �$���� ����%��%���!�%�����%��%�%����3����$���$�

��%� ��%&��� �%� ����$! �%�  ��� :����  �� �� �� &$��  �� ��%� %�J���%� ���!%��� �%� ���� 
(�'� 
�%�

��$%��$��%� ��2��3��!#$����������:��&��� ����%�2����!�$�%� ����3��$�$������%���!���&� �$�

+��!��%��!�����!+�3�$������$����2!$��! � � ��*&���%��%��7&%��$���$��*&����%�����$! �%�������!��

 ����%��%������%� ��
(�1���$��+�"��7&%�� �%���%�2����!�$�%�%����3����$���$������$7&$��� ��

��$%��$��%� �� 2��3��!#$�����$! �%������ ������� ���3�7��� �7&%��� ��$��*&����%�����$! �%�����

���O$������3,�� �� !$%��&3�$���8� ��� �&������3!��� ���3����� %������� ��&$�3� ����*&63!���

����&�%��'�

�



� ?/

	���� ��� ���!���!#$�  �� �%��� �����!�3�� �$� ��� �%�& !��  ��� %!%��3�� �<���=.9?�� %��

��$%! ��#����&��������%�2����!�$�%� ��:�����B���!3�$����%� ����%��%������%� ��
(���$� �%�

��&��%1��&$�������%��$ !�$�������%��%���!�%�3�$�$&������%�<%�J���%��$��'���3���?�'���3=��

��&$�%��&$ ����&���*&����$%! ��������%�%�J���%� ��! �%�����%��%���!�%����!$&������%�<%�J���

�$��'/��3����$�����B!3� �3�$����?'A��3='�
�%�:���%���7����%�%�J���%� ����%��%������%� ��


(�� ������%�����&+!���$�3� !�$��� ���$+��&�!#$� ����%��%������%'�

�


�%� 2����!�$�%�  �� :���� �B���!3�$����%� %�� ��3������$� ��$��� ��$� ��%� 2����!�$�%�  ��

��3��$�$�����3����$���%�2����!�$�%� ���%���!�8���%��&���%�%�����&����$� �����3!%3��2��3��

*&����%�2����!�$�%� ��:�����B���!3�$����%���3�����3&�%���$���%���&��!�$�%��'E����'/8��%��%�

2&���$� ����3!$� �%���$���& �� ���������3��(�����'�

�

���!3�$�=�9<�=�9<�=�9<�=�9<�=�9<� -------� D

��AE10?D
1

+=


 +++


 += ++− � ���<��'��'E=�

�

���!3�$�=�9<�=�9<�=�9<�=�9<�=�9<� 2222222� D

��AE10?D
1

+=


 +++


 += ++− � ���<��'��'/=�

�


�%�-!�&��%��'E����'/�3&�%���$���%�3�7���%��7&%��%������ �%��������%�%�J���%� �����.


(����$���$��$����!�$�%� ���<���=� ���'A(����'C(���%����!+�3�$��8���$���%���$�����%�%��

�&� �� �%��������� *&�� ���3�7��� �7&%��� %�� ���!�$�� ��$� ��%� 2����!�$�%�  �� ��%� �%���!�%� �$� ���

%!%��3�8���$����$� ��%� 2����!�$�%� �����3��$�$��'�	���� ����$���!��8� ��$��� ��%� 2����!�$�%� ��

�%���!����3����%� ����3��$�$���%�� ����3!$���$���$���%���$����3� ��������$! ����$� ���%�

����$�!�3,��!��%� ���� ��	�
����'���$� ����� %�� �&� �� �����!��� *&�� ����� ��� ��%��  �� ��%�



� 1�

2����!�$�%� ����3��$�$����$��%���& ���������&$��7&%��� ����� ��%��!%2�����!�8�3!�$���%�*&��

����������%�� ����%�2����!�$�%�3�����%� ���%���!������7&%����%�3&�4��3�7��'�
���$���!������+��

��%&���!��*&�����:������7����%��!��%��%� !�����3�$����������!�$����������$��$����!#$� ����%�

�%���!�%� �$� ��� %!%��3������������� �� �8����3!��� �%���������*&�����3� ��������&�%��� �$� ���

������ �'?� ����� ��� %!%��3�� � �<���=.9?�� �%� � ��&� �� ��� *&�� ���3!��� �B��!���� ���

��3�����3!�$��� ����%�%�J���%���%��+� �%��$�
(�1��

�
�� ?� D� 0� E� ��� �?� �D�

�

�

� '? �

�'?�

� ?� D� 0� E� ��� �?� �D�

-�� ���

�9� �9�

<�= <�=�

�'D�

�'0�

�'E�

�'��

�

�'?�

�'?�

�'D�

�'0�

�'E�

�'��

�

1,83$��+!E�<�=���3�����!#$� ����%�2����!�$�%� ��:�����B���!3�$����%�����$! �%� ����%��%������%� ��

(�� ��������$���%�2����!�$�%�3�����%� ����3��$�$�������&�� �%�������!�� ���3� ��������$! ������
��	�
����'� <�=� ��3�����!#$�  �� ��%� 2����!�$�%�  �� :���� �B���!3�$����%� ����$! �%�  �� ��%�
�%������%�  �� 
(��  �� ���� ��$� ��%� 2����!�$�%� 3�����%�  �� �%���!�� ����&�� �%� �� ����!��  ��� 3� ����
����$! �� ���� ��	�
����'� <\=� 2����!�$�%�  �� :���� �B���!3�$����%� �%!�$� �%� �� �%���!�%�
3�$�$&������%8� <[=� 2����!�$�%�  �� :���� �B���!3�$����%� �%!�$� �%� �� �%���!�%� ���!$&������%8� <=�
2����!�$�%� ��:�����%�!3� �%�������%���!�%�3�$�$&������%8� <.� .=� 2����!�$�%� ��:�����%�!3� �%������
�%���!�%����!$&������%'�H�<���=I������U��'C��('��
�



� 1�

�

�

�'

�'?�

�'D�

�'0�

�'E�

�'��

�� ?� D� 0� E� ��� �?� �D�

�'��

�'?�

�'D�

�'0�

�'E�

�'��

�� ?� D� 0� E� ��� �?� �D�

-��� ����

�9� �9�

<�=� <�=�
�

�
1,83$��+!F�<�=���3�����!#$� ����%�2����!�$�%� ��:�����B���!3�$����%�����$! �%� ����%��%������%� ��

(�� ��������$���%�2����!�$�%�3�����%� ����3��$�$�������&�� �%�������!�� ���3� ��������$! ������
��	�
����'� <�=� ��3�����!#$�  �� ��%� 2����!�$�%�  �� :���� �B���!3�$����%� ����$! �%�  �� ��%�
�%������%�  ��
(�� �� ���� ��$� ��%� 2����!�$�%�3�����%�  �� �%���!�� � ����&�� �%� �� ����!��  ���3� ����
����$! ��������	�
����'�<\=�2����!�$�%� ��:�����B���!3�$����%��%!�$� �%���3�$�$&������%8�<[=�
2����!�$�%� ��:�����B���!3�$����%��%!�$� �%������!$&������%8�<=�2����!�$�%� ��:�����%�!3� �%������
�%���!�%�3�$�$&������%8�<.�.=�2����!�$�%� ��:�����%�!3� �%�������%���!�%����!$&������%'�H�<���=I������
U��'A��('��
�

�

�

��



� 1?

�

����/������(,�������

�

� (� !�$��� ��� �$:�!%!%� �� �����%�3!�$���  �� ��� !$2��3��!#$� ����$�!�3,��!��� %�� �& ��

 ����3!$��� &$� 3� ���� *&63!��� ����� ��� %!%��3�� �<���=.9?�8� �%6� ��3�� ��%� ��$%��$��%�  ��

2��3��!#$� ����%��%���!�%�*&63!��%'��!�4��3� ������$%! ��������2��3��!#$� ��&$���%���!��

3�$�$&������  �� �����  &��$��� ��� �����%��  �� 4! �#�!%!%� <�<�9=D
.=� ��$� &$�� ��$%��$���  ��

2��3��!#$�  �� .���XβU/'�0/±�'���8� � �3:%� %��  ����3!$#� ��� �B!%��$�!��  �� ���%� �%���!�%�

���!$&������%8�%!�$ ���%��%��?�<�9=A
.�<.���XβUE'AA1�±�'�CC=8��1�1<�9=D

.�<<.���XβUC'0�C�

±�'�E/=����A�0<�9=D
.�<.���XβUC'1DA='��%���3� �����& ��%���+��! � ��3� !�$����%�& !�%� ��

��%�$�$�!��3��$,�!���$&�����'�

�

� (� !�$�������$:�!%!%� ����%�%�J���%� ������%���& �� ����3!$������+����� �������$%��$���

 ��4! �#�!%!%�*&�����+�������2��3��!#$� ���3�$#3���8�����&�����!$�! ����$����+���������$! ��

���� ����$�!�3���6�'� 	��� ����� �� �8� %�� ���%�$��� &$� $&�+�� �����!�3�� *&�� ���3!��� ����$���

!$2��3��!#$��&�$�!���!+�� ����%��%������%� �����.
(�8������!�$�$ ����%�:���%� ����%�%�J���%�

 !�����3�$�����$���%�2����!�$�%�3�����%� ���%���!�'��%���� *&!��������!�&����!3�����$�!���$�

���:���� ���%���!��!#$�*&63!������*&�����3!��� ���&$��+��! ��!#$���7&%�!2!���!#$��%��&��&����

��&$�3� ����*&63!��8�*&���$�3&�4�%����%!�$�%���%&��������%������'�

�

�%��� �����!#$��$���� ��%� 2����!�$�%� ��:������ ��� ��$��$����!#$�3����� �� ��%� �%���!�%��&� ��

�%���������!�$� ����$�&$����$����!"��!#$� ��������� ������������
(��

�



� 11

�

�����������	�	������
����

�

�������	������������

�

� 
��4! �#�!%!%� ����&3!$!�<���=��$�3� !����&�%��4��%! ����7���� ���%�& !�� �% ��4����

3&�4�%��J�%8�4��!�$ ��%! ��������� �%�&$�����$�+��!� � � ���%���!�%'��!$��3�������B!%���

&$�����$� !%�����$�!��$��%#����$��&�$�������%��%���!�%�*&��%��2��3�$�%!$����3�!,$��$���%�

+�����%�  �� ��%� ��$%��$��%�  �� 2��3��!#$� �%��!� �%� ��  !�4�%� �%���!�%'��&3���%�%� �%�& !�%�

��!$�! �$� $�� %#��� �$� ��� 2��3��!#$�  �� �%���!�%� 3�$&������%8� %!$�� ��3�!,$� �$� �%���!�%�

���!$&������%��$�%��&�!#$8���%��&���%���� �3!$�$��3�$���%��4���%������! ��*&���&� �$�%���

&$�� �%���!�� ���!$&������  �� ��7�� ��%�� 3����&���� �� &$�� �%���!�� ��$� &$� ���+� �� ��%��

3����&���'��!$��3�����8�����%��*&!�3���6�� ���3��%��%���!�%�$��4��%! ��4�%������3�3�$���

�����3�$�����%&����'��$�����������'D�%���&� �$������!������&$�%� �� ��%�3� ���%�*&63!��%�

������� �%��������������%�� ��4! �#�!%!%� ����&3!$!�<���=8��$���%��&���%�%���&� �$���%��+���

��%� !2���$��%��%���!�%�������� �%'�
�%�3� ���%� ������������'D����3!��$�+���*&��%����������

��3���%���!�����!$&������ ����7����%��3����&��������B!%��$�!�� ��&$� 63�������!�$���� ��&$�

��63���Z� 3!�$���%� *&�� ����� ��� ���!$&������  �� ����� ��%�� 3����&���� $�� �%� ������ ���

�%��*&!�3���6�'��$�%&����$�3����6����%�!$+�%�!�� ���%���!$�! �$��$�*&���B!%���&$�������!#$�

�$������&3!$!�N4! �#B! ����$�&$�+����� ������B!3� �3�$���?'D�

�

�

�



� 1D

�

��4 ��+!0!���$%��$��%� ��2��3��!#$�����&�%��%���������4! �#�!%!%� ����<����
�


��������� ���������

���������

�

�


�� �ββββ!�
�

�"#�$��

��4�2!�� �
'Q'�����������'V'1�� ��<�9=?^� D'/E� 	���$�!�3���6��

������S&!��'1?� ��<�9=?^� A'��� 	���$�!�3���6��

�+�%��$�5'11� ��?<�9=?
D^�

���1<�9=1?
C^�

C'�C�<�'�0=�

��D'A�<�'�0=�

�������$��!2&���!#$�

�

-�!$R��'
'���	���4�('1D�
��<�9=?^�

��?<�9=?
D^�

��0<�9=�A
1^�

D'/0�

C'�0�

DA'?/�

�

	���$�!�3���6��

�

(�%3���
'������%��'-'��
��?<�9=?

D^�

��1<�9=D
A^�

���D<�9=1D
E^�

C'DA�<�'�C=�

�1'10�<�'�?=�

���'DA�<�'�0=�

�

	���$�!�3���6��

�

�&�$���
'��'1A�
��<�9=?^�

��?<�9=
A^�

��?<�9=?
D^�

���1<�9=1?
C^�

A'?E�<�'�?=�

?'/0�<�'10=�

0'/0�<�'��=�

��1'D�<�'��=�

�

�

	���$�!�3���6��

��������5'S'8���%�%�5'('8�-��%%!$����

-'���	�!�!���5'�'C�
���1<�9=10

1^�

��?<�9=B
<0.B=�

��A'��

A'A�

	���$�!�3���6����


(��

�

_43�$�
'���-��%�!$��V'E�
��<�9=?^�

��1<�9=D
A^�

���1<�9=1?
C^�

A'A?�<�'�D=�

�1'AC�<�'�?=�

��/'?�<�'�?=�

�

�����������	
��

�

�4�����8� ����&3�� 5'	'8� �&�� �'� ��

�4�3�%.��+! ��'10�

��<�9=?^�

��?<�9=A
^�

��D<�9=��
?^�

��0<�9=�A
1^�

D'C�.A'���

�/'D�.?�'1��

1C'1��

A1'��.A1'A?�

�

�����������	
��

�
�
�
�



� 1A

�
�
��4 ��+!0!���$%��$��%� ��2��3��!#$�����&�%��%���������4! �#�!%!%� ����<���=��<��$�!$&��!#$=�
�


��������� ���������

���������

�

�


�� �ββββ!�
�

�"#�$��

�

�#�4��'8�Y,R:$��
'�����`�4����'1C�
��<�9=?^�

��<�9=?
^�

��<�9=1�

��<�9=D
.�

A'A�<�'0=�

/'E�<�'�=�

�A'��<�'�=�

?1'D�<�'�=�

�

	���$�!�3���6��

�

�

���%�5����1E�

��<�9=?^�

��<�9=?
^�

��<�9=1�

��<�9=D
.�

��?<�9=?
D^�

��1<�9=D
A^�

A'��

��'��

�A'��

??'��

C'��

�1'/�

�

�

�

	���$�!�3���6��

�

���P$�	'������+��
'1/�
��<�9=?^�

��<�9=?
^�

��1<�9=D
A^�

���1<�9=1?
C^�

A'1A�<�'��=�

��'E?�<�'�?=�

�1'�1�<�'��A=�

��C'DC�<�'�D=�

�

�����������	
��


�����3�$�
'�'����%���R����'
KD�� ��<�9=?^�

���D<�9=1?
C^�

D'D�

��1�

	���$�!�3���6��

(��R�&$ ��'���_43�$�
'D�� ���1<�9=1?
C^� .��A'A�<�'?�=� 	���$�!�3���6����


(��

�

�

� 	���������� �8��R!������������� ���%D?.DC�����!"� �� !+��%�%��%�& !�%� ��
�%�$�$�!��

(��$,�!����&������<
(�=������ ����3!$�������%���%!���%��%���!�%�*&��%��2��3�$� &��$������

4! �#�!%!%� ����&3!$!�<���='��!$��3������$!$�&$�� �� !�4�%��%�& !�%�4�$��� ! ���%���������

��$�&$ �$��3�$����&����%����3�7���3� ����������%���%!%��3���$��%�& !�'�



� 10

�

�$� &$� �����7�� ����!"� �� ���� �%��� 3!%3�� ��&���  �� �����7�DE� 3� !�$��� �%�& !�%�  ��

����$�!�3���6���� ��
�%�$�$�!��(��$,�!����&������%������&%��&$�3� ����*&63!�����%&%�

��%����!+�%���$%��$��%� ��2��3��!#$���������%!%��3����<���=.9?���$����*&��%����%������!#�*&��

 &��$�����������%�� ��4! �#�!%!%�%��2��3���$���%��%���!�%���<�9=?^�<A'?/<�'�D==8���1<�9=D
A^�

<�1'AC�<�'�A==������1<�9=1?
C^�<���'AD<�'��==�3� ����*&��2&����������� ��	��4���D/�*&!�$�

 ����3!$#�� �3:%�*&���������!+�3�$�����7�%���$��$����!�$�%� ����<���=�%��2��3������%���!��

3�$�3,�!�����<�9=1���$�&$����$%��$��� ��2��3��!#$� ���?'/0��±��'�?�

�

��������%&�'�����	(�

�

�'?'?'�'��%�& !�%���$ &��!3,��!��%�

�

� ��� 3�$�%�  �%� 3&�%���%�  �� %��&�!�$�%�  �� ��<���=8� ������� �%� �� ����!��  ��

��<��1=1•/9?��<�!�3�����8�//'��T=8��$�&$�!$���+���� ��A'0A�)���.1�(���?E'?1�)���.1�(�

2&���$� +����� �%� ��$ &��!3,��!��3�$��� ��$� %��&�!�$�%� �%��$ ��!"� �%�  �� 4! �#B! ��  ��

%� !�8� ������� �%� ��3�� %�� !$ !�#� �$� ��� %���!#$��'�'?'�'�
�%� ����&��%� �� ��$ &��!+! � � %��

����!"���$���$�&$���$ &��!3�����
� !�3���������$4���$���(?1���*&!�� ����$�&$����� ��

��$ &��!3,��!���  �� �&����� ����%� <��$� �&����� �$!���%�  �� ����!$�=� 
� !�3����� ����$4���$�

���E0A8����!��:$ �%������*&!����$��%� ���� ��+������!#$���$�%��&�!�$�%��%�:$ ��� ������'�

�

�&��$��� ��� �B���!3�$���!#$� %�� 3�$�&+�� &$� 2�&7�� ��$%��$���  �� $!��#��$��  �� �����

�&��"��������+!������������$����!#$��������3�����&���%��3�$�&+����$%��$�����?A'��°��<∆��±�



� 1C

�'��°�=�����3� !�� ��&$���J�� ����&��<>V
�	�����!�$���3� �����?���=����3���:$ �%��

��� �%�  �� +! �!��  ��  ����� ��3!%�'� ��� ��&�� �3���� �� �$� �� �%� ��%� �B���!3�$��%� �� �$� ���

��������!#$� �����%��&�!�$�%�2&����&�� �%!�$!"� ���� �%�����$��� ���!�����<(!��!����='�

�

�����������#�$����$��'���)�)������ )"#����������*��'����

�

� ��� ������#� &$�� %��&�!#$� ��&�%��  �� ��<���=�  �� ��$��$����!#$� �'��(� �� ����!��  ��

��<��1=1•/9?��<�!�3������//'�T=�'����4! ���!"#�3� !�$������� !�!#$� ��%��&�!#$���&�%��

 ��4! �#B! �� ��%� !���%��$ ��!"� �8�4�%���&$�������!#$��9N��!�&������'A����%���2&�� !�&! ��

%&��%!+�3�$��� � ��$� ��&��  �%!�$!"� �� 4�%��� ����$"��� &$�� ��$��$����!#$�  �� �'���(8�

���!%��:$ �%������9�������� �%���%�%��&�!�$�%�4! ���!"� �%'�

�

� 
�%� �%������%�  �� 
(��  �� ?C��� %�� ���&+!���$� �� ?A� W��� ��$� &$� �%������2���3�����

��&�R����().A����3����$ ����<9?�=0
1^���3����2���$�!�� �� �%���"�3!�$���*&63!��8����

�B�!���!#$��3���� ��2&�� ���1�'1?(9"'�

�

����+��� '��,(�	����-�	�.(�����

�

� ��3�� ��� %�� 4��6�� 3�$�!�$� �� �$���!��3�$��8� �%��� %!%��3�� %�� �%�& !#��

���+!�3�$��DE8� D/8�  ����3!$:$ �%��3� !�$��� �%�& !�%�  �� ����$�!�3���6�� ���3� ���� *&�� %��

3&�%���� �$� ��� ������ �'A'� �$�  !�4�� ������ %�� �&� �� �����!��� ��� 2��3��!#$�  ��  �%� �%���!�%�

3�$�3,�!��%�<��<�9=?^�����<�9=1=8��%6���3����� ��&$����!$&������ ����7����%��3����&����

<��1<�9=D
A^=� �� &$��  �� ����� ��%�� 3����&���� <���1<�9=1?

C^='� ��$%! ���$ �� �%��� 3� ����



� 1E

*&63!��� �$� ��� ���%�$��� �����7�� %�� ����!"���$� �%�& !�%� �$��3!$� �%� �� ��� ��$2!�3��!#$�  ��

�%��%� �%���!�%� �� %&%� ��$%��$��%�  �� 2��3��!#$8� 3� !�$��� �%�& !�%�  �� ��$ &��!3���6�� �� ���

���!���!#$� ��������!�3�� �%������� ��������$��!"����&�$�!���!+�3�$������%�%�J���%� ��
(��

 ��?C��8���$��������#%!��� ����$������$�&$�3� ����*&63!�����$2!�������*&���%�,���������� ��

���� !+��%�%��,�$!��%��$��6�!��%'���3��%��3�$�!�$#��$���!��3�$���������%���%!%��3���B!%��$�

 !+��%�%�3� ���%8�%!$��3�����8�4���&$�����$� !+����$�!����$����$���%��%���!�%���3���$���%�

��$%��$��%�������� �%8�����&��� !2!�&�������!$���������!#$�*&63!��� ���%��'�

�

��4 ��+!B�>�����%�  �� ��%� ��$%��$��%�  �� 2��3��!#$������ ���3�7��� ��2!$�3!�$�������$! ����
����!��  ��  ���%� ����$�!�3,��!��%� �����%� �%� ��$� ��	�
����� ����� ��� %!%��3����������
��<���=.9?�'�
�

�%���!�%�
.���Xβ�

	��:3����%�

�%�� 6%�!��%�

��<�9=?^� A'?/a� σ�U��'�?��

��<�9=1� �?'/0��±��'�?� ��U���E'�1�

��1<�9=D
A^� �1'A���±��'�?� χ?�U�C'DA�

���1<�9=1?
C^� ��/'C���±��'�/� �

��>�������$%��$��� &��$��������2!$�3!�$���

�

�

+!&!(!+!��-.36,5-�	5�639.,/A.$,95-�

�

� 
�%�+������!�$�%���$ &��!3,��!��%������%!%��3�%� ����<���=.9?��%��3&�%���$��$� ���

-!�&��� �'��8� ��%� �&���%� %�� ���+���$� �� ����� 4�%��� ����$"��� ��� �����!#$��9N��U?'A8� ��� *&��



� 1/

 �%�&,%� ���%��������!#$���$6���&�����������!�!���!#$��$����%!%��3�'�����&� ����%��+���*&�����

��$ &��!+! � ����3�$������%!���$%��$�������������� ���� �����+������!#$� �$���� ���!$���+����

 ����$��$����!�$�%� ��0'�<��.1=�(�≤�H��<���=I������≤�?'E<��.?=�(�<-!�&����'���=8�3!�$���%�*&��

�����&$����$��$����!#$� ��H��<���=IU�'�?(�%���&� �������!���&$���!����� !%3!$&�!#$� �����

��$ &��!+! � � 4�%��� &$�� �����!#$� �9N���  �� �'?� �� ��%���!��3�$��� �%��� %�� !$���3�$���

��$2��3�������� �� ��4! �#�!%!%�������%��<-!�&����'���='�

�

�'�

�'�

?'�

1'�

D'�

A'�

0'�

�'� �'A �'� �'A ?'� ?'A

<�=

�9N��

κ
N�3

�
� 3

.�

??'�

?1'�

?D'�

?A'�

?0'�

?C'�

�'� �'A �'� �'A ?'� ?'A 1'�

�9N��

κ
N
3
�

�3
.�

<�=

�

�

�

�

�

�'�

�'�

?'�

1'�

D'�

A'�

0'�

�'� �'A �'� �'A ?'� ?'A

<�=

�9N��

κ
N�3

�
� 3

.�

??'�

?1'�

?D'�

?A'�

?0'�

?C'�

�'� �'A �'� �'A ?'� ?'A 1'�

�9N��

κ
N
3
�

�3
.�

<�=

�'�

�'�

?'�

1'�

D'�

A'�

0'�

�'� �'A �'� �'A ?'� ?'A

�'�

�'�

?'�

1'�

D'�

A'�

0'�

�'� �'A �'� �'A ?'� ?'A

<�=

�9N��

κ
N�3

�
� 3

.�

??'�

?1'�

?D'�

?A'�

?0'�

?C'�

�'� �'A �'� �'A ?'� ?'A 1'�

??'�

?1'�

?D'�

?A'�

?0'�

?C'�

�'� �'A �'� �'A ?'� ?'A 1'�

�9N��

κ
N
3
�

�3
.�

<�=

�

�

�

�

�

�

�
1,83$���+!+'!��>������!�$�%�����$ &��!3,��!��%��������������%!%��3������<���=.9?�'��
<�=� <�=� H��<���=I�����U0'�<��

.1=(Z� <?=� H��<���=I�����U��'�<��
.1=(8� <1=� H��<���=I�����U�0'�<��

.1=(8� <D=�
H��<���=I�����U??'�<��

.1=(8� <A=� H��<���=I�����U?E'�<��
.1=(Z� <�='� H��<���=I�����U�'�?('� 
�%� �6$��%�

�����%�$��$������$ &��!+! � ��%�!3� ���3����$ �����3� ��������$! ���$�����������'A�����3� !�� ���
������3����	�
����'�
�%�3���� ���%������%�$��$���%�+�����%� ����$ &��!+! � ��B���!3�$����%�
�

�

��$����2!$��! � � ��+��! ������3� ��������&�%����$�����������'A�%����3������$���%�

+�����%�  �� ��$ &��!+! � � �*&!+���$��� ����$! �%� �B���!3�$���3�$��� ��$� ��%� +�����%�  ��

��$ &��!+! � ������&�� �%��������%��%���!�%����!<�9=7
1!.78����$���%���$��������&��!#$���'��'�



� D�

�

�

[ ] [ ] [ ] [ ]
[ ]∑ −−

−+−+ ++++= −+−+

������	
��	
�

�		����

���
���

�	�	�������

��
��

��
��

=<11

1

=<=<

1

λ

λλλλκ
� � <��'��'��=�

�

�$�  �$ �� "� �����%�$��� ��� ������  �� ��%� �%���!�%� �� �
����	������� �%� ��� 2����!#$� 3�����  ��

��3��$�$���<��,$ !����=�������� ���%���!�� ����<���=8�����&�� �%�����3� !�� ���������3��

��3�&���!�$��� (�����'� 
�� ��$��$����!#$�  �� ��^� 2&��  ����3!$� �� ��$� ��%�� �$� ���

��$�! � � ��4! �#B! �� ��%� !��� !�!�$� ����������4! �#�!%!%8�3!�$���%�*&�������$��$����!#$�

 �� ��1
.� %�� �%�!3#� �$� 2&$�!#$�  �� ��� ��$�! � � !$!�!���  �� ��<��1=1'� 	��� ����� �� �8� ���

��$��$����!#$�  �� 9^� �� �9.� %��  ����3!$#� �� ����!��  ��� �9� �B���!3�$���� ���!%��� �8� �� ��%�

���2!�!�$��%� ����$ &��!+! � ��*&!+���$���<�=�%���%�!3���$�3� !�$���!�����!#$'�
���������'0�

3&�%���� ��%� ���2!�!�$��%�  �� ��$ &��!+! � � �*&!+���$��� �%�!3� �%� ����� �� �� �%���!�8� �%�

!3�����$���  �%������ *&�� ��%� ���2!�!�$��%�  �� ��$ &��!+! � � �*&!+���$��� %�� �%�!3���$� �����

�� �� ��$��$����!#$8� �� *&�� �%��%� !$���3�$����$� %&� +����� ��$2��3�� ��� ��$��$����!#$�

 !%3!$&6�8� ��� �&��� �%� &$� ��3�����3!�$��� �%���� ��  ��! �� �� *&�� ��� ��$ &��!+! � �

�*&!+���$����%� !�����3�$����������!�$��������3�+!�! � � ������%���!�A�'�

�

� �$����3!%3��-!�&����'���%��3&�%���$���%�+�����%� ����%���$ &��!+! � �%��%�!3� �%8�

%�� �&� �� �����!��� *&�� �B!%��� &$� � ��&� �� �7&%���  �� �%��%� ��$� ��%� +�����%� ����$! �%�

�B���!3�$���3�$��8���$�����&���%���&� ���%������������+��! �"� ���3� ��������&�%����$����

�������'A8� ����3!$� ����������%!%��3����<���=.9?��������	�
����8����*&���%����&� ��

�B��!����%��!%2�����!�3�$��������3�����3!�$����B���!3�$���� ����%��&�+�%���$ &��!3,��!��%'�



� D�

�
��4 ��+!C!�>�����%��%�!3� �%� ����$ &��!+! � ��*&!+���$������������7&%��� ����%��&�+�%� ��
+������!#$���$ &��!3,��!��%���������%!%��3����<���=.9?�'�
�

�!%��3�� �%���!�%� λ N3���3?��*&!+���$��.��

�

�

�

��<���=.9?��

��1^�

��<�9=?^�

��<�9=1�

��1<�9=D
A^�

���1<�9=1?
C^�

��^�

��1
.�

1'A.�A�

���

��

E�

D?.DC�

E'0.�E�

A�.C�'��

�

�

+!&!(!&!��-.36,5-�6������

�

� �$����-!�&����'���%���&� �$���%��+�����%��%������%� ��
(�������?C�������$! �%�����

	��4���DD'��$�����%�%���&� �������!���*&���$�&$�!$���+���� ��1'�D≤�9≤�D'AA��B!%���&$��!���

�$����3�����&���%��4�������!�$� ����$�&$�����3���6������, �!��8��%!�$:$ �%������%��%���!�%�

 ����1^8���<�9=?^�����<�9=18����*&���%��%��%���!�%����%�$��$�&$�$O����� ����<���=���$��%���

���3���6�'�	�������� �� �8��$���� !$���+���� ��1'DC≤�9≤1'/D�%����%��+�������%�J����$�A��3�

<2!�&����'�?=� ��� �&��� %��4�� �%������! ��*&���%�:� �����!�$� ����$� ��� �%���!�����!$&������ ��

��7����%��3����&����<��!��3���8���1<�9=D
A^='��$����!$���+���� ��1'0�≤�9≤0'1?�%�������!��

&$�� %�J��� �$� 01��3� ��� �&��� %�� �%������!#� �%�:� �����!�$� �� ��$� ��� �%���!�%� ���1<�9=1?
C^'�

�!�4�� %�J���  �%�������� �$� &$� !$���+����  �� A'DA≤�9≤0'1?� ��� �&��� %�� 7&%�!2!�#� *&�� �%� ��

��$%��&�$�!�� �����2��3��!#$� ���%���!�%� �������%!3���6�����!�$� ��! �����������!�!���!#$�

 ����<�9=1<%='�



� D?

�

� ��$� ��� 2!$��! � �  �� ��$2!�3��� ��� 3� ���� ����&�%��� �$� ��� ������ �'A� %�� &�!�!"#� ���

�����!�3���$��%�3�$�!�$� �1��<%���!#$��'�'1'?=8�����������&���%�� ����3!$#����:���8�3� !�$���

!$������!#$8� ����� �� �� %�J��� ���!%��� �� �$� ��%� �%������%�  �� ?C��.
(�'� 
�%� 2����!�$�%�

3�����%� ����3��$�$����� ���%���!��%������&����$���$���& �� ���������3����3�&���!�$���

(�������3����$ ����%���$%��$��%� ��2��3��!#$�*&��%�����%�$��$��$�����������'A'�	�������

�

�

1,83$�� +!++'� �%������%�  �� 
(�� ����� ?C��� ��$�  !2���$��%� ��� �%�  �� 4! �#�!%!%� ����� &$��
��$��$����!#$� ��H��<���=I������U��'A���(''�<��3� �%� �������%!%� ��	��4����
'DD=�



� D1

�
1,83$�� +!+&'� �%������%�  �� 
(�� ����� ?C��� ����� &$�� %��&�!#$�  �� ��$��$����!#$�  �� H��<���=I������ U�
�'A���(8���$��9U�1'0CZ��$��%���%���&� �$������!��������3�$������%�J����$�����38�A���3���01���3'�
<��3� �%� �������%!%� ��	��4����
'DD=�
�
�
��3�����!#$�  �� 2����!�$�%�  �� :����  �� ��%� %�J���%�  �� 
(�� ��$� �*&����%�  ����3!$� �%� ��

����!��  ��� 3� ���� *&63!��� %�� ��$%! �����$�  �%� ��%!�!�! � �%'� �$� &$� ��!3��� 3� ���� %��

��$%! ����*&�� � ��*&������%���!�����1<�9=1?
C^���� ��$���&$���%��&��&��� �!���Q���!$���%���

&$� ��&3!$!�� ��$����� ��$� ���3���6�� �����, �!��� ��  ���� ��&3!$!�%� ����, �!��%� �� �:$ ���8�



� DD

�$��$��%����2����!#$� ��:���������!�$� ����$����%�J��� ��?C��.
(���$��'���3�%�� ��������%�

�%���!�%�3�$�$&������%� ����<���=�<��1^8���<�9=?^�����<�9=1�='��$��%�����%����%�$O����%� ��

��&3!$!�� ����:$��B4!�!��&$�����3���6������, �!��8��%6���3��&$������!#$���$ ��� �� �����

2����!#$������%��$ !�$���<���%��� ���%���!���� ����3��$�$��=� ������%���!�����1<�9=1?
C^'�


�� 2����!#$�  �� :���� �����%��$ !�$��� �� ��� %�J���  �� A��3� %�� ��� �%!�$�� ��� ��!�#3����

��1<�9=D
A^8�3!�$���%�*&�����:���� �����%�J��� ��01��3�%���%������!#�*&��%�� ������$O����%�

 ����&3!$!����$�����3���6�������, �!����������*&��%����3���#���$�����������������!�$��� ��

���2����!#$8� ���%���!������3��$�$��8� �����1<�9=1?
C^�< ����&�� ��������$��%�3�$�!�$� �=��

�

� �$� &$� %��&$ �� 3� ���� %�� ��3#� �$� ��$%! ����!#$� ��� �%!�$��!#$�  �� ��&�� �� �� ���

������� �������R!������������� ���%D?.DC�*&!�$�%��%�������$�*&�� ���%�J����$����3�%�� ����

O$!��3�$�������%��%���!�%�3�$�$&������%� ����&3!$!�<���=8�3!�$���%�*&�����%�J����$�A��3�

�%��������!�$� ����$�������!$&������ ����7����%��3����&������1<�9=D
A^���2!$��3�$������%�J���

�$�01��3�%�������!�$����$�������1<�9=1?
C^'�����&� ����$%! ������$��%�����%�� �%���%!���%�

�%�����%K�&$�� ������%���&$�����*&��,%���%�J���%�� ����O$!��3�$������$O����������, �!��� ���

��&3!$!�� �$� ��� �%���!�� �� *&�� ��%�  ���� ��&3!$!�%� ��%��$��%� %�$� F!$+!%!���%G�  ��! �� �� &$��

 !%���%!#$� �$� ��� �3�!�$��� *&63!��� �� �!�$� *&�� ��%� �!�3��%�  �� ����7��!#$� ����� �%��%� %�$�

 �3�%!� �� �:�! �%D?'�
�� %��&$ �� ��$%! ����!#$��%� ��� %&���!�� *&�� �%��� %�J��� �$�01��3�%��

 ���� �����&$��3�$������$������$O����������, �!�����3������%� ���������, �!��%� �$���� �����

�%���!�������%��$ !�$��'�

�

�

�

�



� DA

5$5

5$8

5$.

5$9

5$:

"$5

8$65 #$55 #$65 .$55 .$65 6$55

�
�

�9 5$5

5$8

5$.

5$9

5$:

"$5

8$6 #$5 #$6 .$5 .$6 6$5

�
�

�9

<�= <�= �

1,83$��+!+('�<�=��!����3�� ��2����!�$�%�3�����%� ����3��$�$������������%!%��3����<���=.9?�Z�<�=�
�!����3�� ��2����!�$�%�3�����%� ���%���!�%���������%!%��3����<���=.9?�'�<=�-����!#$� ����

1^8�< =�
-����!#$� ����<�9=?

^� <.� .� =�-����!#$� ����<�9=18� <�=�-����!#$� ����1<�9=DA^��� < =�-����!#$� ��
���?<�9=1?

C^�<����$! �%�������!�� ���3� ����*&63!�������&�%����$����������?'C='�
�


��-!�&����'�1�3&�%���� ��%� !����3�%� �� 2����!�$�%�3�����%� ��$��� ����3��$�$���

��3��  �� �%���!�� ����� ��� %!%��3����<���=.�9?������$! �%� ��$� ��� ������3�� ��3�&���!�$���

(�����8���$��%��%�2����!�$�%�%����3������$���%�:���%�����$! �%��������!�� ����%��%������%�

 �� 
(�'� �$� ��� -!�&��� �'�D� %�� ���%�$��� ��� ��3�����!#$� �$���� ��%� 2����!�$�%�  �� :����

����$! �%��B���!3�$���3�$��� ����%���%������%� ���
(�� ��?C�������%�2����!�$�%�3�����%� ��

��3��$�$���<������3��%�3� ���%�����&�%��%=8���%��+:$ �%��*&���$�$!$�&$�� ����%���%�%�

�%��%�%���7&%��$�� ��&� �3�$��'�	���������� �8��$�����-!�&����'�A�%��3&�%���������3�����!#$�

�$���� ��%� 2����!�$�%�  �� :���� �B���!3�$����%� �� ��%� 2����!�$�%�  �� �%���!�� ����&�� �%8�

��%��+:$ �%�� &$� � ��&� �� �7&%��� �  �� �%��%'� ��$� ��� 2!$��! � �  �� ������� &$�� 3�7���

%������%!�!#$��%��+��!���$�3� !�$���!�����!#$���%���$%��$��%�� ��2��3��!#$��%��!� �%������ ���



� D0

1 '� 1 '? 1 'D 1 '0 1 'E D '�

� 9
� � �

� '�

� '?

� 'D

� '0

� 'E

� '�

-

�

1 '� 1 '? 1 'D 1 '0 1 'E D '�

� 9
� 4 �

� '�

� '?

� 'D

� '0

� 'E

� '�

-

�


���	�� ������;�
�����
��� 	���	� ��� �����
��	�� �	� ��	�� ���	�
���� 	��	�

	����
	��	� �	�
����	��	�������	�<-=��	� 87%�� �� ���� �����
��	��
����	���	���
���	��	��	�	�

��������
����
�� �	�� 
��	��� �	� ��� >����� "$7$� & (� *����
��� 	��	�

	����� �	� 5��
�� & (� �����
���
	��	�

	������	�6��
��&�(������
���	��	�

	������	�9#��
�����&0(�*����
���	��

�����	�
%�#?��%�&@2(8?���%�&@2(#��� �����
����������
������	��%�"#&@2(#8

7?� � &!�!�(�*����
���	��

����
�	� %�#&@2(.

6?�� &� � �(� *����
��� 	��

���� �������
����� �	� %�"#&@2(#8
7?A� � ���� &0(�

*����
���	��

�����	�%�#?��%�&@2(8?���%�&@2(#A�&!�!�(�*����
���	��

�����	�%�#&@2(.
6?��&���

(�*����
���	��

�����	�%�"#&@2(#8
7?�



� DC

�

1 '� 1 '? 1 '0 1 'E D '�

�9
�� �

� '�

� '?

� 'D

� '0

� 'E

� '�

�

�

1 '� 1 '? 1 'D 1 '0 1 'E D '�

� 9
�4 �

� '�

� '?

� 'D

� '0

� 'E

� '�

�

�


���	�� ������;�
�����
��� 	���	� ��� �����
��	�� �	� ��	�� ���	�
���� 	��	�

	����
	��	� �	�
����	��	�������	�<-=��	�87%���� ���������
��	��
����	���	�	��	�
	��	�	�

������������
��
�	��
��	����	����>�����"$7$�& (�*����
���	��	�

	������	�5��
��& (������
���	��	�

	�����
�	�6��
��&�(������
���	��	�

	������	�9#��
�����&0(�*����
���	��

�����	�%�#?��%�&@2(8?�
��%�&@2(#��������
����������
������	��%�"#&@2(#8

7?��&!�!�(�*����
���	��

�����	�%�#&@2(.
6?��

&� � �(�*����
���	��

�����������
������	�%�"#&@2(#8
7?A� � ���� &0(�*����
���	��

�����	�



� DE

%�#?��%�&@2(8?���%�&@2(#A�&!�!�(�*����
���	��

�����	�%�#&@2(.
6?��&���(�*����
���	��

����

�	�%�"#&@2(#8
7?�

�%���!�8� ����$!,$ �%�� ��� 3� ���� *&�� %�� ���%�$��� �$� ��� ������ �'C8� ��%��+:$ �%�� *&�� ��%�

+�����%� �%�!3� �%�  �� ��%� ��$%��$��%� ����� ����$��� &$� �7&%��� � ��&� �� $�� %�$�

%!�$!2!���!+�3�$��� !2���$��%� ����%�����&�%��%��$�����������'A'���$�����$���!���%���%��������

*&�� ��%� 2����!�$�%� 3�����%�  �� �%���!��  �2!$�$� ��� ��3�����3!�$���  �� ��%� %�J���%'� �%�

!3�����$��� �%������*&��!$ ���$ !�$��3�$��� ���3� �����3���� ������������3�����!#$� ��

��%�2����!�$�%� ��:������$���%�2����!�$�%� ���%���!������&�� �%8�����7&%��� ����%�2����!�$�%��%�

%!3!���8� ��� �&���$�����3!��� �%��������� ��3�$���� ��$�&$ �$��� ���$��&����"��*&63!��� �� ���

%�J���*&�����������$�01��3'���$�������!���!#$� ��������!�3������&�%���%���������+! �$�!���

*&�� ���3� ���� *&63!��� ����&�%��� ����� ��� %!%��3����<���=.9?���%� � ��&� �� ��3�!,$� �����

�B��!���������3�����3!�$�����%��+� ���$�
(�'����4��4�� ������$���&$�������!#$��$������%�

2����!�$�%� ��:���� �� ��%�%�J���%� ��
(���� ��%� 2����!�$�%�3�����%� ���%���!���%� �����$�

!3�����$�!����!3�������$����*&����%���������%�& !�%� ��
(�8����*&���������������%&���! ��

�$�����%�& !������!"� ����������%!%��3���<���=.9?�'��

�

����3�$����������� ��������� ���%C�4��6�$�����&�%�����$��$���!��! � �&$�������!#$�

 ����%�2����!�$�%� ����3��$�$�������%�:���%� ����%�%�J���%� ����3!$�$ ��&$����$%��$��������

����%���!�����1<�9=1?=
C^� �� �.���Xβ�1810�U�.��A'A'��!$��3�����8��%�����%&��� ���� �6���%����

�*&!+��� �8� ��! ����*&���%��%��&����%���%��+���$�&$��%�J����$�E���3��$�3� !��:�! �����

�&���%��� 7& !�#���&$���%���!�� !3,�!��� ����<���=���*&��������$���!$2�&����$�����7&%��� ����%�

2����!�$�%�  �� :���� �B���!3�$����%'� ��� ��%��$��� �%�� %�J��� $�� 4�� %! �� ��%��+� �� �$� � ��%�

�%�& !�%����+!�%�����!"� �%����� !+��%�%��&����%D�.D/'��

�

�



� D/

�

��4 ��+!D!���$%��$��%� ��2��3��!#$��%�!3� �%����������7&%��� ����%�2����!�$�%�3�����%� ��
�%���!����$���%�2����!�$�%� ��:�����B���!3�$����%� ����3!$� �%� ����%��%������%� ���
(��
 ��?C���
�

�%���!�%�
.���Xβ�

��<�9=?^� A'?/�

��<�9=1� �?'�0�

��1<�9=D
A^� �D'���

���1<�9=1?
C^� ���'0��

�

� �3:%8� (��R�&$ � �� _43�$D�� 4��6�$� ����!"� �� ��$� �$���!��! � � �%�& !�%� �����

�����!�$��� ��%� 2����!�$�%� �� :���� �� %�J���%�  ��
(����$� 2����!�$�%� �%�!3� �%������ �� ��

�%���!�'���%�2���&$� �3�$����%��%��&����%�$���������!�$�$� ������%�%�������%��%������%� ��


(��  �� ?C��8� $!� %����� ���  ����3!$��!#$�  �� ��%� 2����!�$�%�  �� :���� �B���!3�$����%� �� ��%�

�����!�3�%� �3���� �%8� � �3:%�  �� *&�� ��� +����� �7&%�� �� ����� ��� ��! ��:3���� 2&��  ��

���Xβ�181?U�.��A'A8�3!�$���%�*&���������$! ������&$�� ���%��%�3!%3�%��&����%��$��%�& !�%�

����$�!�3,��!��%E���%&��#� ������Xβ�181?�U�.��/'?8�+�����%�*&���&� ����%��+��%�� !2!���$� ��

3�$����!3�����$��'�

�

� 	�������� �� ������$� ��� 2!$��! � � �� ��$���3����� !$2��3��!#$�������� �� ��%� %�J���%�

��%��+� �%��$���%��%�& !�%� ��
(�� ��?C��8�%�����+#��������&$��%�& !��3� !�$��� !�&�!�$�%�

%&��%!+�%�  �� &$�� %��&�!#$�  �� ��<���=� �'��(� ����!��3�$��� 4! ���!"� �� <�9N��<���=U�'A=8�

����$!,$ �%����%��%������%� ��
(�� ��?C���*&��%��3&�%���$��$����-!�&����'�0'��$������%��

�&� �� ��%��+��� *&�� ��� �9�  �� ��� %��&�!#$� %�� !$���3�$��� ��$2��3�� ���  !�&�!#$� �%�3����'�



� A�

� �3:%�%���&� ��+���*&�����%�J����$����3�%&2���&$��$%�$�4�3!�$�������&���%���B��!�������

��� 2��3��!#$�  �� ��%� �%���!�%� 3�$�3,�!��%� ��<�9=?^� �� ��<�9=1� ��� *&�� �3��%� �%���!�%�

���%�$��$� ��� !�&��� *&�� ��� ���!#$� %��+��� �� <��1^=� &$�� ���3���6�� ����, �!��'� �$� ���3!%3��

-!�&����'�0�%�������!�� ��� %�J����$�A��38�*&���%�:� �����!�$� ����$� ����%���!����1<�9=D
A^'�

�!�4��%�J��� �%����������$2��3���&3�$������ !�&�!#$8�����&������� ���%�����%������������%��

 ��&$���%���!�����!$&�����'�� �3:%8��%���%!����+���*&�����%�J����$�01��38������!�$� ����$�

����%���!�����1<�9=1?
C^8��%�&$��%�J���3&�� ,�!�'��%�!3�����$��� �%������*&���%��������������

!$���3�$���� ���  !�&�!#$8� ��� *&�� �� �6�� ��%&����� �B���J�8� ��$%! ���$ �� *&�� �� 3�����%�

��$��$����!�$�%�� ����6�� ��2�+������%�����2��3��!#$� ������%���!�����!$&��������$����*&��

�%��� %�J���%���%��!�'��!$��3�����8�4���*&��$�����*&������9� ��� %!%��3�� ��3�!,$��&3�$���

2�+����!�$ ������2��3��!#$� ���%����%���!�'�������&$���!3�����$��� ���$��!"����%����4��4��

 ��*&�� ��� ���&����� ��� :���� �� ��� � %�J��� �$�01��3�$��3�$�!�$��&$�� �����!#$��K�?���3�� ���

3�$�!�$�$��RR!������ ��%DA��$�&$��%�& !��%!3!��������!"� �8�����&���$�� ��+��! �"������! ���

 �� �%��%� �&����%� *&�� �%�������� *&�� ��� %�J���  �� 01��3� �����%��$ �� %���3�$��� �� &$� %#���

$O����� ����&3!$!����$����3���6�������, �!��'�

�

��$����2!$��! � � ��+��! ������3� ��������$�!�3,��!�������&�%����$�����������'A�%��

���+#� �� ����� &$� �7&%���  �� ��%� 2����!�$�%�3�����%�  �� �%���!�� <����&�� �%� ��$� ��� ������3��

��3�&���!�$��� (�����=� �� ��%� 2����!�$�%�  �� :���� �B���!3�$����%'� �$� ��� ������ �'E� %��

3&�%���$� ��%� ��%&��� �%� ��� �7&%��� �� !�4�%� 2����!�$�%� ��� �������  �%� !2���$��%�3� ���%8�

3!�$���%�*&���$�����������'/�%�����%�$�������������%�!3� �8���3�������6"�3� !���&� �:�!��� ��

��%���%! &���%�<�3�=�����$! �%� ����� !2���$�!���$�������%��2����!�$�%� ��:������B���!3�$����%��

�



� A�

�

�
1,83$�� +!+C!� �%������%�  ��
(������� ?C��� ����� %��&�!�$�%�  !�&! �%� %&��%!+�3�$��� �� ����!��  �� &$�
%!%��3����$��H��<���=I������U��'����('����9N��<���=U�'A�
�

����%�2����!�$�%�����&�� �%'�
�%� ���%��$�����7&%��� ���3� ����*&����$%! ����%���3�$�������%�

�%���!�%���<�9=?^�����1<�9=D
A^�<3� �����=��%���$%! ������3�$���3�$���*&����� ���3� ����

*&����3���$��&�$�����$����� !�4�%��%���!�%���3������<�9=1������1<�9=1?
C^8�� �3:%� ��$��

���%�$������$ �$�!�'�	��������$���%����$��&���*&���$�����%�& !�� �� !�&�!�$�%�%#���%���!�$��

!$2��3��!#$�%&2!�!�$���������7&%������%���$%��$��%� ���*&!�!��!�� ����%��%���!�%���<�9=?^���

��1<�9=D
A^'���$���%���$�����$���!����%���%!���� ����3!$���*&����%�+�����%�����$! �%��������%�

�%���!�%� ��<�9=?^� �� ��1<�9=D
A^� %�$� 3&�� %!3!����%� �� ��%� ����&�� �%� �$� �%�& !�%� ��$���



� A?

����$�!�3,��!��%���3�� ��
(�8�����&������3!���+��! ������3� ��������&�%����$����������

�'A'�

�

��4 ��+!E!���$%��$��%� ��2��3��!#$��%�!3� �%�����
(�� ��?C���������!�� ����B���!3�$���
 �� !�&�!�$�%�%&��%!+�%�
�

�-;�9,�-�
�56� 5�+�

* 58∗β∗β∗β∗β�

�56� 5�&�

* 58∗β∗β∗β∗β�

��<�9=?^� A'��.A'0�� A'?/.A'/��

��<�9=1� �����$%! ��� �� �?'D�.�D'���

��1<�9=D
A^� �?'/�.�1'E�� �?'/�.�1'C��

���1<�9=1?
C^� �����$%! ��� �� ��1'C�.��0'���

�

�

��4 �� +!F!�
�6"� 3� !�� �&� �:�!���  �� ��%� ��%! &���%�  �� ��%� 2����!�$�%� ����$! �%� ��$� ��%�
3� ���%� ����&�%��%� �� ��%� 2����!�$�%�  �� :���� �B���!3�$����%� ����� ��� �B���!3�$���  ��
 !�&�!�$�%�%&��%!+�%��
�

��>� �6������6��&D
 �
�56� 5�+�

$/9��+'B��

�56� 5�&�

$/9��+'B��

����3�<3�$#3���%=� 0'E� 1�C'A�

A���3�<��63���=� 0'E� DA'E�

01���3�<��! ��:3���=� �'��� �DA'D�

�������3%� D'E� ?�0'A�

�

�

�



� A1

�

+!&!0!�	��	���������

�

��$���%���$���%���%&��� �%�����$! �%��$��%��������7��%���&� ���%������������3� ����

����&�%����������� %!%��3����<���=.9?���$����*&��%�������$�� ��� 2��3��!#$� �� �%��%���!�%�

3�$�$&������%�<��<�9=?
^�����<�9=1=8��%6���3����� ��&$���!�#3���� ���%��*&!�3���6��<18D=�

<��1<�9=D
A^=� �� ���  �� &$�� �%���!�� ���!$&������  �� ����� ��%��3����&���� ��$� &$�� �����!#$�  ��

��&3!$!�K4! �#B! �� ��?'D0�<���1<�9=1?
C^='��%���3� ����%����$%! ����� ��&� �8����*&��,%���

���3!��� �B��!���� $�� %#��� ��� !$2��3��!#$� ����$�!�3,��!��� %!$�� ��3�!,$� ��%� �%�& !�%�  ��

��$ &��!3���6�� ����!"� �%8� �%6� ��3�� ��� ��3�����3!�$��� ��%��+� �� �B���!3�$���3�$��� �$�

��%� �%������%�  �� 
(�� ����� ?C��'� � �3:%� �%� &$� 3� ���� *&63!��� �$� ��� *&�� %�� �%���

��$%! ���$ �� ����� %&� ����������!#$� ��� ���3���6�� �� �%��&��&���  �� ��%� �%���!�%� *&63!��%�

����&�%��%'�

�

��� !�&��� *&�� ����� ��� %!%��3�� �<���=.9?�� 2&�� ��%!���� ���+��� �� ����� &$� �%�& !��

�&�$�!���!+��  �� ��%� %�J���%�  �� 
(�� ��%��+� �%� *&�� ���+#� �� �%��������� *&�� ��%� %�J���%�

 ��! �%���?C���%�$� !�����3�$����������!�$���%�����%�2����!�$�%�3�����%� ���%���!�8�����&���

������������������!�3������&�%����$��%��������7���������$��!"����&�$�!���!+�3�$�����%�%�J���%�

 ����%�$�$�!��3��$,�!����$&�����'�

�

�

�

�



� AD

�

��+��������	�0������
����

�

��+����	������������

�

� 
�� 4! �#�!%!%�  �� ���!�<���=� �$� %��&�!#$� ��&�%�� %�� 4�� �%�& !� �� 3�$�%�

�B4�&%�!+�3�$��� *&�� ���  �� ��&3!$!�<���=8� %!$� �3������ ��%� ����%� �%�& !�%� *&�� %�� �!�$�$�

%�������� ����3!$��!#$� ����%��%���!�%���%&%���%����!+�%���$%��$��%���!$�! �$��$�%&�3����6��

�$� ��� ��%!���� 2��3��!#$�  �� �%���!�%� 3�$�$&������%� O$!��3�$��'� ����3�$��� ���%� ��

(�%3���� �%�������$� ��� ��%!���� 2��3��!#$�  �� ��� �%���!�� ���!$&��������?0<�9=0A
�1^� ��� �&���

�����$�$��� �6��2��3��%���$�%��&�!�$�%�%����%��&�� �%'��!$��3������4���$�3�$�!#$� �����

 !2!�&��� � *&�� �� �6�� �����%�$���� ��� �+! �$�!����� �� 3�$��$��� ��3�� &$�� �%���!�� �%������

 ��! �����������!�!���!#$� �����<�9='�

�

� 3	�	� �� ��	� ��� 
������� �	� ���� 	����
��� �������� ���
�� ��� ���
��
��� �	�

	��	�
	�� 
�������	��	�� 	�� �����
���� ��� ���� ����������
�� ������ 	���	� ����

�
�	�	��	�� �����	�$� B	� ��	���� �� �	�	�� 
��	���� ���

���� ��	� ����
��	�� 	�� ���

���
��
��� ��
��
	��	� �	� ��� 	��	�
	� �	� 	��	��
�
	����� &"�"(� ������
��	���� ��	�

���
	�	��������
��
����	�	��	�
	����	������	��	����&"�"(����������&"�.($�3��������

������ ��
����� �	� �
	�	� ���� ����
��	��
�� 	�� ���� �����	�� �	��������� ����� ����

��������	���	����
��
����	������
�	�	��	��	��	�
	��

�

�



� AA

�

�

��4 ��+!+'!�(� ���%� ����$%��$��%� ��2��3��!#$�����&�%��%���������4! �#�!%!%� ����<���=�
�


��������� ��������

��������

�

�


�� �ββββ!�
�

�"#�$��

V!�%�$��'�'�����&���9'�A�� ��<�9=?^� ?'/?� �%������%���6��

��"���$R�� >'�'� �� �$��$�+!�4�

>'	'A?�
��<�9=?^�

��<�9=?
�^�

��<�9=1�

?'/��

0'0��

��'�?�

�

	���$�!�3���6��

�

���%��'-'���(�%3���
'���

��<�9=?^�

��<�9=?
�^�

��<�9=1�

��<�9=D
.�

?'0�

A'/�

��'1�

�0'0�

�

	���$�!�3���6��

S�3� ���8������'�A1� ��<�9=?^� ?'E/�<�'�1=� �%������%���6����

	���$�!�3���6��

�

�#�4��'8�Y,R:$��
'�����`�4����'1C�
��<�9=?^�

��<�9=?
�^�

��<�9=1�

��<�9=D
.�

?'D��

A'/?�

��'01�

�0'EC�

�

�����������	
��

��3�!%!��'����������$�	'AD� ��<�9=?^�

��<�9=?
�^�

D'�C�

E'?��

	���$�!�3���6��

���P$�	'AA� ��<�9=?^�

��<�9=?
�^�

1'�0�<D'E/T=�

C'�C�<A'AET=�

	���$�!�3���6��

����!�%��'8�9&�!��'8�
��3�$ �Q'A0� ��<�9=1�

��<�9=D
.�

��'01�

�C'A�

	���$�!�3���6��

�
�

�$�����������'���%��3&�%���$���%�3� ���%�������� �%���������4! �#�!%!%� �����!�<���='��$�

�����%���&� ����%��+���*&��$��%#���$��4�����$%!%��$�!���$� ��%�3� ���%8� %!$�� ��3�!,$�



� A0

*&���B!%���&$�� !2���$�!��3���� ���$����&$�%� ����%�+�����%� ����%���$%��$��%8�� �3:%�

�%� !3�����$���  �%������ *&�� %#���  �%�  �� ��%� 3� ���%� ������� �%�  �$� ���  �%+!��!#$�

�%�:$ ��� %����� ��%� +�����%�  �� ��%� ��$%��$��%8� ��� �&��� !3��!��� ��� ��$��!3!�$���  �� ���

�%�� 6%�!���%��������3� ���8���$����*&�� �����&$��2��3��%����� ������! &3�������%��'�

�

� ���!�&���*&���������&3!$!�<���=8��%�����&��� ��!$+�%�!���!#$��$�&$������7���$���!��DE�

����!"#��%�& !�%���$��� ������$�!�3���6����3�� ��
(��������� ���! �$�!2!������%��%���!�%�

*&�� %�� 2��3�$�  &��$��� ��� �����%��  �� 4! �#�!%!%8� �%6� ��3�� %&%� ��$%��$��%� ��%����!+�%'� ���

 ����3!$#� *&�� %#��� %�� 2��3�$� ��%� �%���!�%� 3�$�3,�!��%� ��<�9=?
^?� �� ��<�9=1� ��$�

��$%��$��%� �� 2��3��!#$� ��C'�C<�'�1=�����'C�� <�'��=� ��%����!+�3�$��'��$��%��� �����7��%��

�&%��� ���&$�3�����%����������3� �������+!�3�$���������� ������!"�$ �������������%�& !�%�

3:%� ������ �%� ������$�!�3���6�8��%6���3���%�& !�%� ����$ &��!3���6�8���$��������#%!��� ��

�� ������������&$�3� ������$2!�������������%!%��3����<���=.9?�'�

�

��+�����%&�'�����	(�

�

+!(!&!+!��-.36,5-��5.��9,5/A.$,95-�

�

� ������������$�%��&�!�$�%���&�%�%� � ����<���=�����!�$ �� ����<��1=1•/9?��<��R���

�$���"� 8�*�=��$�&$�!$���+���� ��1'DC�)���.D�(����C'10�)���.D�('����3�$�%� �%�3&�%���%�

 �� �� �� %��&�!#$� %�� +�������$� ��$� %��&�!�$�%� �%��$ ��!"� �%�  �� 4! �#B! ��  �� %� !�8�

������� �%�������!�� �������� !3!�$�������&�%����$����%���!#$���3��%��!$ !�#��$����%���!#$�

�'�'?'�'��$��� �%���%���%�%�%�����!%�����$���%�+��!��!�$�%� ���9�<���3�$�%�0�� ���%=���$�&$�

�9.3�����
� !�3��������&%%���
	9D1���<∆�9�±��'���=8��3����$ ��&$�������� �� ��+! �!��



� AC

��3�!$� ����$���2���$�!��!$���$�� ����N����<%=Z��2���&�$ ��������!����!#$� ����*&!�����$�

%!%��3�%� �&22���  �� ��2���$�!��  �� �9UD'��A'� �$� �� �%� ��%� �B���!3�$��%� %�� ��$����#� ���

��3�����&��� ��$� &$� ��J�� <>V
8�3� ���� �?���.��8� �� &$� 2�&7��  �� $!��#��$�� %��3�$�&+��

��$%��$���  &��$��� ��%� +������!�$�%� � �$� ��� ��������!#$�  �� �� �%� ��%� %��&�!�$�%� %�� �3�����

��&��  �%!�$!"� �� ��  �%�����$��� ��  ���!��� �� < �%!�$!"� ���(!��!����='� 
�� ��$��$����!#$�

�$��6�!��� ����<���=�%�� ����3!$#���3���7�3,��!��3�$��AC'�

�

�'1'?'?'��%�& !�%���$ &��!3,��!��%�

�

� ��� ����!"���$� +������!�$�%� ��$ &��!3,��!��%�  �� %��&�!�$�%� ��&�%�%�  �� ��<���=�

<��<��1=1•/9?�8���R����$���"� 8�*�=��$�&$�!$���+���� ����$��$����!�$�%� ��1'?��)���
.D�

(����0'���)���.D�(8�+�����$ ����$� %��&�!�$�%� �%��$ ��!"� �%� ��4! �#B! �� �� %� !�'����

���!%����  �� ��� ��$ &��!+! � � %�� �2���&#� ��$� ��& ��  �� &$� ��$ &��!3����� 
� !�3�����

����$4���$���(?1�� �3����$ ��&$�� ��� �� ��$ &��!3,��!���  �� �&���������%� <��$� �&�����

�$!���%� ������!$�=�
� !�3���������$4���$����E0A'��������!"#�������!����!#$� ����*&!���

�$��%� ����� ��+������!#$���$�%��&�!�$�%��%�:$ ��� ������'�

�


�� ��3�����&��� %��3�$�&+�� ��$%��$��� �� ?A'�� °�� <∆��  ±� �'�� °�=� ����3� !��  �� &$�

��J�� ����&��<>V
�	�����!�$���3� �����?���=����3���:$ �%����� �%� ��+! �!�� �� �����

��3!%�'�� �3:%�%���3�$�&+��&$�2�&7����$%��$��� ��$!��#��$�� ��������&��"��������+!�������

�����$����!#$� ���%!%��3�'�������&���3���� ���$��� �%���%��B���!3�$��%����$������������!#$�

 �����%��&�!�$�%�2&����&�� �%!�$!"� ���� �%�����$��� ���!�����<(!��!����='�

�



� AE

��+�+��� '��,(�	����-�	�.(�����

�

+!(!(!+!��-.36,5-��5.��9,5/A.$,95-�

�

�$� ��� -!�&��� �'�C� %�� 3&�%���$� ��%� �&�+�%� ��������6%�!��%�  �� +������!#$� ����� ��%�

%��&�!�$�%���&�%�%� ����<���='��$������%���&� ����%��+���&$�� !%3!$&�!#$� ����9���$2��3��

��� ��$��$����!#$� ������  �� ��<���=� �&3�$��8� � �3:%� %�� �����!�� �$� �� �%� ��%� ��%�%� &$�

!$���3�$��� ����9�4�%���&$�� �����!#$��9N�U?'A'�	����$�!3�� ���%���+����� �!�$�� �&���� ���

����!�!���!#$8� ���� ��� *&�� ��� +������!#$� %#��� %��  �%������#� 4�%��� ��� �����!#$� �$��%�

3�$�!�$� �'�

�9N��

�9

1

1'1

1'0

1'/

D'?

� �'A � �'A ? ?'A
�9N��

�9

1

1'1

1'0

1'/

D'?

� �'A � �'A ? ?'A

�

�
1,83$�� +!+D'� �&�+�%�  �� +������!#$� ����� ��� %!%��3�� ��<���=.9?�� �� ?A

W�'� <b=� 1'DC<��.D=(Z� <[=�����
0'/D<��.D=(Z�<)=���'D?<��.D=(8�<�=��1'E/<��.D=(8�<c=��C'10<��.D=('�


�%�  ���%� ����$! �%�  �� ��%� +������!�$�%� ����$�!�3,��!��%� 2&���$� ��!3�$�� �%� ���



� A/

������3����	�
���������������2!$�3!�$��� ����%���$%��$��%� ���*&!�!��!�'�	���������%��

��3#��$���$%! ����!#$���$������%���!�%�3�$�3,�!��%������!3,�!��%� ����&�� ������*&!�!��!��

 �� ��� ��&��!#$� �'��'�
�%� ��%&��� �%� �����!�$� �%� ��$� ���3�7��� ��2!$�3!�$��� ����$! �� ����

��	�
������$��%��������7��%��3&�%���$��$�����������'��'��$������%���&� ����%��+���*&��

%���3�$��� %�� �& !���$�  ����3!$��� �%���!�%� 3�$�3,�!��%8� ��� �&��� ��$�&�� �� ��$� ��%�

�%�& !�%�����!"� �%���������%��&����%1C8�A�.A0'��$��&%�����P$������%'AA8��$��%�& !�%�����!"� �%�

�$� &$� !$���+����  �� �'��(≤H��<���=I≤�'A(8� � $�� �������$� ��� 2��3��!#$�  �� �%���!�%�

���!$&������%'�� �3:%8��%�!3�����$���%�J����8�*&�����3� ���� ����3!$� ���$��%��������7���%�

%!3!���� ��� 3� ���� ����&�%��� �$� &$� �����7�� �$���!��� ����!"� �� ���� �%��� 3!%3�� ��&���  ��

�����7�DE'� �� �� ��� �$���!��� 4���� ��$%��� �� ��$��&!�� *&�� $�� %�� �����$� �� 2��3��� �%���!�%�

���!$&������%�� &��$�����������%�� ��4! �#�!%!%� ����<���='�

!1

7R!1

R!

!7

7!1

7!?

1

��

9=�9<��
X

79=�9<���79!��


=β

+=+

+

+−

+−+

� � � � <��'��'��=�

�

��4 ��+!++!�>�����%� ����%���$%��$��%� ��2��3��!#$���������3�7�����2!$�3!�$��� ����3!$� ��
���� ��� ������3�� ��	�
����� �� ����!��  �� !$2��3��!#$� ����$�!�3,��!���  ��� %!%��3��
��<���=.9?��<�U?A�d�=�
�

�%���!�%� .����Cβ� 	��:3����%��%�� 6%�!��%�

��<�9=?
^� C'�1�±��'�1� σ��U��'AA�0�

��<�9=1� ��'0?�±��'��� ���U�/?'DC�

(χ2)  = 62.75 
��1A�� ���%�%����!3�$����$�����	�
����'�����%+!��!#$��%�:$ �������������������2!$�3!�$������&3�� �����%�
��%! &���%�����&� �� �%� �������$�!��� ����� �'� ��4!.�&� �� ������������2!$�3!�$���



� 0�

�� ����!��  �� ��%�  ���%� ����$�!�3,��!��%� %�� ���"���$� ��%� �&�+�%�  �� ��� 2&$�!#$�  ��

2��3��!#$�<Y=�<��,$ !����=���3��2&$�!#$� ����9�<-!�&����'�E=� ����&�� ���� �����&��!#$�

�'�?�<*&��4��%! �� �%��!����3��!�3�$����������%���(�%3���=��%6���3������9������������!AE'�

����&� ����%��+���*&��$���B!%���&$�� ���$ �$�!�� ��Y��$� 2&$�!#$��� ��� ��$��$����!#$� ��

H��<���=I������ ��� �&��� �%� ��������6%�!���  �� %!%��3�%� �$� ��%� *&�� %���3�$��� �B!%��$� �%���!�%�

3�$�$&������%C8��%�����������%���%&��� �%�����$! �%���$����������3����	�
����'�

�

[ ] [ ] [ ]
[ ] 


 +−=

−−−

�����

�	�	

"�����

���#�

��	
$

=<

����
� � � ���<��'��'�?=�

�

D�

5$55�

5$65�

"$55�

"$65�

8$55�

8$65�

#$55�

#$5� #$6� .$5� .$6� 6$5� 6$6� 9$5�
�2�

D�

5$55�

5$65�

"$55�

"$65�

8$55�

8$65�

#$55�

#$5� #$6� .$5� .$6� 6$5� 6$6� 9$5�
�

1,83$�� +!+E'���:2!���  ��Y� ��3�� 2&$�!#$�  ��� �9������ ��� %!%��3�� ����<���=.9?�8� �����  !2���$��%�
��$��$����!�$�%�  �� H��<���=I�'<\=� 1'DC<��

.D=(Z� <c=� 0'/D<��.D=(Z� <•=� ��'D?<��.D=(Z� <[=� �1'E/<��.
D=(8�<�=��C'10<��.D=('�



� 0�

�

�%� 2&$�!�$�%�  �� 2��3��!#$� %�� �7&%����$�3� !�$��� ��� ��3�����!#$� ��:2!���  �� ��%�

2&$�!�$�%�Y�����$! �%��B���!3�$���3�$�������%� ����3!$� �%�������!�� �������&��!#$��'�18�

�$�  �$ �� ��%� 2����!�$�%� 3�����%�  �� ��3��$�$��� -!7� %��  ����3!$���$� ��$� ��& ��  ���

������3����3�&���!�$���(������<-!�&����'�/='��$�����������'�?�%��3&�%���$���%�+�����%�

 ����%���$%��$��%� ���*&!�!��!���3���� �%����������$�������7&%�����:2!���*&��%��3&�%�����$����

-!�&��� �'?�'� �%� !3�����$��� 4����� 3�$�!#$� *&�� ��%� +�����%� ����$! �%� 3� !�$��� �%���

����� !3!�$��� ��:2!��� %�$� %!3!����%� �� ��%�  ����3!$� �%� ���� ��� ������3�� ��3�&���!�$���

��	�
����8�����&���+��! ���$��!�����3� ! �����3� ����*&63!�����������%!%��3����<���=.

9?������&�%����$�����������'��'�

�

∑ ∑ 









 


=

! 7
!7-!

7
Y � � � � �<��'��'�1=�

�

5 $5

5 $8

5 $.

5 $9

5 $:

" $5

8 $6 # $5 # $6 . $5 . $6 6 $5
� 2

�4 �

�

1,83$�� +!+F!� �!����3��  ���!%��!�&�!#$�  �� -����!�$�%�3�����%�  �� ��3��$�$��� ����� �%���!�%�  ���
%!%��3����<���=.9?�'�<e=���1^8�<)=���<�9=?

^8�<∆=���<�9=1��



� 0?

�
��4 ��+!+&!���$%��$��%� ��2��3��!#$���������%!%��3����<���=.9?�� ����3!$� �%������7&%���
��:2!��� �����2&$�!#$�Y���$���& �� ��(������'�
�

�%���!�� �����ββββ�

��<�9=?
^� 0'EA.C'A��

��<�9=1� ��'��.��'CA�

���!$���+���� ����$��$����!�$�%��%�& !� ��2&�� ��1'DC<��.D=(≤H��<���=I≤�C'10<��.D=(�

�
�

�2

D

&�(

5$5

5$6

"$5

"$6

8$5

8$6

#$5

#$55 #$65 .$55 .$65 6$55 6$65 9$55

5$5

5$6

"$5

"$6

8$5

8$6

#$5

#$55 #$65 .$55 .$65 6$55 6$65 9$55 �2

D

&�(

�2

D

&�(

5$5

5$6

"$5

"$6

8$5

8$6

#$5

#$55 #$65 .$55 .$65 6$55 6$65 9$55

�

1,83$�� +!&''� ��:2!���  �� Y� ��3�� 2&$�!#$�  ��� �9� ����� ��� %!%��3��  ����<���=.9?�8� �����  !2���$��%�
��$��$����!�$�%� ��H��<���=I�'�
�%��6$��%���$�!$&�%������%�$��$���%�%!3&���!�$�%� ��Y� ����3!$� �%���
����!��  ���3� ���� ����$! �� ��$���	�
���������� �%��� %!%��3�8�3!�$���%� *&�� ��%�3���� ���%� <+=�
�����%�$��$� ��%� Y� �B���!3�$����%'� <�=� H��<���=I�U0'/D<��

.D=(Z� <�=� H��<���=I�U��'D?<��
.D=(Z� <�=�

H��<���=I�U�1'E/<��
.D=(�

�



� 01

�

�

+!(!(!&!!��-.36,5-�	5�639.,/A.$,95-�

�

��� �2���&���$�+������!�$�%� ��$ &��!3,��!��%�  �� %��&�!�$�%� ��&�%�%� ����<���=8� ��%�

�&���%�%�� �%���������$�4�%����$��%� ������$"���&$�������!#$��9N��<���=U?'A����*&�� �%�&,%�

 �� �%��� �!�$�� �&���� ��� ����!�!���!#$'� �$� ��� -!�&��� �'?�� %��3&�%���$� ��%� �&�+�%� ����$! �%8�

��%��+:$ �%�� *&�� �$� &$� !$���+����  �� 1'?<��.D=(≤H��<���=I≤�0'�<��.D=(� ��%� �&�+�%�

���%�$��$�&$���3�����3!�$���3&��%!3!������$!,$ �%��&$�� !%3!$&�!#$��$������$ &��!+! � �

��$2��3�� %��+�� ����!"�$ �� ���4! �#�!%!%� ��� �&��� %�� ������*&�� ��� �%���!����� �3!$�$��� �%�

��<�9=18�����&������$����%����������$���!�$��&$���������!#$��������$ &��!+! � � ���%!%��3�'�

	���� &$�� ��$��$����!#$�  �� ��<���=� �'��(� %�� ��%��+�� ���� ��� ��$����!�� &$� ��*&�J��

!$���3�$��� �������$ &��!+! � '�

�
��� ����!"#� ��� �7&%�����:2!��� �� ��%� ��$ &��!+! � �%�����$! �%� �B���!3�$���3�$�����

��%��%�!3� �%���$���%���$����3� ����*&63!�������&�� ��������	�
�����<�������'��=���%�

�&���%� 2&���$�  ����3!$� �%� 3� !�$��� ��� ��&��!#$� �'�D'� 
�%� 2����!�$�%� 3�����%�  �� ��%�

�%���!�%� ����<���=�%������&����$���$���& �� ���������3��(�����8������$��$����!#$� ��

��^�%������&�#���$���%���$������$�! � � ��4! �#B! �� ��%� !�������� �8������$��$����!#$� ��

��1
.�%���%�!3#��$������!#$��������$�! � �!$!�!��� ����<��1=1�����%���$��$����!�$�%� ��9

^���

�9.�%�� ����3!$���$�������!�� ����9��B���!3�$���'�
�%����2!�!�$��%� ����%���$ &��!+! � �%�

�*&!+���$��%�������� ���%���!��<λ=�%���%�!3���$�3� !�$���!�����!#$�<�������'�1=�

�

�



� 0D

�

�

�'�

�'?

�'D

�'0

�'E

�'�� �'A� �'�� �'A� ?'�� ?'A�

@2E4�

κ
� &


B
E�


(

&�(

8$5

8$6

#$5

#$6

.$5

.$6

5$5 5$6 "$5 "$6 8$5 8$6 #$5

κ
� &


B
E�


(

&�(
@2E4�

�

�

�

�

�

�'�

�'?

�'D

�'0

�'E

�'�� �'A� �'�� �'A� ?'�� ?'A�

@2E4�

κ
� &


B
E�


(

&�(

8$5

8$6

#$5

#$6

.$5

.$6

5$5 5$6 "$5 "$6 8$5 8$6 #$5

κ
� &


B
E�


(

&�(
@2E4�

�

�

�

�

�

�

�
1,83$��+!&+'�>������!�$�%���$ &��!3,��!��%���������%!%��3����<���=.9?�'�
�<�=�<�=�H��<���=I��U1'?<��

.D=(8�<?=�H��<���=I��U0'D<��
.D=(8�<1=�H��<���=I��U/'0<��

.D=(8�<D=�H��<���=I��
U�?'E<��.D=(8� <A=� H��<���=I�U�0'�<��

.D=� <�=� H��<���=I�U�'��('� 
�%� �6$��%� �����%�$��$� ���
��$ &��!+! � � �%�!3� �� �3����$ �� ���3� ���� ����$! �� �$� ��� ������ ?'�?� ����3� !��  ��� ������3��
��	�
����'�
�%�3���� ���%������%�$��$���%�+�����%� ����$ &��!+! � ��B���!3�$����%�
�

�

[ ]
[ ]∑ −−

−+−+

λ
+


λ+


λ+λ+


λ=κ −+−+

�����=�9<��=�9<��

�991����

=���<��-"

�9"9"��"��"

R!1

R!

R!1

R!

�� <��'��'�D=�

�

�

�

�



� 0A

�

�

�

��4 ��+!+(!�>�����%��%�!3� �%� ����$ &��!+! � ��*&!+���$������������7&%��� ����%��&�+�%� ��
+������!#$���$ &��!3,��!��%���������%!%��3����<���=.9?�'�
�

�!%��3�� �%���!�%� λ N3���3?��*&!+���$��.��

�

��<���=.9?��

��1^�

��<�9=?
^�

��<�9=1�

��^�

��1
.�

1C.A?�

�A.?��

��

D�.A��

A�.C��

�

�$����-!�&����'?��%��3&�%���$���$��6$�����$�!$&����%���$ &��!+! � �%� ����3!$� �%�

��$� ��� 3� ����  �� ��	�
����� �� ��$� 3���� ���%� ��%� ��$ &��!+! � �%� �*&!+���$��%�

���!%��� �%��B���!3�$���3�$����B!%���&$��� ��&� ��%������%!�!#$��$����,%��%�8�����&���$�%�

 �����&3�$��%�������%�������������+��! �"� ���3� ����*&63!�������&�%����$�����������'��8�

��� *&�� �%��� $�%� ���3!��� �B��!���� � ��&� �3�$��� ��� ��3�����3!�$���  �� ��%� �&�+�%�

��$ &��!3,��!��%� ��%��+� �%'� 	��� ����� �� �8� ��3�� ��� %�� 4��6�� ������� �� �$���!��3�$��D1�

 !�4��3� �����B��!�����3�!,$������3�����3!�$��� ����%��%������%� ��
(�� ��C���� &��$���

��� �����%�� ��4! �#�!%!%8� %!$� �3������ ��� ����!"��!#$� ��&$� �%�& !�� �&�$�!���!+������� C���.


(�8���3��%�� ��2���&#��$������%�� ���%!%��3����<���=.9?�8�$���%���%!���� ���+������������

 ��! ����*&���������$�!#$� �� !+��%�%�:���%8�����������!�$����%���$���%��%���!�%�*&63!��%8���

����!��  �� ��%� %�J���%�  �� �%��%� �%������%� �%� %&3�3�$��� ��3��!�� �� ���� ��� �$�4�� �� �����

 �2!$! �%�*&��%���!�$�$��%��%8�� �3:%� ��*&���$�&$��3��!��!$���+���� ���9�$��%���!�$��%�J���

���&$�8�����&��� !2!�&����6���O$�3:%���������3!�$����&�$�!���!+��

�



� 00

�

+!(!0!�	��	���������

�

��� �����%�3!�$���  �� ��� !$2��3��!#$� ����$�!�3,��!��� $�%�  �� ��3�� ��%&��� �� &$�

3� ������������%!%��3����<���=.9?���$����*&��%���3�$���%���2��3�$�4! ��B�.��3���7�%� ��

��<���=�  �� �!��� 3�$�$&������ <������ �'��='� �!�4�� 3� ���� 2&�� +��! � �� 3� !�$��� ���

 ����3!$��!#$�  �� ��� 2&$�!#$�  �� 2��3��!#$� <Y=8� � �3:%�  �� *&�� ���3!��� �B��!����

%��!%2�����!�3�$��� ��� ��3�����3!�$���  �� ��%� �&�+�%�  �� +������!#$� ��$ &��!3,��!��%� �����

�%��� %!%��3�'� ��� ��$%! ���� *&�� ��%� ��%&��� �%� *&�� %��3&�%���$� �$� ��� ���%�$��� �����7��  �$�

�+! �$�!��%&2!�!�$����������$%! �����+:�! �����3� ����*&63!������%�$�� ���$�����������'��8�

��� *&�� �%��� ��%� �� $�� %#��� �$� &$�� �,�$!��� �B���!3�$���8� %!$�� *&�� ��� 3� ���� ����&�%���

�B��!��� %��!%2�����!�3�$��� ��� ��3�����3!�$��� �B���!3�$���� ��%��+� �� �$� ����$�!�3���6�8�

��$ &��!3���6������� ����3!$� ���$�
(�DE'�

�

�

��/��������	��)�����
����

�

��/����	������������

�

	�������3�$��� ����%����3�$��%� �����&�����������*&��4�����!�! ��3�$������$�!#$�

%���������%�& !�� ����%��%���!�%�*&��%���&� �$�2��3����$���������%�� ��4! �#�!%!%��$�%��&�!#$�

��&�%���%����!$ !�<���='��B!%��$�3&������%��%�& !�%�%�������%��%���!�%���%&%���$%��$��%� ��

2��3��!#$���%��&���%��$�%&�3����6���������$����2��3��!#$� ���%���!�%�3�$�$&������%�*&��



� 0C

+�$� �% ������%��*&!�3���6��<�8�=�4�%������<�8D=8��%6���3�������%!����2��3��!#$� ���%���!�%�

���!$&������%� �&��� �%��*&!�3���6�� $�� �%��� �!�$�  �2!$! �� ��� *&�� %�� 4�� ����&�%���  �% �� ���

��%!����2��3��!#$� ��&$� 63����4�%������ ��&$������3���8�%!$�*&��$!$�&$�� ���%��%�*&� ��

�����3�$��� ��&�! � �� 4�%��� ���3�3�$��'�� �3:%8�3&�4�%�  �� �%��%�3� ���%�  ���$�  �� ��%�

�J�%��!$�&�$��%���%�%�$��%��������*&��%���&� ��%&��$���*&��*&!":%���$�����%��%��*&!�3���6�%�

 �� ��%� �%���!�%� *&63!��%8� �%6� ��3�� %&%� ��$%��$��%�  �� 2��3��!#$� 2&���$� ��������3�$���

 ����3!$� �%� ���� 3,�� �%� ��:2!��%'� 
�� �$���!��� $�� ��%��� !3�����$�!�� �� ��%� �%�& !�%8� %!$�

�3�����8����3!�����$%���*&���%��%�$��%������!"���$���$��������!%!#$�� ��&� �'��$����������

�'�D�%��3&�%���$����&$�%� ����%�3� ���%�������� �%���������%!%��3���$<���=.9?���$����*&��

�&� �$������!��%��$��%#������ !+��%! � � ��3� ���%�%!$����3�!,$���� !$��$%!%��$�!��*&��%��

�!�$�� ����� ��%� +�����%� ������� �%�  �� ��%� ��$%��$��%�  �� 2��3��!#$� �O$� ����� &$�� 3!%3��

�%���!�'�

�
��4 ��+!+0!�(� ���%� ����$%��$��%� ��2��3��!#$�����&�%��%���������4! �#�!%!%� ���$<���=�
�

�


���������

��������

��������

�

�


�� �ββββ!�
�

�"#�$��


�%%���!�-'���
�%%���!�9'A/� �$<�9=?^�

�$<�9=?
^�

D'D�

E'E�

	���$�!�3���6��

�!� ��3�$$��'8�
!��'8�S&�5'�0�� �$<�9=?^�

�$?<�9=?
1^�

0'/A�

��'�A�

	���$�!�3���6��

�

�

���%��'-'���(�%3���
'�'���

�$<�9=?^�

�$<�9=?
^�

�$<�9=1�

�$<�9=D
.�

�$1<�9=D
A^�

D'���

C'E?�

�?'D��

??'�C�

A'E?�

�

	���$�!�3���6��

�



� 0E

��4 ��+!+0�(� ���%� ����$%��$��%� ��2��3��!#$�����&�%��%���������4! �#�!%!%� ���$<���=�
<��$�!$&��!#$=�
�

�"!"��'���
�����'�0�� �$<�9=?^�

�$<�9=?
^�

/'A/�

�/'D1�

�!%���%!#$�

�!� ��3�$$��'8�-���!��'0?� �$<�9=?^�

�$?<�9=?
1^�

�$D<�9=0
0^�

D'?1�

A'?C�

�1'C/�

�

	���$�!�3���6��

���P$�	'8����!%�5������+��
'01� �$<�9=?^�

�$?<�9=?
1^�

�$D<�9=D
E^�

D'1��

/'11�

C'1?�

�

�����������	
��

�

�

��/�����%&�'�����	(�

�

+!0!&!+!��-.36,5-��5.��9,5/A.$,95-�

�

� ���&�!�$�%���&�%�%�� ���$<���=� �$���� ��&$�!$���+���� ��?'��)���.1�(�����'��)���.1�

(�������!�� ������&��� ��!$ !��<�!�3��//'///T=�2&���$�������� �%'��$������������!#$� ����%�

%��&�!�$�%� %�� �3����� ��&��  �%!�$!"� �� ��  �%�����$��� ��  �� �!��� �� < �%!�$!"� ���

(!��!����='�
����$��$����!#$��$��6�!��� ���$�<���=�%�� ����3!$#���3���7�3,��!��3�$��AC'�

�


��+������!#$� �� ���3�$�%� �%�3&�%���%�  �� �� �� %��&�!#$� 2&�� ���+� �� �� ����� ��$�

%��&�!�$�%� �%��$ ��!"� �%�  �� 4! �#B! ��  �� %� !�� �!���%�  �� �����$���%� <������� �%�  ��

��&�� �������!$ !�� ���$����%���!#$��'�'?'�=8��$��� �%���%���%�%�%�����!%�����$����3�$�%�0��

 ���%� ���� +������!#$'� 
�%� +��!��!�$�%�  �� �9� ��  �� ����$�!���  &��$��� ��� +������!#$� %���

3! !���$��3����$ ��&$��9.3�����(����������� ��<∆�9�U��'���=8��3����$ ��&$�������� ��



� 0/

 �� +! �!�� ��3�!$� �� ��$� ��2���$�!�� !$���$��  ����N����<%=Z� �2���&�$ �� ��� ���!����!#$�  ���

�*&!��� ��$� %��&�!�$�%� �&22���  �� ��2���$�!��  �� �9UD'��A'� �� �%� ��%� +������!�$�%� %��

����!"���$�3�$��$!�$ �������3�����&�����$%��$�����?A'��°��<∆��±��'��°�=�����3� !�� ��&$�

��J��<>V
8�3� �����?���.��8�=����3����$ ����� �%� ��+! �!�� �� �������3!%�'��$�2�&7��

��$%��$���  �� $!��#��$��  �� ����� �&��"�� %�� 4!"�� ��%��� �$� ��%� %��&�!�$�%8�  &��$��� �� �%� ��%�

�B���!3�$��%� ������$�!�3���6�8���$����2!$��! � � ���+!������������$����!#$� ���%!%��3��

�

��/��������#�$����$��'���)�)������ )"#����������*��'����

�

� ���&�!�$�%���&�%�%� ���$<���=��'��(�2&���$�������� �%�������!�� ������&��� ��!$ !��

<�!�3�� //'///T='� 
�%� %��&�!�$�%�  �� �$<���=� %�� 4! ���!"���$� ��$� &$�� %��&�!#$� ��&�%��  ��

4! �#B! �� ��%� !���%��$ ��!"� ��4�%�������$���&$�������!#$��9N(� ���'�A�*&���%�������!��

 ������&���������:3����� ���9���3!�$"�������%�$����!$�%���!�! � ��$�2&$�!#$� ����!�3��'��$�

�� �%���%���%�%���%�+�����%� ���9��� ������$�!���2&���$����!%��� �%���&$����3�����&��� ��?A�

��'�

�

� (� !�$��� &$� �%������2���3����� � ��&R��� �().A��� %��  ����3!$���$� ��%�

�%������%�  �� 
(��  �� ��A�$� �� ?A� ��� �3����$ �� �$<9?�=0
1^� ��3�� ��2���$�!��  ��

 �%���"�3!�$���*&63!��8����2���&�$�!�� ���B�!���!#$�&%� ����������$O����� ��!$ !��2&��!�&���

����/'0��(9"'�

�

� 	�����������$�!#$� ����%��%������%8��$���%��%�& !�%� ��
(������!"� �%�������� �%���%�

���!�$�%�<��<���=8���<���=8��<���=�����$<���==�%��� !�!�$#��?������ ��%!%��3����$����2!$��! � �



� C�

 �� 2!7��� ��� %�J��� 3��$,�!���  �� ��3��� �B���$�'� ��� �����$��7��  �� !$����! &3���� ����� ���

 �%���"�3!�$���*&63!�����%��+� ��<T<∆δ�Nδ�==�$��2&��3���������T'��$� ��%���%�%��$�*&��

2&����%!����%������!"#���� ����3!$��!#$� ���:���������%��$ !�$������� ��%�J��8�3� !�$������

!$������!#$� �����%��$ !�$��� ����� ��� �&��� %�� �3���#� &$� �����$��7��  �� !$����! &3����

<T<∆�N�==� �$� &$� !$���+����  �� ?'�T� �� A'�T8� �&�$ �� %�� ���!��� ��� �����!�3��  ��

 ���$+��&�!#$� ����*&!��'��$��� �%���%���%�%�����������������!#$� ��%��&�!�$�%����������%�

�B���!3�$��%� %�� �3���#� ��&��  �%!�$!"� �� ��  �%�����$��� �� �!��� �� <(!��!����='� 
�%�

%!%��3�%�%���&��&7����$���$�$!��#��$����$����2!$��! � � ���+!������������$����!#$'�

�

��/�+��� '��,(�	����-�	�.(�����

�

+!0!(!+!��-.36,5-��5.��9,5/A.$,95-�

�


��4! �#�!%!%� ��%��&�!�$�%� �� !$ !�<���=�$�� ��%&���� 2:�!�� �� ����!"������*&�8� %!��!�$�%��

�!�$��&$��"�$�� ���9��$����*&���%������:3�������%��%�����8� �%�&,%� ������B!3� �3�$���

&$�� �����!#$��9N(�U�'�A� ��3!�$"�� �� ��%��+��%�� &$��  !%3!$&�!#$�  ��� �98� %!�$ �� ���

3� !�!#$� ���%��� !26�!������ ��� 2����� ���%���!�! � ��$� ��� ����&��8��%�����3�����3!�$���

�&� �� %���  ��! �� �� ��� ��%!���� ����!�!#$�  ��� ����!�!�� ��  �� 4! �#B! ��  �� !$ !�'� �$� ���

-!�&����'??�%���&� �������!�������&�+��� ��+������!#$���������4! �#�!%!%� ��&$��%��&�!#$�

 �� !$ !�<���=�  �� ��$��$����!#$� �'��(� ����!"�$ �� ��%� ����&��%� �� !$���+���%�  �� �!�3���

 �2!$! �%� �����3!$&��%8�%���& ����$%������*&���B!%�6�� ����� &�!�!�! � ��$� ��%��&�+�%�

����$! �%8� %!$� �3������ ��� ��3�����3!�$��� ��%��+� �� �� 4�%��� �4���� $�� ������� ��

�����%�$��� &$��  !2!�&��� � ����� ��� �����%�3!�$���  �� ��� !$2��3��!#$� ��$� ��� ������3��



� C�

��	�
����'�

���%� �� (�%3���� �������$� *&�� ��� ����!�!���!#$�  ��� 4! �#B! ��  �� !$ !�� ��&���� �$�

�����!�$�%�3�����%�3�$���%����'C8�%!$��3������$���%���!2!��$����+���������!%�� ���%��'��$�

�%��������7����3�$ ����3��4!�#��%!%�������$��� ���������%���(�%3����8��%� ��!����$%�$ ��

*&�� ��� ����� �%���!�! � � �� ���  !%3!$&�!#$�  �� �9� %�� �& !�%��  ����� �� 2�$#3�$�%�  ��

����!�!���!#$� %�� ����!"#� ���  ����3!$��!#$�  �� ��%� �%������%�  �� ��%���!#$� �����  !2���$��%�

��� �%� ��4! �#�!%!%� ��!$ !�8�%!$��3�������$�����%�$���%���%!�����+! �$�!����������!�!#$� ��

���O$� ����!�!�� �8�  � �� *&�� $�� %�� ��%��+�� &$� !$���3�$��� �$� ��� �����!#$� %�J��N�&! �� *&��

%&�!���� ��� ��%!����  !2����!#$� �� ��2��B!#$�  �� ��� �&"� �$� ��%� �%������%� ����$! �%�  ��! �� ��

����6�&��%��$�%&%��$%!#$�<-!�&����'?1='�

�

#$5

#$8

#$.

#$9

#$:

5$5 "$5 8$5 #$5 .$5 6$5
�9N(

�9

#$5

#$8

#$.

#$9

#$:

5$5 "$5 8$5 #$5 .$5 6$5
�9N(

�9

�

1,83$��+!&&'��&�+�� � ��+������!#$������ ���4! �#�!%!%� ��&$��%��&�!#$� �� !$ !�<���=� ��



� C?

��$��$����!#$� �'��(� ����!"�$ �� ��%� ����&��%� �� !$���+���%�  �� �!�3���  �2!$! �%�  �� ���
3!$&��%'�

�

#
6
5

#
.
#

#
#
9

#
8
 

#
8
8

#
"
6

#
5
:

#
5
"

8
 
.

8
:
7

8
:
5

8
7
#

8
9
9

8
6
 

8
6
8

8
.
6

8
#
:

8
#
"

#$#"9

#$689

#$9#6
5

5$8

5$.

5$9

5$:

"

"$8

"$.

"$9

%
�
�
�
�
�
�
�
�


�

��&�
(

�2

�
1,83$��+!&('��%���������3�� ����%���!#$������ !2���$��%���� �%� ��4! �#�!%!%�<�'�≤�9N(≤?'A=� ��
&$��%��&�!#$� ���$ !�<���=��'��('�
�

� ���4�����&$���3��!��!#$��$� ����%����� �� ��%��%������%� ����%���!#$���������6%�!��%�

�������������%�� ��4! �#�!%!%8�4�%����$��%� ��*&����&�������!$�%���!�! � � ����9�<-!�&���

�'?D=��%���%!���������!���*&�������$ �� ����%���!#$���$�&$�3:B!3���$�?CE�$3����%�$���

&$� !$���3�$��� �$� %&� ��%���!+! � � ��$2��3�� ��� �9� ��� %!%��3�� %�� !$���3�$��8� ��� �&���

%&�!����*&���$����%!%��3����&������������%�� ��4! �#�!%!%���������$%2��3��!#$� ���%���!�%�

*&63!��%'�

�



� C1

5

5$58

5$5.

5$59

5$5:

5$"

5$"8

895 875 8:5 8 5 #55 #"5 #85

λN<$3=

�
�%
��
��
$�
!�

5

5$58

5$5.

5$59

5$5:

5$"

5$"8

895 875 8:5 8 5 #55 #"5 #85

λN<$3=

�
�%
��
��
$�
!�

�


���	�������� 1��	������ �	�������
��� &	������ �
��
���(� �	� '�&'''(� ����� �
�	�	��	��

��������	��
����
�
��&F(���2G#$#"9A��&@(���2G#$.# A��&H(��2G#$685A��&I(���2G#$696���&•(��
�2G#$6:8���&J(��2G#$6 #$�
�

�

� ;���
�	������ ��� ���	�
��� �	� �	�	�

������ � ���� ������� �	� �
����
�
�� �����

�����
��	���	�
��
�&'''(�	�����
��	�������	�5$5≤@2E-≤5$":$�/	���0���	�	��	����

��

����������	�������	��2���

	�,�����	��
�	�����	������
�

��
�$�1�����*
�����"$86��	�

���	�������������������	�
�����	��	������	���	�	����	�
�������
�	���
���	
	�����	��

�2�������
	�	���������	��
����
�
����
	���$�

�



� CD

#$"

#$8

#$.

#$6

#$7

5$55 5$5. 5$5: 5$"8 5$"9 5$85

����

�
�

�

1,83$��+!&B��&�+�%� ��+������!#$������%��&�!�$�%� ��!$ !�<���=�
�


�%�  ���%� ����$! �%�  �� ��%� +������!�$�%� ����$�!�3,��!��%� 2&���$� ��!3�$�� �%� ���

������3����	�
���������������2!$�3!�$��� ����%���$%��$��%� ���*&!�!��!�'�	���������%��

��3���$� �$� ��$%! ����!#$� �� �%���!�%� 3�$�3,�!��%� �� ���!3,�!��%� �$� �����!#$� ��$� ���

�*&!�!��!�� �������&��!#$��'�A�

!1

7R!1

R!

!7

7!1

7!?

1

�$

9=�9<�$
X

79=�9<�$�79!�$


=β

+=+

+

+−

+−+

� � � <��'��'�A=�



� CA

�


�%�3�7���%�3� ���%�����$! �%�����������2!$�3!�$��� ����%� ���%�%��3&�%���$��$����

�������'�D8��$������%���&� �������!���*&������%�� 6%�!�������$! �����������%��%�%!3!���8�����&���

$��$�%����3!�������!"������ !%��!3!$��!#$�� ��&� �� ����%�3� ���%'�

�

��4 ��+!+0�>�����%� ����%���$%��$��%� ��2��3��!#$��������%���2!$�3!�$��%�����$! �%�������!��
 �� ���%�����$�!�3,��!��%������%� �%���$���	�
�������������%!%��3���$<���=.9?�

�'�
�

(� ����
�

�%���!�%�
.���Xβ�

	��:3����%�
�%�� 6%�!��%�

�
��

�
�$<�9=?^�
�$<�9=1�

�
D'C�E�±�'�0/�
��'E?0�±�'�1D�

 
σ��U�D'0�1�
χ?��U�C'?A�

�

�
?�

�
�$<�9=?

^�
�$<�9=D

.�

�
E'��0�±�'�1A�
�A'/�/�±�'�DE�

 
σ��U�D'0D0�
χ?���U�?'/D�

�

�
1�

�
�$<�9=?^�
�$1<�9=D

A^�

�
D'1AE�±�'��A�
��'/?��±�'��0�

 
σ�U�D'0A��
χ?���U?C'0A�

�

��
�2!$�3!�$�������!"� ����$�?E�� ���%� ����%�+������!�$�%�����$�!�3,��!��%'�����%+!��!#$��%�:$ ��������������
�����2!$�3!�$������4!.�&� �� ������������2!$�3!�$��'�
�

�

� ��$� ��� 2!$��! � �  �� �� ��� �%��������� ��� 3�7��� 3� ���� *&63!��8� ����� ��� %!%��3��

�$<���=.9?�8�������!�� ����%� ���%�����$�!�3,��!��%�%�� ����3!$���$���%�+�����%� �����2&$�!#$�

 �� 2��3��!#$�� <Y=� <��,$ !��� �=� '� �$� ��� -!�&��� �'?0� %�� 3&�%���$� ��%� �&�+�%�  �� Y� ��3��

2&$�!#$�  ��� �9�  ��� %!%��3�8� �$� ��� �&��� %�� �&� �� �����!��� *&�� ��� 2&$�!#$�  �� 2��3��!#$�

���%�$��� &$� ��3�����3!�$��� %!3!���� �$� �� �%� ��%� ��%�%'� �!$� �3�����8� �B!%��� &$�

 �%���"�3!�$��� �$� 2&$�!#$�  �� ��� ��$��$����!#$� ������  �� �$<���=� ��� �&��� %&���� %���

��������6%�!��� ����� %!%��3�%� �$� ��%� �&���%� �B!%��$� �%���!�%� ���!$&������%'� 
�� �$���!��� $�%�



� C0

���3!��������$���*&�����3�7���3� ����*&63!����%��*&����$����*&��%�������$�����2��3��!#$�

 ����%��%���!�%�<�8�=���<18D=��$����!$ !����4! �#B! �'�

�

�'�A

�'�

�'�A

�'?

�'?A

�'1

�'1A

1'?� 1'?A 1'1� 1'1A 1'D� 1'DA 1'A� 1'AA 1'0�

;�

�

�

1,83$��+!&C'���:2!��� ��Y� ��3�� 2&$�!#$� ��� �9������ ��� %!%��3�� �� �$<���=.9?�8������ !2���$��%�

��$��$����!�$�%� ��H�$<���=I�'��<�=��'��?(Z�<•=��'��D(Z�<[=��'��0(Z�<)=��'��E(Z�<c=��'���(�
�

+!0!(!+!��-.36,5-�6������

�

� 
�%��%������%� ����A�$������ �%� !2���$��%���� �%� ��4! �#�!%!%�<�9N(�U��'�8��'0����

�'D�=�%��3&�%���$��$����-!�&����'?C8��$������%����3����$� !�4�%��%������%���$��������$! ��

����������2���$�!�� ���$<9?�=0
1^���3���&� ����%��+��%�����%�J������!%��� ���%�3&���$�4�8�



� CC

���*&���%�����3���$ �� �% ������B!3� �3�$��� .�����3��4�%��������38������$�����3!���

�����!��� ��%� ��%!���%�  !2���$��%� ���3���6�%�  �� ��%� $O����%�  �� !$ !�<���=� �$� ��%�  !2���$��%�

�%���!�%'� 	��� ����� �� �� $�� %�� ��%��+�� ��3�!�� ��  �%���"�3!�$��� ���&$��  �� ��� %�J��� �$�

�����!#$��� ��� ��2���$�!���3���� �'�
���$���!���$�%����3!����%���������*&���$��%�����%�� ��%�

%�J���%�  �� ��%�$�$�!�� 3��$,�!��� $&������ $�� ���3!��$� ��$��� �+! �$�!�� ��$�&$ �$��� �����

�� ��� �%��������� *&�� �!���  �� �%���!�%� %�� �& !���$� �%���� 2��3�$ ��  &��$��� ��� �����%��  ��

4! �#�!%!%� ��%��&�!�$�%� ��!$ !�'��

D�� 1�� ?�� ��� ��� .��� .?�� .1�� ��3

�9N(U�'D8��9U1'AC

�9N(U�'��8��9U?'?D

�9N(U�'0�8��9U1'1/

�

1,83$��+!&D'��%������%� ��
(�� ����A�$����������%!%��3���$<���=.9?�'��H�$<���=IU�'��(�

�

�

�



� CE

+!0!0!�	��	���������

�

� ��$���%���$� ��%� ��%&��� �%����$� ��� !$2��3��!#$�����$! ���$�����%�& !�� ��� %!%��3��

�$<���=.9?��%���&� ���%���������*&���%���%!%��3���!�$��&$������%�� ��4! �#�!%!%�%&3�3�$���

�:�! ������3���7�� ���%�& !��'��������#� ����3!$�����$���%���$���%� ���%�����$�!�3,��!��%�

*&��  �%�&,%�  �� &$�� �����!#$� �9N(≥�'�A� ��� �9�  ��� %!%��3�� �%� !$�%������ �� �!�$�� &$�

��3�����3!�$��� 3&�� ����!�&���� ��� *&��  !%3!$&��� ��$2��3�� %�� ��� � !�!�$�� 4! �#B! �� ���

%!%��3�'�
���$���!���%&�!����*&�� �%�&,%� ���%��������!#$��!�$���&���������%!����2��3��!#$�

 �����O$�4! ��B�.����!�!�� �� ��!$ !����3����������$�$����%���(�%3����'��

�

�$��%��������7��%������#� ����3!$������%�3� ���%�*&63!��%���%!���%���������%!%��3�8�

��%��&���%����%�$��$�&$���%�� 6%�!���%!3!���8���$�����&���%��4���� !26�!����� ����3!$����$����

����%����3� ����3:%���������'��!$��3�����8��$�����%�& !�� �� ���2&$�!#$� ��2��3��!#$�<Y=�

����!"� ��%�� ����3!$#�&$���3�����3!�$��� %!3!���� �����%��+� ���$��*&����%� %!%��3�%�*&��

���%�$��$��$�%&������%�� ��4! �#�!%!%����2��3��!#$� ���%���!�%����!$&������%8��������*&��%��

�����$���$��%��������7��*&�����3� ����3:%�����������%��*&���*&�����+�������2��3��!#$� ����%�

�%���!�%� �$<�9=?^� <���� XβUD'1AE� ±�'��A=� �� �$1<�9=DA^� <���� XβU��'/?�� ±�'��0='� �!$�

�3�����8� �%���3� ���� $�� �& �� %��� +��! � ��3� !�$��� �%�& !�%�  ��
(�� ��! �� �� *&�� ���

%�J��� �%�  �3�%!� �� �$�4������� �+! �$�!��� ��3�!�%� �����3���6�� �$� ��%� ��%!���%� �%���!�%�

*&63!��%'�	��������$���%�������������%�����3����%!����3� ���8�%!$��� ��� �%������� ����� ��

��%�����%� �%�3� ���%���2!$� �%���$���	�
����8����*&���%���%!%��3�����%�$���&$�����$�

��3���7! � ��$� %&��%�& !�� ����&���$�����3!��� ��$��� ��� %&2!�!�$����+! �$�!���B���!3�$���� 8�



� C/

������� ��� %��� ��$�&$ �$��%� �$� ��������%!�!#$� ��&$�3� ����*&63!��� ����� ��� �����%�� ��

4! �#�!%!%� ���$<���=�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



� E�

	
����������
�

����������	
�
	�����
	�����������������
������
����)�

 �����*������*�&���
 �����*�������*�&����
 �����*
������*�&��

�
�
�
�
�
�

�������		����
�
�

�!��!�$� �$� ��� ���6�&��� �$���!��� %�� %�J��#� ��� !3�����$�!�� �� ��������!"��� �� ��%� �%���!�%�

*&63!��%�*&��%���2��3�$��$�%��&�!�$�%��3���� �%���������!3����$��!#$� �����!���%�*&��

%��&�!�!"�$���3�������!"� ���%'���3�!,$�%��3�$�!�$#�*&����%��%�& !�%�����!"� �%����%���

��%������ %�$� 3&�� ����%� ����� %!%��3�%� �!$��!�%� �� �$� 3&�4�� 3�$��� 3� ! �� %�� 4�$�

����!"� �������%!%��3�%����$��!�%'�

�

� 
�%� %!%��3�%� ���$��!�%��&� �$��%���� !3��6�!��%��$� !+��%�%�:���%� �� ��� �!�$�!���� ���

���$����6�8�%!$��3�������%��%�����%�+���%�%�$��%�& !� �%8� ��! ���������3���7! � �*&���%���

�����%�$��8� 3:%� �&$� ��%� �%�& !�%� ������� �%� ����� %!%��3�%� �$� ��%� *&�� %�� �!�$�$� ��  �%�

���!�$�%���&$��!��$���%�$�3&���%��%�%'�

�

� �$���� �%�������� ��%!%��3�%� �����!���%��!����� �%��3���� �%���3�������!"� ���%����

�$:�!%!%� ��%!%��3�%����$��!�%��&� ��� *&!�!���%���!���!$���,%'�
��!$������!#$� �� �%����!�$�%�

�&� ��%���!3�����$��� ��! ����*&�����3!��$�&$��3������B��%!�!#$� ����%�%!�!�%�:�! �%��%6�

��3����� � �%�������� ��$&�+�%�3����!���%�3�%�����%�%��������$�������� &���%��!����� �%�

��$�������%���!�! � ��,�3!��/8���8��?8�0D8�0A�'�



� E�

�$��%��������7��%������!"��&$��%�& !��%�����%!%��3�%����$��!�%��$���%�*&��%���!�$�����

���%�$�!��  �� ��&3!$!�<���=8� ��$� ��� 2!$��! � �  �� �������!�$��� !$2��3��!#$� %����� ��%!���%�

�%���!�%� *&�� �&� �$� %��� &�!�!"� �%� ��3�� ����&�%���%�  �� ��%� �%���!�%� *&�� �& !�%�$�

!3����$��%���$����!���%��3���� �%���3�������!"� ���%'�

�

������������	�	������

�����
����

�
�

��������%&�'�����	(�

�

�����������#�$����&�#�)����"#*������
�

��$��������#%!��� ���%���������%!��B!%���&$��!$������!#$��$���������<���=����<���=�%��

����!"#� &$� �%�& !�� ����$�!�3,��!���  �� %��&�!�$�%� ��$��$!�$ �� �� �3��%� ���!�$�%� �$�

��$��$����!�$�%� �*&!3�����%� <��<���=K�<���=� U� �K�=� �� ����!��  �� ��<��1=1� /9?�� <��R���

�$���"� 8�//'�T=��� ��91��1�<(���R�//'ET='�������������$��!$�����$��$����!�$�%� ����%�

%��&�!�$�%��$��%�3�$�!�$� �%�<�'��(����'�(='�

�

��%�3&�%���%����3�$�%� ���� ����$��$����!#$�2&���$�+����� �%8����!%���$ ��&$�36$!3��

 ��A���&$��%�����+������!#$8���$�%��&�!�$�%��%��$ ��!"� �%� ��4! �#B! �� ��%� !�'��$�

�� �%� ��%� ��%�%� %�� ���!%�����$� ��%� +��!��!�$�%�  �� �9� �� ����$�!��� ��$� &$� �9.3�����


� !�3����.���&%%��� 
	9D1��� <∆�9U� �'���=8� �3����$ �� ����� ����� &$� ������� ��  ��

+! �!�� ��3�!$� �� ��$� ��2���$�!�� !$���$��  ����N����<%='� 
�� ���!����!#$�  ��� �*&!��� %��

����!"#� ��$� %��&�!�$�%� �&22���  �� ��2���$�!��  �� �9UD'��A'� �$� �� �%� ��%� ��%�%� %��

3�$�&+����$%��$��������3�����&��� ���%!%��3����?AW��<∆�U�'�W�=���$���& �� ��&$���J��



� E?

<>V
8�3� �����?���.��=����3����$ ����� �%� ��+! �!�� �� �������3!%�'�� �3:%�%��

3�$�&+��&$�2�&7����$%��$��� ��$!��#��$�� ��������&��"��������+!������������$����!#$� ���

%!%��3�'�

�

	���������������!#$� ���� �%���%�%��&�!�$�%����$���� �%�������� ����%��B���!3�$��%�%��

�3�������&�� �%!�$!"� ���� �%�����$��� ���!�����< �%!�$!"� ���(!��!����='�

�

�

�����������#�$����$��'����

�

���&�!�$�%���&�%�%� ����<���=��'�K��<���=��'�(�2&���$�������� �%�������!�� ��

��<��1=1•/9?��<�!�3�����8�//'��T=��� ��91��1�<(���R�//'ET='��!�4�%�%��&�!�$�%�

2&���$�4! ���!"� �%����������$"�����������!#$��9N��<�'�≤�9N�≤�'A=8��%���%����$%!�&!#�����

3� !�� ��&$�����$���� !�!#$� ��%��&�!#$��%�:$ ��� ��4! �#B! �� ��%� !�8���7����!���!#$�

+!����%��������$��3!�$����!����'��$��� �%���%���%�%�����9� �����%��&�!#$�2&�����!%��� �'�

�


�%� �%������%�  �� 
(��  �� ����� �� ���� 2&���$�  ����3!$� �%� ���� 3� !��  �� &$�

�%�����#3����� ��&R��� �()A��� �� &$�� ��3�����&���  �� ?A'���'� ��3�� ��2���$�!�%�  ��

 �%���"�3!�$���*&63!���%���3������$���<9?�=0
1^����-1.�<�?9A=?���%��&�!�!"#��?��������

2!7��� ��� %�J���  �� ��3��� �B���$�8� ��� �B�!���!#$� �3���� �� ����� ��� ��%��  �� ?C��� 2&��  ��

�1�'1?(9"8�3!�$���%�*&�����������%���3�����&$���B�!���!#$� ���0�'D0(9"'�

�

�



� E1

�

�������������
���������	������

�

�����������#�$����&�#�)����"#*�����

�

�$����-!�&���?'��%��3&�%���$���%��&�+�%���������6%�!��%���������+������!#$� ���%!%��3��

��<���=.�<���=.9?���%��%� �B4!��$�&$� !$���3�$���$�������  ��� �9���� !$!�!�� �� ��� +������!#$�

<4�%��� &$�� �����!#$� �9N(≤�'��=� �� &$� !$���3�$��� 3:%� �!�����  ��� �9� ��%���!��3�$��8�

��$2��3�� ��� +������!#$� +�� ������%�$ �8� �%��� �%� 4�%��� ����$"��� �9N(U�'?�

����B!3� �3�$��8������$�!3�� ����������!#$��$���!�����&�����������!�!#$� ��&$�����!�!�� ��

��$���������6%�!��%�26%!��%�%!3!����%�����%� �������!�!�� �� ����<���=�

�

8$6

#$5

#$6

.$5

.$6

6$5

6$6

5$55 5$85 5$.5 5$95 5$:5 "$55 "$85

�9N(

�9

8$6

#$5

#$6

.$5

.$6

6$5

6$6

5$55 5$85 5$.5 5$95 5$:5 "$55 "$85

�9N(

�9

�



� ED

1,83$��&!+!��&�+�%� ��+������!#$���������%!%��3����<���=.�<���=.9?����?A
W��<c=��'��(N�'��(Z��<�=��

�'�1(N�'�1(Z�<)=��'�A(N�'�A(Z�<�=��'�C(N�'�C(8�<b=��'��(N�'��('�

��2��3��*&�����%�$��$��%��%��&�+�%� ��+������!#$��%�3&��%!3!��������%� ���%!%��3��

��<���=.9?�'� �$� ��� -!�&��� ?'?� %�� �&� �� �����!��� &$�� ��3�����!#$� �$���� ��%� �&�+�%�  ��

+������!#$� ���%!%��3�����<���=.9?������<���=.�<���=.9?�������&$����$��$����!#$� ����<���=�

�'�('��$��3��%���%�%�%����%��+��������$�%!3!�!�& �*&���B!%����$������3�����3!�$�����:2!���

 ���3��%�+������!�$�%��$����!$���+���� ���'�≤�9N(≤�'/�'����!$���3�$����$���%�+�����%� ��

�9��$����+������!#$� ���%!%��3�����$��!���&� �� ����%�������4! �#�!%!%� ���:�! ���#�!���<+���

-!�&����'�='�

�

8$6

#$5

#$6

.$5

.$6

6$5

6$6

5$55 5$85 5$.5 5$95 5$:5 "$55 "$85 �9N(

�9

8$6

#$5

#$6

.$5

.$6

6$5

6$6

5$55 5$85 5$.5 5$95 5$:5 "$55 "$85 �9N(

�9

�

1,83$��&!&'���3�����!#$� ����%��&�+�%� ��+������!#$��������%�%!%��3�%���<���=.9?��<g=�����<���=.
�<���=.9?��<G=���?AW��<�$��3��%���%�%������$��$����!#$� ����<���=��%��'�('��



� EA

�


�%�  ���%� ����$! �%�  �� ��%� +������!�$�%� ����$�!�3,��!��%� 2&���$� ��!3�$�� �%� ���

������3�� ��3�&���!�$��� ��	�
����?D8� ?A� ��$� ��� 2!$��! � �  ��  ����3!$��� %!� �B!%��� &$��

��%!���� �%��!��!#$� *&63!��� �$���� ��� ��<���=� �� �<���=8�  �� ��&�� �� �� ��� ��&��!#$� ?'�'� �!$�

�3�����8�  &��$��� ��� �����%��  �� ��2!$�3!�$��� $�� 2&�� ��%!����  ����3!$��� ���&$�� �%���!��

*&63!���*&��!3��!�����&$����%!�����%��!��!#$�*&63!����$������%�3�����%��$��%�3�$�!�$� �%'�


�%� ��%&��� �%� ����$! �%�  ��� 3�7��� ��2!$�3!�$��� %�� 3&�%���$� �$� ��� ������ ?'�8�  �$ �� %��

��%��+��*&��%���3�$���%�����&+!���$���%���$%��$��%������!�$� �%���$���%�4! ��B���3���7�%�

 ����<���=� ���%��*&!�3���6���K�8��K18�1KD����1K1?��%6���3�������$%��$��� ��4! �#�!%!%� �����

�%���!�� �<�9=D
.'� ��� ��2!$�3!�$��� ����$! �� �$� � �%��� ��%��  �� +�����%�3&�� %!3!����%� �� ��%�

 ����3!$� �%��$� ��%�%!%��3�%� ��!$��!�%� ���<���=.9?������<���=.9?��<�����%��'?����'A� ���

���6�&��� �='� 
�� �$���!��� ���������� ��� �$:�!%!%� �&��!���!+�� ����!"� �� %����� ��%� �&�+�%�  ��

+������!#$�����$! �%� ���%!%��3�����$��!����%&�%�3�7�$"���$��&�$�������3�����3!�$�����$�

��%� +������!�$�%� ����$! �%� ����� ��<���=� <-!�&��� ?'?='� ��� ��2!$�3!�$��� %���3�$���  �� ���

��$%��$���  ��  !%��!��!#$�  ��� 3�$�3����  �� �<���=� %��  ���� ��������3�$��� �� *&�� �$� ���

!$���+���� ���9��$��!"� ��$���B!%���!$2��3��!#$�%&2!�!�$���*&�����3!��������2!$�3!�$��� ��

���&$���%���!�����!$&������ ������'�

�

[ ] [ ]
[ ] [ ]��

%%��

%��

��%

%��

%��



�

	�	

�

%	�	

��%	�
�
�

++

+−+

+−+++

=

+=++

11

=<1

=<1
?

11

=<
X

=<

β

� � <��'�?'�=�

�

�



� E0

��4 ��&!+�>�����%� ����%���$%��$��%� ��2��3��!#$���������3�7�����2!$�3!�$�������$! ����
����!��� ��� ���%������$�!�3,��!��%�������%� �%����$����	�
��������������%!%��3���
��<���=.�<���=.9?�'�

�%���!�%�
.���Xβ�

	��:3����%�

�%�� 6%�!��%�

��<�9=?^� A'���� σ�U��'C0E�
��<�9=1� �1'??��±��'�D� ��H�+C&+�

��1<�9=D
A^� �1'1���±��'�0� �

���1<�9=1?
C^� ��E'0���±��'�C� �

�<�9=1� ./'1���� �

��>�������$%��$��� &��$��������2!$�3!�$���

�

�����������#�$����$��'���

�

� ��� !�&��� *&�� �$� ��%� �%�& !�%�  �� ����$�!�3���6�8� ��%� %�J���%�  ��
(��$��3&�%���$�

�+! �$�!�����&$�� �� �����%!����!$������!#$��$���� ��%� !�$�%�3��:�!��%� ����<���=����<���=����

*&���$���%��%������%� ����%�$�$�!��3��$,�!��� ��?C����<-!�&���?'1=�%���&� �������!����$����

!$���+����  �� �'�≤�9N(≤�'�A� <?'C0�≤�9≤1'/?�=� &$�� %�J��� �$� �� ��3� ��� �&��� %�� 4��

 ����3!$� �������%��$ ����$O����%���$����3���6������, �!�����������6%�!��� ����%��%���!�%�

3�$�$&������%D?8� DE'��$���� !$���+���� ���'��≤�9N(≤�'/A�<1'?C≤�9≤1'AA�=�%�������!��&$��

%�J���*&������������$�&$� �%���"�3!�$���*&63!��� ������B!3� �3�$���A���3���*&��%��4��

�����!�$� ����$�����%���!�����!$&������ ����7����%��3����&������1<�9=D
A^�<+������6�&����=���

2!$��3�$�����$��'�A≤�9N(≤�'1��<1'D?1≤�9≤D'C?E=�%���!�$��&$��%�J����$�����B!3� �3�$���

01���3�*&��%��4���%!�$� ��������%���!�����1<�9=1?
C^'�



� EC

� 9 � �

� 4 � �

� � � �

1,83$�� &!(!� �%������%�  �� 
(��  �� ?C��� ����� ��� %!%��3�� ��<���=.�<���=.9?�'� H��<���=IU�

H�<���=IU�'��(�



� EE

�

� 	�������� �� �8� ��%� �%������%� �� ��%�$�$�!��3��$,�!���$&������ �� ����3�%�����$��$�

�� �%� ��%� ��%�%� &$�� %�J��� �$� �/� ��3� *&�� %�� �����!�$�� ��$� ��� :�! �� �#�!��?C8� �%��� %�J���

���3�$������$%��$��� &��$����� ����������%�� ��4! �#�!%!%� ���%!%��3�8�����&���$�%�%&�!����

*&��$���B!%��$���3�!�%����3,��!��%��$���%��%���!�%� ������'�	��������$��8���$%! ���$ ��*&��

��� ��3�!��  �� �9�  ��� %!%��3�� �%� ��*&�J�8� %�� �&� �� �%&3!�� *&�� $�� %�� ���+�� �� ����� ���

2��3��!#$� ����%��%���!�%����!$&������%� ���<���=��������*&���$��� �����!$���+���� ���9� ��

�����7����� �3!$������%���!�� ���<�9=1���3��%���&� �������!����$����-!�&���?'D�

�

5$5

5$8

5$.

5$9

5$:

"$5

5$5 8$5 .$5 9$5 :$5 "5$5 "8$5 ".$5

-�<���=

�9
�

1,83$��&!0'��!����3�� �� !%��!�&�!#$� ���%���!�%� ���<���=������&$����$��$����!#$� ������ ���'�(��

<=��<�9=1Z��<.�.=��<�9=D
.Z�<I=��?�<�9=A

.�Z�<)=��1�1<�9=D
.Z�<•=��A�0<�9=D

.'�
�



� E/

�

&!+!(!	��	���������

�

� 
�%��%�& !�%�����!"� �%���������%!%��3����<���=.�<���=.9?�����3!��$��%���������*&��

$�� 4��� �+! �$�!�� �B���!3�$���� %&2!�!�$��� ����� �����$��� ��� 2��3��!#$�  �� &$� ��3���7��

���$��!�� �$���� ��&3!$!�8� ����� �� !�$�%� 4! �#B! �'� ��� �&� �� �����!��� �$� ��%� �%�& !�%�

����$�!�3,��!��%�*&����%��&�+�%� ��+������!#$����%�$��$�&$���3�����3!�$���3&��%!3!�������

�*&����%� ���%!%��3����<���=.9?�'�������%�$���&$���%���!���!$���3�$��� ����9�����&���%��4��

���!�&! ���� ���4! �#�!%!%� ��� :�! ���#�!��'��� ��*&��$���%���%!���� %��&!�� ���+������!#$��$�

�����!�$�%�3�����%� ���9N(����*&��%�����%�$�������!�!���!#$��$����%!%��3�� ���$:�!%!%�$��

%�� �!�$�$�3:%�  ���%�  ��� ��3�����3!�$���  ��� %!%��3�'��%!3!%3�� ��$� �%��%�  ���%� %���� 2&��

��%!������� ��2!$�3!�$��� �� ��%���$%��$��%� �� 2��3��!#$� �� ��%���3���7�%��$������&3!$!����

4! �#B! �8��%6���3�������$%��$��� ��4! �#�!%!%� ���:�! ���#�!����������4! ��B�������'�

�

� 	���������� �8���%��%������%� ����%�$�$�!����$��� ��?C�����3�� ������%�$�%!3!����%���

��%� *&�� %�� �!�$�$� �$� ��%� %!%��3�%� �!$��!�%'� ��� 4����%�� 2��3� �� &$�� �%��!��!#$� �$����

��&3!$!���������%���%�����6��&$� �%���"�3!�$��� �����&$�������&$�%� ����%�%�J���%����!�$����

 �%����!�!#$� �����&$�� ������%��N���������!�!#$� ��&$��$&�+��%�J��'��!$��3�����8��%���$��

%&�� �8�����&�����$2!�3������$��%����$��� ��%������������$�!�� ��!$2��3��!#$��B���!3�$����

*&�� ���3!��� ��������� ��� 2��3��!#$�  �� &$� ��3���7�� ���$��!�� �$���� ��&3!$!�<���=.����<���=.

4! �#B! �'�

�

�



� /�

�

�����������	�	������
�)�����
����

�
�

��������%&�'�����	(�

�
�����������#�$����&�#�)����"#*������

�

�������!"���$��%�& !�%�����$�!�3,��!��%���$����2!$��! � � �� ����3!$���%!��B!%���&$��

��%!���� !$������!#$� �$���� ��%� !�$�%�3��:�!��%�  ����<���=� �� �$<���='� 	���� ����� %�� ���������$�

�!$��� ��$��$����!�$�%�  !2���$��%�  �� %��&�!�$�%� �*&!3�����%�  �� �%��%� !�$�%� 3��:�!��%� ��

����!�� ����<��1=1�/9?��<��R����$���"� 8�//'�T=��� ���$��1�<�!�3��//'///T='�

�

��� �� �� ��$��$����!#$� %�� +�������$� ��� 3�$�%�  �%� 3&�%���%� ��$� %��&�!�$�%�

�%��$ ��!"� �%� ��4! �#B! �� �� %� !�8�������� �%���3��%�� !$ !����$��'�'?'�'��$��� ��

+������!#$�%�����!%��#�&$�36$!3�� ��0���&$��%�����+������!#$'���$�����%�+��!��!�$�%� ��

�9��� ������$�!��� 2&���$� ���!%��� �%� ��$�&$��9.3�����(���������� �� <∆�9±� �'���=8�

�3����$ �� ����� ����� &$� ������� ��  �� +! �!�� ��3�!$� �� ��$� ��2���$�!�� !$���$��  ��

��N����<%='�
�����!����!#$� ��� �*&!��� %�� ����!"#���$� %!%��3�%��&22��� �� ��2���$�!�� ��

�9UD'��A'� 
�� ��3�����&���  �� �B���!3�$���!#$� %�� 3�$�&+�� ��3�� &$� ���:3�����

��$%��$��� �$� �� �%� ��%� ��%�%� ��$� ��& ��  �� &$� ��J�� <>V
8� 3� ���� �?���.��=� ��

�3����$ �� ��� �%�  �� +! �!�� ����� �%�  ��  ����� ��3!%�'� ��$� ��� 2!$��! � �  �� �+!���� ���

�����$����!#$� ���%!%��3��%���3�$�&+����$%��$���&$�2�&7����$%��$��� ��$!��#��$�� �������

�&��"�'�

�



� /�

�$���� �%�������� ���� �%���%��B���!3�$��%����$������������!#$� ���� �%���%�

%��&�!�$�%��%���3�������&�� �%�!�� ���� �%�����$��� ���!�����< �%!�$!"� ���(!��!����='�

�����������#�$����$��'����

�

���&�!�$�%���&�%�%� ����<���=��'�K��$<���=��'�(�2&���$�������� �%�������!�� ��

��<��1=1•/9?��<�!�3�����8�//'��T=��� ���$��1�<�!�3��//'///='��%��%�%��&�!�$�%�2&���$�

4! ���!"� �%���$������$���� !�!#$8���$���!���!#$�+!����%��������$��3!�$��8� ��%��&�!#$� ��

4! �#B! �� ��%� !���%�:$ ������������$"�����������!#$��9N��<�'�≤�9N�≤?'A='��$��� �%���%�

��%�%�����9� �����%��&�!#$�2&�����!%��� �'�

�


�%� �%������%�  �� 
(��  �� ����� �� ����$� 2&���$�  ����3!$� �%� ���� 3� !��  �� &$�

�%�����#3����� ��&R��� �()A��� �� &$�� ��3�����&���  �� ?A'�� ��8� &�!�!"�$ �� ��<9?�=0
1^� ��

�$<9?�=0
1^� ��3�� ��2���$�!��  ��  �%���"�3!�$��� *&63!��� �� �3����$ �� &$�� 2���&�$�!��  ��

�B�!���!#$� ����1�'1?�(9"�����/'0���������%�$O����%� ����&3!$!����!$ !�8���%����!+�3�$��'�

���&�!�!"#��?��������2!7������%�J��� ����3����B���$�'�

�

�������������
���������	������

�

�����������#�$����&�#�)����"#*�����

�


�� -!�&��� � ?'A� 3&�%���� ��%� �&�+�%� ��������6%�!��%� ����� ��� +������!#$�  ��� %!%��3��

��<���=.�$<���=.9?�'���������!��&$�$�������!$���3�$����$����+����� ���9�4�%�������$"���&$��

�����!#$�  �� �9N(�  �� ����B!3� �3�$��� �'?1'� 	�%���!��� �� �%��� �����!#$� �!�$�� �&���� &$��



� /?

 !%3!$&�!#$�  ��� �98� � �3:%�  �� %��� !$�%������ ��� ����&���  �� �%��� ���:3����'� �!�4��

��3�����3!�$���%�������!�$#��$�������6�&�������$������%!��������!�!���!#$� ��&$�4! �#B! ��

 �� !$ !�<���=8� %!$��3�������%� !3�����$��� �%������*&���� !2���$�!�� �� ��%�+������!�$�%� ���

%!%��3�� �$<���=.9?���$��%��� %!%��3�� ���$��!�� ��� !%3!$&�!#$��� !$�%���!�! � � ����9���&����

 �%�&,%� ��&$�������!#$��9N(�3��������'?18�3!�$���%�*&���$����%!%��3���!$��!���%�����$6��

�&�����$�&$�������!#$���%���!������'�E'�

�

#$#

#$.

#$6

#$9

#$7

#$:

#$ 

5$55 5$56 5$"5 5$"6 5$85 5$86 �9N(

�9

#$#

#$.

#$6

#$9

#$7

#$:

#$ 

5$55 5$56 5$"5 5$"6 5$85 5$86 �9N(

�9

�

1,83$��&!B'��&�+�%� ��+������!#$��������� %!%��3����<���=.�$<���=.9?����?A
W��<b=��'�(N�'�(Z� � <�=��

�'�E(N�'�E(Z�<I=��'�0(N�'�0(Z�<)=��'�D(N�'�D(Z��<c=��'�?(N�'�?('�



� /1

�

	��� ����� �� �8� �$� ��� -!�&��� ?'0� %�� �����!�� *&�� �$� �%��� ��%�� ��%� +������!�$�%�  ���

%!%��3����<���=.�$<���=.9?���!�$�$�&$���3�����3!�$���%!3!�������*&����%� ���$<���=.9?�'���

 !2���$�!��  �� ��� *&�� ��&��!#� ��$� ��%� %!%��3�%�  �� ��<���=.�<���=.9?�� �� �<���=.9?�'� 
��

�$���!��� ���3!��� ��$%! ����� *&�� �&� �� �B!%�!�� &$�� !$������!#$� �$���� ��%� !�$�%� 3��:�!��%�

��<���=����$<���='�

�

#$"

#$8

#$#

#$.

#$6

#$9

#$7

#$:

5$55 5$56 5$"5 5$"6 5$85 5$86 5$#5

�9N(

�9

#$#

#$.

#$6

#$9

#$7

#$:

#$ 

5$55 5$56 5$"5 5$"6 5$85 5$86 5$#5

�9N(

�9

<�= <�=

#$"

#$8

#$#

#$.

#$6

#$9

#$7

#$:

5$55 5$56 5$"5 5$"6 5$85 5$86 5$#5

�9N(

�9

#$#

#$.

#$6

#$9

#$7

#$:

#$ 

5$55 5$56 5$"5 5$"6 5$85 5$86 5$#5

�9N(

�9

<�= <�=
�

1,83$��&!C'���3�����!#$� �� ��%��&�+�%� ��+������!#$������ ��%�%!%��3�%��$<���=.9?��<G=�����<���=.
�$<���=.9?��<\=���?A

W�<�=�H�$<���=IU�'��(Z�<�=H�$<���=IU�'��?(Z��
�



� /D

�

� 
�� !$2��3��!#$� ����$! �� ����$�!�3,��!��3�$��� 2&�� ��!3�$�� �� ��� ������3��

��3�&���!�$��� ��	�
����� ��$� ��� 2!$��! � �  ��  ����3!$��� ��� ��%!���� �B!%��$�!��  ��

��3���7�%����$��!�%�2��3� �%��$������&3!$!�<���=8�!$ !�<���=���!�$�%�4! �#B! �� ����&�� ����

�����&��!#$�?'?'��

�

[ ] [ ]
[ ] [ ]��

%%��

%��

��%

%��

%��

�&
�

	�	�&
�

%	�	�&
��%	��&�
�

++

+−+

+−+++

=

+=++

11

=<1

=<1
?

11

=<
X

=<

β

� � <��'�?'?=�

�


�%� 3�7���%� 3� ���%� ����$! �%� ���� 3� !��  �� ��	�
����� %�� 3&�%���$� �$� ���

������?'?8� �$ ��%�������!��*&����%����%�3� ���%�*&63!��%��������$�+�����%���$%!%��$��%���$�

��%� �%��!��%��$���%������%��'A����'�D�<���6�&����='��$��� �%���%���%�%�%���3�$���2&����%!����

��� ��2!$�3!�$��� ��$%! ���$ �� ��3�� ��$%��$��� ��� +����� �����!�$� �� ��$� ��� 2��3��!#$�  ��

��<�9=1^� *&�� �%� ��� �%���!�� ��� �3!$�$���  ����<���=� ��7�� ��%� ��$ !�!�$�%�  �� �����7�'� �!$�

�3�����8������ ��%� �%���!�%� �� �$<���=� %�����%�$���&$�� %!�&��!#$� %!3!���� �� ��� �%��!��� �$� ���

%!%��3�� �$<���=.9?�� <+��� ���6�&��� �=8�  �$ �� $�� �%� ��%!����  !%�!$�&!�� ��� 3�7��� 3� ����

*&63!��'�

�

�

�

�

�



� /A

��4 ��&!&�>�����%� ����%���$%��$��%� ��2��3��!#$��������%���2!$�3!�$��%�����$! �%�������!��
 �� � �  ���%� � � ����$�!�3,��!��%� � � �����%� �%� � � ��$� � � ��	�
����� � � ����� � � ��� � � %!%��3����
��<���=.�$<���=.9?�'�

�%���!��
.���Xβ�

	��:3����%�

�%�� 6%�!��%�

�

��<�9=?^�

�$<�9=?^�

���$?<�9=D
A^�

�

�

A'?/a�

D'A?±��'��D�
�?'?C±��'�0E�

 
σ�U��'C1D��
��U�?�'DC�

�

��<�9=?^�

�$<�9=?^�

�$<�9=1�

�

�

A'?/a�

D'EE� ±��'��/�
�?'DA��±��'��?�

 
σ�U��'?D0?�
��U�?1'�?�

�

��<�9=?^�

�$<�9=?^�

�$<�9=D
.�

�

A'?/a�

E'D0±��'����
�C'�E±��'���

 
σ�U��'?DC/�
��U�?1'0E�

��>�������$%��$��� &��$��������2!$�3!�$���

�

�����������#�$����$��'���

�

� 
�%��%������%� ����%�$�$�!��3��$,�!���$&�����������?C���3&�%���$�&$��%����%�J����$�

�� ��3� ��� �&��8� ��3�� ��� %�� �B��!�#� �3��!�3�$��� �$� ��� ���6�&��� �8� �%�:� �����!�$� �� ��$�

$O����%�  �� ��&3!$!��  �� ���3���6�� ����, �!��'� �%��� �!���  �� $O����%� �%�:� ���%�$��� �$� ��%�

�%���!�%�3�$�3,�!��%'�
��-!�&���?'C�3&�%����&$��%������� ����%�$�$�!��3��$,�!����&�$ ��

��������!#$��9N(U�'�����&�$ �� !�4�������!#$��%� ���'��?���%���&� �������!���*&�����%�J���



� /0

����$! ���%���:��!��3�$������3!%3�8�����&���%&�!����*&��$��4�����3�!�%��$�������3���6�� ��

��%�$O����%� ����&3!$!�'���$���%���$�����$���!���%����%���&� ���%���������*&�����$O����� ��

��&3!$!��$����3�!��%&����3���6�� &��$�����������%�� ��4! �#�!%!%'�

�

?A� ?�� �A� ��� �A� ��� .A� .��� .�A� ��3

�9N(U�'��?8���9U1'DCA

�9N(U�'�AE8���9U1'0�D

�9N(U�'��8���9U1'1A?

�

1,83$�� &!D'� �%������%�  �� 
(��  �� ?C��� � ����� ��� %!%��3�� ��<���=.�$<���=.9?�'��
H��<���=IUH�$<���=IU�'��(�
�

�

	���������� �8���%��%������%� ��
(�� ����A�$�3&�%���$�&$��%�J���3&���$�4��*&��$��

���3!�������!"���&$��$:�!%!%� ������8����*&��$���%���%!�����+! �$�!�����3�!�%� �����3���6��

*&��!$ !���6�$����2��3��!#$� ���%���!�%����!$&������%'�

�

� ����%���2��3����%��%�& !�%� ����%�$O����%� ��?C����� ����A�$�����3� !�� ��
(��$��



� /C

�������!�$�$�!$2��3��!#$�������� ����%���%!���%��%���!�%����$��!�%�*&��%���& !�%�$�2��3���

�$����%!%��3��

�

�

&!&!(!	��	���������

�

� ��$���%���$���%� ���%�����$�!�3,��!��%�%���%��������*&����%��&�+�%� ���%!%��3��

��<���=.�$<���=.9?�����%�$��$�&$���3�����3!�$�����������6%�!��8�*&�����$��%���!�&������

���%�$�� ��������%�%!%��3�%��!$��!�%� ����<���=.9?�����.�$<���=.9?�����+���������$������

��%!�!�! � � ��&$��!$������!#$�*&63!����$������%�!�$�%�3��:�!��%'��!$��3�����8���%�

��2!$�3!�$��%�����$! �%�������	�
��������%�$��$�&$���%�� 6%�!���%!3!����*&��$��$�%�

���3!����%������������3�7���3� ����*&63!��'��������!"����%�& !�%� ��
(����$��������

��&3!$!����3�������!$ !��$��2&����%!���8���3����8�����$���!$2��3��!#$�*&�����3!���

�����$��� ��3�$������$�&$ �$���&$�3� ����*&63!��8��������*&��%���3�$���%���&� ��%&���!��

�����%!�!�! � � ��2��3��!#$� ��&$���3���7�����$��!�� ����&3!$!�.!$ !�.4! ��B��

<���$?<�9=D
A^='��%������+����%&���!��*&���%���%!%��3���$�2&�&��%��%�& !�%� ����%����$��!"� �8�

�3����$ ���,�$!��%��B���!3�$����%� ���$:�!%!%�*&63!���� !�!�$���%�����%��3���� �%��$��%���

�����7��������� ��������������B!%��$�!�� ����%��%���!�%�����&�%��%'�

�

�

�

�

�



� /E

��+��������	�	������
0������
����

�

��+�����%&�'�����	(�

�
��+�������#�$����&�#�)����"#*������

�

��$����2!$��! � � ��! �$�!2!������%��%���!�%��� ����3!$�����%���$%��$��%� ��2��3��!#$�

 �� �%��%� %�� ���������$� %��&�!�$�%� ��&�%�%�  �� ��<���=K��<���=� <��$� &$�� �����!#$�3�����  ��

��K�������B!3� �3�$��� ���?K�=�������!�� ����<��1=1�/9?��<��R����$���"� 8�*�=��� ��

��<��1=1�/9?��<��R����$���"� 8�//'�T=�<������?'1='�

�

��4 ��&!(���$��$����!#$� ����%�%��&�!�$�%���&�%�%� ����<���=K��<���=��3���� �%��������%�
�%�& !�%� ��	���$�!�3���6��
�

H��<���=IN3���
.���<��1=� H��<���=IN3���
.��<��D=�

1'/0�

C'/?�

��'EE�

�A'ED�

�/'E��

1'DC�

0'/D�

��'D?�

�1'E/�

�C'10�

�

���3�$�%� �%�3&�%���%� ���� ��%��&�!#$�2&���$�+����� �%8� ���!%���$ ��&$�36$!3��

 ��C���&$��%�����+������!#$8���$�%��&�!�$�%��%��$ ��!"� �%� ��4! �#B! �� ��%� !�8��!���%� ��

�����$���%� 
�%� +��!��!�$�%�  �� �9� �� ����$�!��� 2&���$� ���!%��� �%� ��$� &$� �9.3�����


� !�3����.���&%%��� 
	9D1��� <∆�9U� �'���=8� �3����$ �� &$� ������� ��  �� +! �!��

��3�!$� ����$���2���$�!��!$���$�� ����N����<%='�����2���&#�������!����!#$� ����*&!�����$�

%��&�!�$�%��&22��� ����2���$�!�� ���9UD'��A��N��C'���'�
����3�����&��� ����%�%!%��3�%�%��



� //

3�$�&+����$%��$�����?AW��<∆�U�'�W�=���$�&$���J��<>V
8�3� �����?���.��=����3����$ ��

��� �%�  �� +! �!��  ��  ����� ��3!%�'��&��$��� �� �� ��� �B���!3�$���!#$� %��3�$�&+�� &$� 2�&7��

��$%��$��� ��$!��#��$�� ��������&��"��������+!������������$����!#$� ���%!%��3�'�

�

�$��� �%���%�%��&�!�$�%�%���3�������&�� �%�!�� ���� �%�����$��� ���!�����

< �%!�$!"� ���(!��!����='�

�

��+��������#�$����$����)$��#���#*����

�

����2���&���$�+������!�$�%����$ &��!3,��!��%� �����3�$�%� �%�3&�%���%� ��

%��&�!�$�%���&�%�%� �����<���=K��<���=�<������?'D=8�������� �%�������!�� ����<��1=1•/9?��

<�!�3�����8�//'��T=8���<���=�<��<��1=1•/9?�8���R����$���"� 8�*�='�
�%�+������!�$�%�%��

����!"���$���$�%��&�!�$�%��%��$ ��!"� �%� ��4! �#B! �� ��%� !�8����!%���$ �����3�$�%�A��

3� ! �%� ����$ &��!+! � ��$��� ����%�'�����3���#�&$���$ &��!3,����
� !�3�����

����$4���$�3� ������(?1����$�&$����� �� ���&���������%� ����$ &��!+! � �<�&�����

�$!���%� ������!$������!$!"� �=�
� !�3���������4���$����E0A8�3�$!�����$ �����

��3�����&����&�'��(���$�&$�%�$%��� ����3�����&���
� !�3���������$4���$�3� �����?��'�
��

��3�����&���%��3�$�&+����$%��$�����?AW��<∆�U�'�W�=���$�&$���J��	���%����3� �����?���.

��'��&��$�������B���!3�$���!#$�%��3�$�&+��&$�2�&7����$%��$��� ��$!��#��$��������+!�������

�����$����!#$� ���%!%��3�'�

�

�

�

�

�



� ���

��4 ��&!0!���$��$����!#$� ����%�%��&�!�$�%���&�%�%� ����<���=K��<���=��3���� �%��������%�
�%�& !�%� ����$ &��!3���6��
�

H��<���=IN3���
.��<��1=� H��<���=IN3���
.��<��D=�

A'0A�

��'?/�

�0'/D�

??'AE�

?E'?1�

1'?��

0'D��

/'0��

�?'E�

�0'��

�
�

��+���+����#�$����$��'����

�

���&�!�$�%���&�%�%� ����<���=��'�?(K��<���=��'��(�2&���$�������� �%�������!�� ��

��<��1=1•/9?��<�!�3�����8�//'��T=8���<���=�<��<��1=1•/9?�8���R����$���"� 8�*�='����

4! ���!"���$� !�4�%�%��&�!�$�%�4�%�������$"������� ��&� �������!#$��9N��<�'�≤�9N�≤?'A=�

3� !�$���&$����$���� !�!#$�<�'A3
N3!$=� ��%��&�!#$��%�:$ ��� ��4! �#B! �� ��%� !�8���$�

��!���!#$�+!����%��������$��3!�$��'�����9�2&�����!%��� ��������� ��%��&�!#$�4! ���!"� �'�

�


�%��%������%� ��
(�� ��������������2&���$�����$! �%��$�&$��%�����#3�������&R���

�()A�����&$����3�����&��� ��?A'����'���<9?�=0
1^�����<9?�=0

1^�2&���$��3���� �%���3��

��2���$�!�%� �� �%���"�3!�$���*&63!�����%����!+�3�$������?��%��&�!�!"#������2!7������%�J���

 �� ��3��� �B���$�'� 
�� �B�!���!#$� �3���� �� ����� ��� ��%��  �� ?C��� 2&��  �� �1�'1?(9"8�

3!�$���%�*&�������C����%���3���#�&$���B�!���!#$� ���A?'A1(9"'�

�

�

�



� ���

&!(!&!�������
���������	������

�

&!(!&!+!��-.36,5-��5.��9,5/A.$,95-�

�


�%� �&�+�%� ��������6%�!��%� ����� ��� +������!#$�  ��� %!%��3�� ��<���=.��<���=.9?�� %��

3&�%���$��$����-!�&���?'E8� �$ ��%���&� �������!���*&���B!%���&$�!$���3�$���$������� ����9�

���!$!�!�� �����+������!#$8�%��&! �� ��&$��!�����!$���3�$��� ��,%�����$2��3�����+������!#$�

+�� ������%�$ �8� �%��� �%� 4�%��� ����$"����9N(U?'A8� ��� *&�� ��� !�&��� *&�� �$� ��� %!%��3��  ��

��<���=.9?�� ��  �� ��<���=.9?�� H���6�&��� �I� ���� �$�!3��  �� �%��� �����!#$� �!�$�� �&���� ���

����!�!���!#$��$����%!%��3�'�

�


�%�  ���%� ����$! �%� �$� �%��%� +������!�$�%� 2&���$� ��!3�$�� �%� ��� ������3��

��	�
����������  ����3!$��� ��%� ��%!���%� �%��*&!�3���6�%� �� ����$��� ��� ��2!$�3!�$���  ��

��%� ��$%��$��%�  �� ��%� �%���!�%� *&�� %�� 2��3�$� &��$��� ��� �����%�� ��4! �#�!%!%�  ��� %!%��3��

��<���=.��<���=.9?�'� 	���� ����� %�� ��$%! �����$� ��$��� �� ��%� �%���!�%�  �� ��<���=8� ��<���=�

<3�%��� �%��$���!��3�$����$�����%�& !�� ��%!%��3�%��!$��!�%8������%��'A����'��=��%6���3��

��%!���%����3���7�%�����$��!�%8� ����&�� ���������&��!#$�?'1'�

�

71!1

RR=7!<1

R7!

!7R

R=7!<1

R7!?

11

����

9=�9<����
X

R9=�9<�����R97��!��


=β

+=++

++

+−+

+−+++

� � <��'�?'1=�

�



� ��?

�

1'�

1'A

D'�

D'A

A'�

� �'A � �'A ? ?'A

�9N��

�9

�

�
1,83$�� &!E'� �&�+�%�  �� +������!#$� ����� ��� %!%��3�� ��<���=.��<���=.9?�� �� ?A

W�� <=� 1'/0<��.
1=(N1'DC<��.D=(Z� � <�=� � C'/?<��.1=(N0'/D<��.D=(Z� <�=� ��'EE<��.1=(N��'D?<��.D=(8� < =� �A'ED<��.
1=(N�1'E/<��.D=(8�<.�.=�/'E�<��.1=N�C'10<��.D=('�
�

�

��� 3�7��� ��2!$�3!�$��� *&�� %�� ���&+�� %�� 3&�%���� �$� ��� ������ ?'A8� ����$!�$ �� &$�

3� ����*&����$%! �������2��3��!#$� ������%���!�����?��<�9=?E
��^'��%�!3�����$��� �%������

*&���$��%���3� ����$���������$� ��%��%���!�%���<�9=1�����1<�9=D
A^� ����3!$� �%���������

%!%��3�� ��<���=.9?�?C8� D?8� DE8� D/8� ��� �&��� !3��!��� *&�� ��������3�$��� �%��%� �%���!�%� $�� %��



� ��1

2��3�$8���%!���3�$������� ��� 2��3��!#$� ��� ��3���7��3!B��� �����?��<�9=?E
��^'�	��������

�� �8� ��%� ��$%��$��%�  �� �*&!�!��!��  ����3!$� �%� ����� �%��� 3� ���� %�$� ��$%!%��$��%� ��$�

�*&,���%� ����$! �%� ����� %!%��3�%�  �� ��<���=.9?�� <������ �'A=� �� ��<���=.9?�� <������ �'��=�

����$! �%��$��%��������7�'�

�

��4 ��&!B�>�����%� ����%���$%��$��%� ��2��3��!#$���������3�7�����2!$�3!�$��� ����3!$� ��
���������������3����	�
�����������!�� ��!$2��3��!#$�����$�!�3,��!��� ���%!%��3��
��<���=.��<���=.9?��<�U?A�d�=�
�

�

�%���!�%�

�

.����Cβ�
	��:3����%��

�%�� 6%�!��%�

��<�9=?^� A'1A�±��'�1� �

���1<�9=1?
C^� ���'D0�±��'�D� σ��U��'C?A?�

��<�9=?
^� C'�1�� � �U�?D�'EC 

��<�9=1� ��'0?�� (χ2)� = 37.10 
���?��<�9=?E

��^� EE'00�±��'�A�  
��DC�� ���%�%����!3�$����$�����	�
����'���+�������$%��$��� &��$��������2!$�3!�$��'��� �%+!��!#$��%�:$ ���
����������������2!$�3!�$��� ��&3�� �����%���%! &���%�����&� �� �%� �������$�!��� ����� �'����4!.�&� �� ����������
��2!$�3!�$���
�

	���������� �8�%�� ����3!$���$���%��&�+�%� �����2&$�!#$� ��2��3��!#$�Y��$�2&$�!#$�

 ��� �9� <-!�&��� ?'/=8�  ����3!$� �%�  �� ��&�� �� �� ��� ��&��!#$� ?'D� �� ����!��  �� ��%�  ���%�

����$�!�3,��!��%'�����&� ����%��+���*&�����2&$�!#$�Y� ���$ �� �����H�I������<H��<���=I������^�

H��<���=I�����=8����*&����$2��3��,%���%��!$���3�$�����%��&�+�%��!�$�$�&$� �%���"�3!�$����$����

�%�����  ���9'��%��� ��3�����3!�$��� �%� ��������6%�!�������� %!%��3�%� �$� ��%� �&���%� �%���!�%�

���!$&������%��%�:$����%�$��%8���3������B��!��$����%���(�%3������9������������%?8� ���*&��

��%&���� ��$%!%��$��� ��$� ��� 2��3��!#$�  �� ��%� �%���!�%� ���!$&������%�  �� ���1<�9=1?
C^� ��

���?��<�9=?E
��^�����&�%��%��$��%��������7��<�����%��'A���?'1='�



� ��D

�

[ ] [ ] 












+




+


−



=

−−−

����������

�9�9

P
�����

=���<��=���<��

����Q�9
Y � � �� <��'�?'D=�

�

�2

D

5$5

5$.

5$:

"$8

"$9

8$5

8$.

8$:

#$5 #$6 .$5 .$6 6$5 �2

D

5$5

5$.

5$:

"$8

"$9

8$5

8$.

8$:

#$5 #$6 .$5 .$6 6$5
�

�
1,83$�� &!F'� ��:2!���  �� Y� ��3�� 2&$�!#$�  ��� �9� ����� ��� %!%��3��  �� ��<���=.��<���=.9?�8� �����
 !2���$��%� ��$��$����!�$�%� �� H��<���=I�'� N� H��<���=I�'K� < =�1'/0<��.1=(N1'DC<��.D=(Z� � <�=� �C'/?� <��.
1=(N0'/D<��.D=(Z� <\=� ��'EE<��.1=(N��'D?<��.D=(8� <)=� �A'ED<��.1=(N�1'E/<��.D=(8� <c=�/'E�<��.
1=N�C'10<��.D=('�
�
�



� ��A

��+��������#�$������)$��#��"#*�����

�


�%� +������!�$�%� ��$ &��!3,��!��%� ��������6%�!��%� ����� ��� %!%��3�� ��<���=.��<���=.

9?���$�&$� !$���+���� ����$��$����!�$�%� ��0'1?�.1(≤H�I�≤?'/0�.?(�%����%��+�$��$� ���

-!�&���?'��8� �$ ��%���&� �������!���*&�����!$!�!�� �����+������!#$�<�9N�≤�'1=�%���!�$��&$��

�!�����  !%3!$&�!#$�  �� ��� ��$ &��!+! � 8� ��%���!��3�$��� ,%��� ���3�$���� ��:��!��3�$���

��$%��$���4�%���*&��%������$"��&$�������!#$� ���9N�U?'A'�	�������� �� �8��&�$ ��%�� �!�$��

&$�� ��$��$����!#$�  �� H�IU�'�1(� %�� ��%��+�� &$��  !%3!$&�!#$�  �� ��� ��$ &��!+! � � 4�%���

����$"���&$�������!#$��9N�U�'C��� �%�&,%�%����%��+��&$�!$���3�$����$��������$2��3�����

4! �#�!%!%�  ��� %!%��3�� ������%�'� 
�%� +������!�$�%� %�� ����!"���$� 4�%��� �$��%�  �� *&�� ��$���

�&�����������!�!���!#$�<�%� ��!���9N��≤?'A='�

�

��$� ��� 2!$��! � �  �� +��! ��� ��� 3� ���� *&63!��� ����&�%��� �$� �%��� �����7�� ����� ���

%!%��3�� ���$��!�� ��<���=.��<���=.9?�� <������ ?'A=� %�� ����!"#� ��� �7&%��� ��:2!���  �� ��%�

��$ &��!+! � �%�����$! �%��B���!3�$���3�$�������%��%�!3� �%���$���%���$������&��!#$�?'A'�


�%� 2����!�$�%� 3�����%�  �� ��%� �%���!�%�  �� ��<���=8� ��<���=� �� ��� ��3���7�� ���$��!�� %��

����&����$���$���& �� ���������3����3�&���!�$���(�����??'�	���������%�� �����3���7��

���$��!�����2����!#$�3������&� ��%�����$%! ��� �����%�����$���%���$���� !����3�� ��2����!#$�

3�����  �� ��<���=� �� �!�$� �� ����!��  ���  !����3��  �� ��<���='� 
�� ��$��$����!#$�  �� ��^� %��

 ����3!$#�������!�� �������$�! � � ��4! �#B! �� ��%� !��� !�!�$� �����%!%��3�8�3!�$���%�*&��

�����$��$����!#$� ����1
.�%���%�!3���$���%������%���$�! � �%� ����<��1=1�����<��1=18'�
�%�

��$��$����!�$�%� ��9^����9.�%������&����$���$���%���$�����9��B���!3�$���� ���%!%��3�'��

�



� ��0

�9N�

R�
<3

�N
�3

=

�'�

�'�

?'�

1'�

D'�

A'�

0'�

�'� �'A �'� �'A ?'�

<�= <�=

�9N�
R�
<3

�N
�3

=

88$5

8#$5

8.$5

86$5

89$5

87$5

8:$5

8 $5

5$5 5$6 "$5 "$6 8$5 8$6

�

�

�

�

�

�9N�

R�
<3

�N
�3

=

�'�

�'�

?'�

1'�

D'�

A'�

0'�

�'� �'A �'� �'A ?'�

<�= <�=

�9N�
R�
<3

�N
�3

=

88$5

8#$5

8.$5

86$5

89$5

87$5

8:$5

8 $5

5$5 5$6 "$5 "$6 8$5 8$6

�

�

�

�

�

�

�
1,83$��&!+'!�>������!�$�%���$ &��!3,��!��%���������%!%��3����<���=.��<���=.9?�'��

<�='�<�=�H�IU0'1?<��.1=(8�<?=�H�IU�?'�D��.1=(8�<1=�H�IU�C'/0<��.1=(8�<D=�H�IU?1'CE<��.1=(8�<A=�

H�IU/'0<��.1=(Z�<�='�H�IU�'�1(�
�%��6$��%������%�$��$������$ &��!+! � ��%�!3� ���3����$ �����

3� ��������$! ���$����������?'1�����3� !�� ���������3����	�
����0.C'�
�%�3���� ���%�

�����%�$��$���%�+�����%� ����$ &��!+! � ��B���!3�$����%�<H�IUH��<���=I^H��<���=I=�

�

	���� ��� �7&%��� %�� �%�!3���$� 3� !�$��� !�����!#$8� ��%� ���2!�!�$��%�  �� ��$ &��!+! � �

�*&!+���$��� <λ=� ����� �� �%� ��%� �%���!�%'� �$� ��� ������ ?'0� %�� ���%�$��$� ��%� +�����%�  �� ��%�

���2!�!�$��%�  �� ��$ &��!+! � � �*&!+���$��� �%�!3� �%'� 	���� ��� ��%��  �� 9^� �� �9.�

�����%��$ �$� �� ��%� ������� �%� �$� ��� �!�����&��A�8� 3!�$���%� *&�� ��%� ���2!�!�$��%�  �� ��%�

��$ &��!+! � �%��*&!+���$��%�<λ=� ����%��%���!�%� ����<���=�����<���=������%��$ �$���$���%�

+�����%�  ����3!$� �%� �$� ��%� %!%��3�%� �!$��!�%� �%�& !� �%� �$� ��� ���!�&��� �� <�����%� �'0� ��

�'�1=8� ��� �&��� ���������� ��%� �%�& !�%� �$��%� ����!"� �%'� �%� !3�����$��� �&$�&��!"��8� *&��  ��



� ��C

!�&��� 3�$���� *&�� �$� ��%� %!%��3�%� �!$��!�%8� ��%� +�����%�  �� �%��%� ���2!�!�$��%� %��

!$���3�$����$���$2��3�������$��$����!#$������� ����%����!�$�%� !%3!$&6���$����%!%��3�8� ���

�&�����3�����%��4��6��3�$�!�$� ���%�&$���3�����3!�$����%���� �8����*&�� !�4�����:3�����

�%�:� �����!�$� �� ��$� ���3�+!�! � �  �� ��%� !�$�%8� ��� �&��� ����$"�� +�����%� �63!��� ��  !�&�!#$�

!$2!$!��A�'�

�

[ ]
[ ]
[ ]

[ ]∑
∑
∑

−+−+

−−

−−

−+−+

λ
+λ
+λ

+


λ+


λ+λ+


λ=κ −+−+

�����=�9<����=�9<����

�����=�9<��=�9<��

�����=�9<��=�9<��

�991����

=���<��-"

=���<��-"

=���<��-"

�9"9"��"��"

R=7!<1

R7!

R=7!<1

R7!

R!1

R!

R!1

R!

R!1

R!

R!1

R! �� <��'�?'A=�

�
��4 ��&!C!�>�����%��%�!3� �%� ����$ &��!+! � ��*&!+���$������������7&%��� ����%��&�+�%� ��
+������!#$���$ &��!3,��!��%���������%!%��3����<���=.��<���=.9?�'�
�

�,-.�/�� �%���!�%� λ N3���3?��*&!+���$��.��

�

�

�

�

��<���=.��<���=.9?��

��1^�

��1^�

��<�9=?
^�

��<�9=1�

��<�9=?^�

���1<�9=1?
C^�

���?��<�9=?E
��^�

��^�

��1.�

D.�D'E�

1�.A��

�A.?��

��

���

1C.D1�

DC.A��

A'A.�D�

DE.0E�

�

�$����-!�&���?'���%��3&�%����*&���B!%���&$��� ��&� ��%������%!�!#$��$������%�

��$ &��!+! � �%��B���!3�$����%�����%��%�!3� �%���$����3� ���� ����	�
����8�����&���

$�%����3!��������$������+��! �"� ���3� ��������&�%����$����������?'A'�



� ��E

��+���+����#�$����$��'���

�

�$���%��B���!3�$��%� ��
(����������%!%��3����<���=.��<���=.9?��%�� ����3!$���$�

��$�����%��%������%� ��C������ ��?C��'��$����-!�&���?'���%��3&�%���$���%��%������%� ��
(��

 �� C���.� �����  !%�!$��%� ��� �%�  �� 4! �#�!%!%'� ��� �&� �� ��%��+��� *&�� ����� &$�� �����!#$�  ��

�9N�U�'��<�9U?'C�=�%���3�$���%����%��+��&$��!����$�����3������!�$� ���������%�$�$�!��

 �� &$� $O����� ����, �!���  �� ��<���=� *&�� �����%��$ �� �� ��� �%���!�� ��<9?�=0
1^'� ��� !�&���

3�$���� *&�� ����� ��� %!%��3�� �!$��!�� ��<���=.9?�8� ��� �&��� ��� 4��6�� %! �� �%�& !� ��

�$���!��3�$��DE8� ��$2��3�� ��� 4! �#�!%!%�  ��� %!%��3�� %�� !$���3�$��� 4�%��� &$�� �����!#$�  ��

�9N�U�'?�� <�9U?'//A=� ��� �!��� %�� +�� �$%�$�4�$ �� �� %&� !$��$%! � �  !%3!$&��8� ��� �&���

�&� ��!$ !����&$��3�!�$���*&63!���3:%� !%���%!�$� ������ � ��� ����%�$O����%� ������N������

�

@2E-G�"$65���2G�#$995

@2E-G�8$65���2G�.$##:

@2E-G�5$66���2G�#$.5.

@2E-G�5$95���2G�#$."7

@2E-G�5$:5���2G�#$.:5

@2E-G�"$55���2G�#$6.5

@2E-G�"$76���2G�#$:".

@2E-G�8$55���2G�#$:9"

@2E-G�5$55���2G�8$75:

@2E-G�5$"5���2G�8$:##

@2E-G�5$"6���2G�8$ 56

@2E-G�5$85���2G�8$  6

@2E-G�5$86���2G�#$"#6

@2E-G�5$#5���2G�#$8#5

@2E-G�5$.5���2G�#$##8

@2E-G�5$.6���2G�#$#."

@2E-G�5$65���2G�#$#: 

�

�
1,83$��&!++'��%������%� ��
(�������C������������%!%��3����<���=.��<���=.9?����$� !2���$��%�

��� �%� ��4! �#�!%!%�<H��<���=I������U��'�?(KH��<���=I������U��'��(=�



� ��/

���%�$�!�� ������%��%���!�%�*&63!��%� �����3!%3�����3���6�'��$��%�����%��%�����!�&��������

����!�!#$�  �� ��� �%���!�� ��<�9=?
^'� �$� &$� !$���+����  �� �'?A≤�9N�≤�'DA� <�=8� ��� %�J���

 �%������������&���!$ !������2��3��!#$������ �3!$!�� ����%�3�$#3���%� �����<�8?=���<�81=8�

����&�����!$�! ����$���� !����3�� �� !%��!�&�!#$�<-!�&���?'�?=� ����3!$� ��������!�� ����%�

 ���%� �� ���������?'A'�������!�� ��&$�� �����!#$� ��9N�U�'A�� <�9U1'1E/=���������&$��!���

�%����4���$�&$� �%���"�3!�$���*&63!��� ���1E���38������%!�!#$� ���%����!��������%��$ ��

��$� ��� ������� ��������� �������������� ���%0D����4�3�%����������� ���%0A� !$ !��$ �� ���

���%�$�!��  �� &$� $O�����  �� ���!�� �����, �!��3�$��� ���� !$� �8� ��� �&��� �����%��$ �8�  ��

��&�� �� ���  !����3��  ��  !%��!�&�!#$� <-!�&��� ?'�?=8� �� ��� ����!�!#$�  �� ��� �%���!��

���?��<�9=?E
��^���*&���&� ��%&���!�%��������$���&$�$O����� �����!�������, �!����� �� �� ��

�?� :��3�%�  �� ��&3!$!�� ����, �!��� <��� ���?=� ��$!�$ �� ��� ��$2!�&���!#$�  �� &$� !�$� �!���

Q���!$� <-!�&��� ?'�1='� ��$2��3�� ��� 4! �#�!%!%� ������%�� 4�%��� �9N�≤?'A� <�9UD'1D=� ���

!$��$%! � �� ����%����%�J����%���!$���3�$�����%6���3��%&��%����4�"8�����&���!$ !���&$��3�!�$���

����� !%���%!�$� ���N��*&���%���%�J���%�� ������&$��%�����%���!�'�
���$���!�����$2!�3��*&��

 !�4��%�J���%�� ���������3���7�����$��!�� �����?��<�9=?E
��^8����*&����3��%����%��+���$����

 !����3��  ��  !%��!�&�!#$� ��� 2����!#$� 3�����  �� �%��� %�� !$���3�$��� ��� �&3�$���� ��� �98�

�����$ ������� �3!$����$����D'�≤�9'�

�



� ���

� 2

	4 �

5 $5

5 $8

5 $.

5 $9

5 $:

" $5

8 $6 8 $ # $# # $7 . $" . $6

�
1,83$��&!+&'��!����3�� ���!%��!�&�!#$� ��-����!�$�%�3�����%� ���%���!�8�������%���!�%� ����<���=�
��$���%���$����3� ��������&�%����$����������?'A��$�����%!%��3����<���=.��<���=.9?�'�<e=���1^8�<)=�
��<�9=?

^8�<�=���<�9=1�8�<∆=����?��<�9=?E��^'�
�

�

�
1,83$�� &!+('� �%��&��&���  �� &$� !�$� �!���Q���!$8� �$� ��� *&�� ��� :��3�� ��$����� ��%��� &$�� ���3���6��
�����, �!������%���$�&�$������ �� ������ ����:��3�%�����, �!��3�$������� !$� �%�

�

�



� ���

� 
������!"��!#$� ��&$��%�& !���&�$�!���!+��������!�� �����!$2��3��!#$� ����%�%�J���%� ��


(������� C����$��2&����%!���� ��! ����*&�� ���%�J�������$! ���$����3��%�3&���$�4�� ���

�&���  !2!�&����6�� ���  ���$+��&�!#$�  �� ��� %�J��8� �� %!� �%��� %�� ����!"��:� ��� ������ �%��!� �� ���

����� !3!�$���%��6�������!+�3�$�������'�	���������� �8��$����!$���+���� ��1'�1A≤�9≤1'1D��$��

%�� ��%��+�� %�J��� ���&$�� ���� ��� *&�� $�� %��6�� ��%!���� ����$��� &$�� 2����!#$�  �� :���'� �!$�

�3�����8� ��$%! ���3�%� *&�� �� ����!��  �� ��� ��3�����!#$�  �� ��%� %�J���%�  �� 
(�� ��$� ���

 !����3�� �� !%��!�&�!#$� �� 2����!�$�%�3�����%� ���%���!���%���%!������ ����+! �$�!��� ���

���%�$�!��  ��� ��3���7�� ���$��!�� ���!$&���������?��<�9=?E
��^� �� �%���������  �� �%���3�$����

*&�����3� ��������&�%����$����������?'A��B��!���� ��&� �3�$��������3�����3!�$��� ����%�

%�J���%� ��C��������$! �%�����
(�'�

�

	��� ����� �� �8� �$� ��� -!�&��� ?'�D� %�� 3&�%���$� ��%� �%������%�  �� 
(�� ����� ?C��� ��

 !2���$��%���� �%� ��4! �#�!%!%� ���%!%��3����<���=.��<���=.9?�'��%���%!������%��+���&$�%����

�!��� �$� ���3� �$� ��� !$���+����  �� �≤�9N(≤�'A�8� �%�  ��!�� ?'C�≤�9≤1'008� ��� *&�� ���3!���

�%��������� ��� ��� �3!$!��  �� �%���!�%�  �� ��<���=� *&�� ���%�$��$� ���3���6�� ����, �!��'� ���

��&�� ����$���� !����3�� �� !%��!�&�!#$�<-!�&���?'�A=8��$� !�4��!$���+���� ���9���� �3!$��

��� �%���!����1^� �� ��� ���%�$�!��  �� &$�� ��*&�J�� 2����!#$�  �� ��� �%���!����<�9=?^'� 	��� �����

�� �8��$���������!#$��9N�U?'��<�9U1'E0�=8�%����%��+���������!�!#$� ��&$��%�J����$�01���3�

*&�� ����&�� ����� !����3�� �� !%��!�&�!#$� ���%���!�%������%��$ ��6�����������!�!#$� �����

�%���!�����?��<�9=?E
��^'���$2��3������9�%��!$���3�$��8���������$��������� �� ��4! �#�!%!%8�

��� !$��$%! � �  �� ��� %�J��� �&3�$��8�  ��3�$���� ���� *&�� �$� ����B!3� �3�$��� �9U� D'11E� ���

!$��$%! � �  �� �%��� %�J��� �%� 3����� *&�� ���  ��� �!��� ��%��+� �� �$� �� ��3'� ��� ��&�� �� ���

 !����3��  ��  !%��!�&�!#$�  �� �%���!�%� �����%��$ �� ��� �9� �$� ��� �&��� ��� 2����!#$�3�����  ��



� ��?

���?��<�9=?E
��^��%�3�����*&����� ���4�B���&���3���7�� ����&3!$!��<��1^�����<9?�=0

1^='�


�� �$���!��� ���+�� �� %&���!�� *&�� ��� %�J��� ��%��+� �� �$� 01� ��3� %��  ���� �� ��%� $O����%�  ��

��&3!$!�� ����, �!��3�$��� ���� !$� �%� �$� ��� �%���!�� ���?��<�9=?E
��^� < �� ��&�� �� �� &$��

�%��&��&��� �!���Q���!$=����!�$�*&���%� ��%&��� �� ������3� !�� �� ��%�$O����%� �� ��&3!$!��

����, �!��%���$����$������3���7�� ���$��!����3���$�����%���!�����1<�9=1?
C^��� �����&3!$!��

�����, �!��3�$������� !$� ���$��%���O��!3�'��%�����$��� !��������*&��4��%! ��%&���! ������

�R!��� �� �������� ���%D?8� *&�� ��� ���!�&��� O$!��3�$��� ��� $O�����  �� ��&3!$!�� �����, �!���

 �$���� ������%��&��&��� ������%���!�����1<�9=1?
C^�'�

�

�

�

1,83$��&!+0'��%������%� ��
(�������?C�����������%!%��3����<���=.��<���=.9?����$� !2���$��%���� �%�

 ��4! �#�!%!%�<H��<���=I������U��'�?(KH��<���=I������U��'��(=�



� ��1

�

�

�%� !3�����$��� �%������*&���$� ��%��%������%� ��?C��.
(����������%!%��3�� ���$��!��

$��%����%��+��%�J������&$���$�A���3�8�����&���%��4��6����������!"� ���$����%!%��3���!$��!�� ��

��<���=.9?�� �� *&�� %�� 4��6�� ���!�&! �� �� &$�� �%���!�� ���!$&������  �� ��7�� ��%�� 3����&����

<��1<�9=D
A^='�
�� �%����!�!#$� ���%��� %�J��� ���+! �$�!�� ��*&�� !�4���%���!��$�� %,��%���

2��3�$ �� �$� ��� %!%��3�8� ��3�� %�� ����&%�� �$� ��%� �%�& !�%� ����$�!�3,��!��� ��

��$ &��!3,��!��8� ��! �������2��3��!#$� �����3���7�����?��<�9=?E
��^'�

�

�'�

�'?

�'D

�'0

�'E

�'�

?'A 1'� 1'A D'� D'A

-��

�9
�'�

�'?

�'D

�'0

�'E

�'�

?'A� 1'�� 1'A� D'�� D'A�

���

�9

<�= <�= �

1,83$��&!+B�<�=��!����3�� ��2����!�$�%�3�����%���3��$�$���������%���!�%� ����<���=��$����%!%��3��
��<���=.��<���=.9?�Z�<�=��!����3�� ��2����!�$�%�3�����%� ���%���!�%� ����<���=���������%!%��3��
��<���=.��<���=.9?�'�<����$! �%�������!�� ���3� ����*&63!�������&�%����$����������?'A='�<ff=���1^Z�
<)=���<�9=?^Z�<[=����1<�9=1?

C^Z�<\=����?��<�9=?E
��^'�

�

�



� ��D

	���������� �8�%������!"#�&$��%�& !���&�$�!���!+�� ����%��%������%� ��?C��.�(8���������

�&���%�� ����3!$���$���%�2����!�$�%� ��:���� ���� ��%�J���3� !�$���!$������!#$�%!3���'�
�%�

2����!�$�%�����$! �%�%�������!�$���$���$���%�2����!�$�%�3�����%� ����3��$�$����� ���%���!��

 ����3!$� �%���$���%���$�&$�3� ����*&63!���*&����$%! ��������%��%���!�%� ����3!$� �%��$�

���������?'A'�	�����%�������#%!���%����$%! �����$� �%�3� ���%�<���!�&���*&����������%!%��3��

 ����<���=.9?�8�+������6�&����=������!3���� ������%���$%!%����$������!�$��������2����!#$� ��

:���� �����%�J��� �����3� ����%��%������%� ��
(����$���%�$O����%� ����&3!$!��*&����%��$�

&$�����3���6������, �!���8�����������%����$%! �����$���%��%���!�%�3�$�3,�!��%���<9?�=
1^���

��<�9=?^8��%6���3��&$����������$ ��� �� �����2����!#$�3����� ������%���!�����1<�9=1?
C^����

*&�� ��3�� %�� 4��6��  !%�&�! �� �$���!��3�$��� %�� ��$%! ���� *&��  ����  �� ��%� $O����%�  ��

��&3!$!����%��$��%������3���6�8�� �3:%��%����$%! ��#����2����!#$�3����������%��$ !�$�����

��� �%���!�� ���?��<�9=?E
��^'� �$� ��� �%��&��&���  �� Q���!$� ��%�  ���� ��&3!$!�%� ���%�$��%�

��$ �6�$��%���3!%3�����3���6������, �!��Z�����%�2����!�$�%� ��:���� �����%�J��� ��01���3�%��

�%��!���$� ��$� ��%� $O����%�  �� ��&3!$!�� ��$� ���3���6�� �����, �!��� *&�� �$� �%��� ��%�� %��

�$�&�$���$����%�$��%��$�����%���!�����1<�9=1?
C^�%���3�$��'��

�

��� %��&$ �� 3� ���� ��$%!%��� �$� ��$%! ����� *&�� ��� %�J���  �� ���3� %��  ���� �� ��%�

�%���!�%�3�$�3,�!��%����%�$��%��$����%!%��3��<��<9?�=
1^�����<�9=?^=���*&�����%�J����$�01�

��3� �%��� �����!�$� �� ��$� ��%� �%���!�%� ���!$&������%'� ��� ��3#� �$� ��$%! ����!#$� *&�� �%���

%�J���%�� ������$������$O����������, �!�����3������%� ���������, �!��%� �$���� ������%���!��

���1<�9=1?
C^8� �%6� ��3�� �� ��%�  ���� $O����%� ����4, �!��%� ���%�$��%� �$� ��� �%���!��

���?��<�9=?E
��^'�

�

�



� ��A

�

�$����-!�&���?'�0�%��3&�%���������3�����!#$�����!"� ���$������%�2����!�$�%� ��:����

����$! �%� ����%�%�J���%� ��
(���� ����%�2����!�$�%�3�����%� ����3��$�$���<-=8���%��&���%�

2&���$�����&�� �%� !�����3�$�����$����������3��(�����??'�	&� �������!��%��*&���&�$ ��

%����$%! ���������!3���3� ��������&�%��������������3�����!#$�<-!�&���?'�0��=�$���B!%���&$�

�&�$� �7&%��� �$���� ��%� 2����!�$�%�  �� :���� �B���!3�$����%� �� ��%�  ����3!$� �%� �� ����!��  ���

3� ����*&63!��Z����������$����!�����4����������3�����!#$���$����%��&$ ��3� ����<-!�&���

?'�0� �=� ��� �7&%��� �%� 3�7��8� �&$*&�� 2&�� $���%��!�� *&�� 3� !�$��� !�����!#$� %�� +��!���$� ��%�

��$%��$��%� �� 2��3��!#$� �� ��%��%���!�%�4�%���*&�� ��%� 2����!�$�%�����&�� �%��7&%����$���$�

�*&����%�����$! �%��B���!3�$���3�$���<3� ����*&��%��3&�%�����$����������?'C='�

�

��4 ��&!D!���$%��$��%� ��-��3��!#$���������%!%��3����<���=.��<���=.9?�� ����3!$� �%�����
�7&%�����:2!��� ����%�2����!�$�%� ��:���� ����%��%������%� ��
(�� ��?C�����$���%�2����!�$�%�
3�����%� ����3��$�$���
�

�%���!�� .����∗β�
�

��<�9=?^�

���1<�9=1?
C^�

��<�9=?
^�

��<�9=1�

���?��<�9=?E
��^�

�

E'E��

��E'���

C'�C�

��'C��

/A'/��

�
�



� ��0

� '?

� 'D

� '0

� 'E

� '�
-

? '0 1 '� 1 'D 1 'E D '?
� 9

� '�
? '?

� � � �

� '�
? '?

� '?

� 'D

� '0

� 'E

� '�
-

? '0 1 '� 1 'D 1 'E D '?
� 9

�4 � �

�
*
�����8$"9$�;�
�����
���	���	���������
��	���	���	�����	�
����	��	�

	����
	��	��	�����
	��	�������	�<-=��	�87%�������������
��	��
����	���	���
���	��	��	�	�

������������
��
�	��
��	����	����>�����8$7$�& (�*����
���	��	�

	������	�5��
��&�(������
���	��	�

	�����
�	� 9#��
� ���� &!� !(� *����
��� 	��

���� �	� %�#?�� %�&@2(8?�� %�"84�&@2(8:

""?� �� �����
���
�������
������	�����	�������0��
����	��%�"#&@2(#8

7?��&(�*����
���	��

���������	������	��
�	���0��
���	�� ���	��	�
	�%�"#&@2(#8

7?� A� ���� &!� !(�*����
���	��

�����	�%�#?��%�&@2(8?�� &(�
*����
���	��

���������%�"#&@2(#8

7?�%�"84�&@2(8:
""?��



� ��C

�
�%!3!%3�8� %�� ����!"#� ��� ��3�����!#$� ��$� ��%� 2����!�$�%� 3�����%�  �� �%���!�� <1=�

 ����3!$� �%���$���%���$���%���&��!�$�%�?'0���?'C���$���& �� ���������3����3�&���!�$���

(���������&$��4�7�� ���:��&��������������!���!#$��B���� ��(�.�22!��/C�<���)�'���='�
��

-!�&���?'�C��3&�%���8����!�&���*&���$������%���$���!��8�*&�������$%! �����*&�����%�J��� ����

��3� %��  ���� �� �� �%� ��%� $O����%� ����, �!��%�  �� ��&3!$!�8� �� *&�� ��� %�J���  �� 01��3� �%�:�

�����!�$� ��O$!��3�$�����$���%�$O����%������, �!��%�<3� �����=�$���B!%���&$��7&%����$������%�

2����!�$�%'�	���������� �8����-!�&���?'�C�����3!��������!���*&����$����%��&$ ��3� ���8��%����

�%��������*&�����%�J��� ������3�%�������!�$����$���%��%���!�%�3�$�3,�!��%8�3!�$���%�*&�����

%�J��� ��01���3��%� ��! ������%��%���!�%����!$&������%'�����7&%����%�3&�4��3�7������$��%���

��%�� ��%� ��$%��$��%� ��3�!,$� 2&���$� +��!� �%� !�����!+�3�$��� 4�%��� ������� ��� 3�7���

��$��� �$�!���$������%�2����!�$�%������%��$ !�$��%'����3� ����*&63!���*&�����3!����%���%��

3&�%�����$����������?'E��

�

[ ]
!

��-
=�9<����

!

��-
=�9<��

!$!�!��

1

=�9<����R=7!<1
R7!

!$!�!��

1

=�9<��R!1

R!

R=7!<1
R7!

R!1

R!





=





=




+

−+

+

−

−+

−

� � <��'�?'0=�

�

=!NI��H-<==!NI��H-<<

!NI��H-

!$!�!��

1

=�9<����
!

!$!�!��

1

=�9<��

!$!�!��

1

=�9<����

=�9<����
R=7!<1

R7!
R!1

R!

R=7!<1
R7!

R=7!<1
R7!

++

+

−+−

−+

−+

+
=
∑

1 � � <��'�?'C=�

�

�



� ��E

� '�
? '?

� '?

� 'D

� '0

� 'E

� '�

�

? '0 1 '� 1 'D 1 'E D '?

� 9
� � � �

� '�
? '?

� '?

� 'D

� '0

� 'E

� '�

�

? '0 1 '� 1 'D 1 'E D '?

�9
�4 � �

�
*
�����8$"7$�;�
�����
���	���	���������
��	���	���	�����	�
����	��	�

	����
	��	��	�����
	��	�������	�<-=��	�87%�������������
��	��
����	���	�	��	�
	��	�	�

������������
���	��

��	����	����>�����8$7$�& (�*����
���	��	�

	������	�5��
��&�(������
���	��	�

	������	�
9#��
� ���� &!� !(� *����
��� 	��

���� �	� %�#?�� %�&@2(8?�� %�"84�&@2(8:

""?� �� �����
���
�������
������	�����	�������0��
����	��%�"#&@2(#8

7?��&(�*����
���	��

���������	������	��
�	���0��
���	�� ���	��	�
	�%�"#&@2(#8

7?� A� ���� &!� !(�*����
���	��

�����	�%�#?��%�&@2(8?�� &(�
*����
���	��

���������%�"#&@2(#8

7?�%�"84�&@2(8:
""?��

�

�



� ��/

��4 ��&!E!���$%��$��%� ��-��3��!#$���������%!%��3����<���=.��<���=.9?�� ����3!$� �%�����
�7&%�����:2!��� ����%�2����!�$�%� ��:���� ����%��%������%� ��
(�� ��?C�����$���%�2����!�$�%�
3�����%� ���%���!��
�

�%���!�� .����∗β�
�

��<�9=?^�

���1<�9=1?
C^�

��<�9=?
^�

��<�9=1�

���?��<�9=?E
��^�

�

A'A��

���'���

C'�C�

��'�D�

EE'1��

�

�

��������3�����!#$�����!"� ����$�����$���%�2����!�$�%�3�����%� ����3��$�$�����3����$�

��%� 2����!�$�%�3�����%�  �� �%���!�8� %�� �&� �� +��� *&�� �$� �3��%� ��%�%� ��� �����!�$��� ���

%�J��� �����3���$�$O����%� ����&3!$!������, �!��%��� ��� ��01���3���$�$O����%���$�

���3���6�� �����, �!��� $�� %�� ���%�$��� &$�� %������%!�!#$� ��$� ��%� 2����!�$�%� 3�����%�

����&�� �%'� 
�� �$���!��� ���3!��� �%��������� *&�� ��� 3�7��� 3� ����  �� �7&%��� �%� ��� *&��

�%��������*&�������!3���%�J����%��������!�$� ����$���%��%���!�%�3�$�$&������%���*&�����

%��&$ �� %�J��� ��%��+� �� <01��3=� %�� �����!�$�� ��$� ��%� $O����%�  �� ��&3!$!��  �� ��%�

�%���!�%����!$&������%�<���1<�9=1?
C������?��<�9=?E

��^='�������&$��3�$�������%�J���%��

 ��������%�$O����%���$����3���6������, �!��� �����&3!$!�����%�$��%��$��%��%��%���!�%���

$���%�&$��%�J��� ��! ����$O����%������, �!��%���3���%���������R!������������� ���%D?'�

�%��� �B��!��� �$��$��%� ���$��&����"��*&63!��� �� ��� %�J��� �$���� %!%��3�� ����<���=.9?��

�$��!"� ���$�������6�&����$���!��'�

�

�



� �?�

	��� ����� �� �8� ����� ��� ��3�����!#$� ��$� ��%� 2����!�$�%�3�����%�  �� ��3��$�$��� � %!�

�!�$�%����������&$�� ��&� ���7&%��� ����%�2����!�$�%�����&�� �%���$���%��B���!3�$����%�2&��

$���%��!��3� !2!����$������3�$������+����� ����%���$%��$��%� ��2��3��!#$� ����%��%���!�%��$�

�����!#$� ��$� �*&����%� +�����%� ����$! �%� ����� ��%� �%���!�%�  ����3!$� �%� ��$� ��� ������3��

��	�
�����������!�� ��!$2��3��!#$�����$�!�3,��!���<������?'A='�(!�$���%�*&���������%�

2����!�$�%�3�����%� ���%���!�� ��%�+�����%� �� ��%���$%��$��%������ �����������7&%��� %�$�3&��

%!3!����%�����%� ����3!$� �%��$�����%�& !������$�!�3,��!��'��%������3!����%���������*&����%�

%�J���%� ����$! �%� �$� ��� �%�& !��  �� ?C��.
(�� ����� ��� %!%��3����<���=.��<���=.9?�� %�$� ���

��� &���� ������3� !�� ����%�%�J���%� ����%�3�����%� ���%���!�� ����%�$O����%� ����&3!$!�8�

��3�����4��6��%! ������� ���������%�%!%��3�%� ����<���=g9?���� ���<���=.9?���$�����%�& !��

 ����%�%!%��3�%��!$��!�%�<���6�&����='�

�

�

&!(!(!�	��	���������

�

� 
�%��%�& !�%�����!"� �%��$��%��������7��$�%����3!��$�+��! ������3� ��������&�%����$�

���������?'A���������%!%��3����<���=.��<���=.9?�8�����*&����$���%���$�����%���%!�����B��!����

�����3�����3!�$�����%��+� ���$�+������!�$�%���$ &��!3,��!��%����$��%�& !�%� ��
(�������

C���� �� ?C��'� � �3:%� 2&�� ��%!���� ��$2!�3��� ��%� ��$%��$��%�  �� ��%� �%���!�%� ��<�9=?^� ��

���1<�9=1?
C^� ���%!%��3����<���=.9?������<�9=?

^�����<�9=1� ���%!%��3����<���=.9?�8���%��

�&%�� �$� �+! �$�!�� ��� 2��3��!#$�  ��� ��3���7�� ���$��!��  �� ����� ��%�� 3����&����

���?��<�9=?E
��^�<�&���+����� ����$%��$���2��3��!#$��%�.���XβUEE'00�±��'�A='��%����%���!��

�� �6��%��� �����$�!3�����$�!�����*&���&� ����$%! ����%��&$�����&�%���*&63!���*&�����3!���

�������$�!#$� ��%!%��3�%������6�!��%�3�%�����%�%'�



� �?�

�

� 	�������� �� �8�%�� ����3!$#���$���%���$��%�& !�%�����$�!�3,��!��%��� ��
(��*&��

��%��%���!�%���<�9=1�����1<�9=D
A^�$��%��2��3�$��$��%���%!%��3�� ��! �������2��3��!#$� ���

��3���7�����$��!�'�����& ���%���������*&�����%�J��� ��01��3���%��+� ���$���%��%������%� ��


(�� �%��� �����!�$� �� ��$� $O����%�  �� ��&3!$!�� ����, �!��%� ���%�$��%� �$� ��%� �%���!�%�

���!$&������%� %!�$ �� ��������� *&�� ��� �3��!��  �%���"�3!�$���  �� �%��� %�J��� 4��!�� ��3��%�

��7�%��$������!#$������"�$���$� �$ ���6�!��3�$����%���6�$���%�%�J���%������$O����%���$��%���

���3���6�� %��  ���� �� ���  !%���%!#$� �$� ��� �3�!�$��� *&63!��� ��$��� �� ���� ��%� $O����%�

�����, �!��%����%�$��%'�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



� �??

�
�
�

	��	���������
����
����

�

�� ���+,%�  ���  �%��������  �� �%��� �����7�� %�� �%������!#� &$�� 3��� ����6�� ����� ���

 ����3!$��!#$�  �� 3� ���%� *&63!��%� ����� %!%��3�%� ��$��� �!$��!�%� ��3�� ���$��!�%8� �$�

����!�&���� %�� �%�& !���$� ��%� �����%�%�  �� 4! �#�!%!%�  �� ���3�$��%�  ��� ��&��� ����� <����8�

��&3!$!�8����!�8�!$ !�=8��%6���3�� ����%�%!%��3�%���<���=.�<���=.9?�8���<���=.��<���=.9?����

��<���=.�$<���=.9?������$!�$ ��������� �%�����%���%���%!���%��%���!�%�*&63!��%8��%6���3��%&%�

��$%��$��%�  �� 2��3��!#$� ��%����!+�%'� 
�� !3�����$�!��  �� ��%� 3� ���%� ����$! �%� �$�

��3�����!#$���$�����%����������� �%��$�����!�����&��8�%�� ������*&���$��%��������7���%��%�$��

%���3�$���2&���$� ����3!$� �%�3� !�$�����������%�3!�$�����$����������3����3�&���!�$���

��	�
�����  �� !$2��3��!#$� ����$�!�3,��!��� %!$�� *&�� ��3�!,$� 2&���$� +��! � �%�

3� !�$�������%��%�& !�%����,�$!��%��$��6�!��%���3���$:�!%!%� �����2&$�!#$� ��2��3��!#$�<Y=8�

�� �%�& !�%� ���� 3� !��  �� ��$ &��!3���6�� ��  �� ��%�$�$�!�� 3��$,�!��� $&�����'� ��$� ��%�

�%�& !�%� ��
(��%�������#� �&$�%������� �% ������&$��� ��+!%����%��&��&������ ��%�3� ���%�

*&63!��%�����$! �%'���$������%����������#�*&����%�3� ���%�*&63!��%�����&�%��%����3!��$�

�B��!���������3�����3!�$����B���!3�$���� ����%�%!%��3�%����� !2���$��%��,�$!��%��$��6�!��%�

����&��� ��%���������+��! �"�����%� ���%�����$! �%��$�������%�$��������7�'�

�

� � !�!�$��3�$��8� �$� �%��� �����7�� %�� ���%�$��� &$� $&�+�� �����!�3�� *&��  �� �+! �$�!��

�&�$�!���!+��%&2!�!�$���������%���������*&����%�%�J���%� ��
(���%�:$������!�$� �%�<���3�$�%�

������<���=�����<���==���$���%�2����!�$�%�*&�� ���$ �$� �������$��$����!#$� ����%��%���!�%�



� �?1

���%�$��%� �$� ��� %!%��3�8� �%������!�$ �� *&�� ��%� :���%� ��7�� ��%� �%������%�  �� 
(�� %�$�

 !�����3�$����������!�$���%��������$��$����!#$� ����%��%���!�%'�

�

� �$��%��� �����7��%���3�������������!�3������&�%�����$� ��� 2!$��! � � �� ���+��! �"���

���&$�%� ����%�3� ���%�*&63!��%�����&�%��%� �$ ��$��%�����!$2��3��!#$�%�����������3���6��

 ����%��%���!�%����%�$��%8�%!$����3�!,$�&$�%!�$!2!�� ���%��&��&��������%�3� ���%8�� �3:%� ��

&$� %������� �&�$�!���!+���� ��%�3� ���%�*&63!��%� ��� �� ��� !$���������� �&�$�!���!+�3�$��� ��%�

%�J���%� ��
(�'��

�

(� !�$����%��������7��%���%��������*&����%��%�J���%� ��
(���!�$�$������!#$� !��������$���%�

2����!�$�%�3�����%� ����%��%���!�%���������$�����$���%���$��$����!�$�%� ����%��%���!�%�*&��

%��2��3�$'�
���$���!������3!���%&���!��*&��%���� �6�����$�����&$����$����!"��!#$� ���������

 ���������������� ����%�� !�!+! � �%�<��3��%&�� ���$�����%��%������%���!�%=8�����&����&� ��

$��%������!$ ���&$��3��� ����6���������� ����3!$��!#$� ���%���!�%���%&%���$%��$��%� ��

2��3��!#$��%��!� �%8�%!$����3�!,$�2!$������%���%�%��������� �%�������� ��3,�� �%�

�&�$�!���!+�%� ���$:�!%!%��3����$ ���%����,�$!��'�

�

�

�

�

�

�

�

�



� �?D

�

�

�

�
�����		����������
�
"��

�

�


����������!"��!#$�*&63!��� ����%�%!%��3�%��$��!"� �%��$��%��������7���&� ��� *&!�!��

�%���!���!3�����$�!�����*&���%��������7���%���+!$�&�� ����$��%�& !�%��:%!��%�*&���&%��$����

�� ��� �%��������� ��%� ��$ !�!�$�%�*&63!��%� � ��&� �%������ ��$��� � ��  ����3!$� �%� �%���!�%�

*&63!��%� �$� %��&�!#$8� �$� �%���!��� ��%� �%���!�%� ���!$&������%� ��$���  �� %!%��3�%� �!$��!�%�

��3�� �����$��!�%8������*&���%��%��&� �$�%����3���� �%���3������&�%���%��$���������%�� ��

!3����$��!#$����������!������ �����!���%�*&���& !���$�%���&�!�!"� �%��$������%�%� ������:�!%!%�

 �� 4! ������&��%'� ��� �%��� 3�$���� ��� ��$���� ��$� &$� 3� ���� *&63!��� ��$2!����� ����� ���

%!%��3�� ���3!��� �%��������� ��%� ��$ !�!�$�%�  �� 4! �#�!%!%� � ��&� �%� ����� ��� 2��3��!#$� ��

��� �3!$!�� ��&$���%���!��*&63!��� �� !$���,%������ ��� !3����$��!#$� �� ��%����!���%��������

�&��*&!��� ����� ���!���!#$� ���$��#�!��� �� �+!���� ��$� ����� ��� ��$��� *&��  ����3!$���

�3�6�!��3�$��� ��%� ��$ !�!�$�%� #��!3�%�  �� �����7�8� ��� �&��� � !3��!��� �!�3��� �� �$�3&�4�%�

���%!�$�%���%��%'�

�

�

�

�

�



� �?A

������
�
1�
�

�

�

H�I���4'�-'����%�5�'��$ �
'��'�(�%3��'��4��9� ����%!%��2����!�$%8�V!���8�����<�/C0='�

H?I��9�������-'�
'8��&���%%��'��$ ������R�
'�('����&�!�$��*&!�!��!�'�5�4$�V!�����$ ���$%8�

��������!��!$�<�/E�=�

H1I���4�$�����2!$'�*��!�+��� '�0F8�1�E�<�///=�

HDI��������Q'8�(�$ !���"��'�*������'��&��,()!�
!�-. '!�
&��/&0!�
'�'8��D��<?���=�

HAI��������!�('�
'8��&��&B��'8�
����'�5'����)�!���'�!����'8�(F8�D1�<?���=�

H0I��������!�('�
'8�������$ �5'��'8���&� ��'��'��'8���36$�&�"��5'�('����)�!���'�!����'8�(08�

�/A�<?���=�

HCI���������� 5'�S'8� ��%�%� 5'�('8� -��%%!$���� -'� �$ � 	���!��� 5'� �'8� 1!� -. '!�*.�2'8� ED8� ?/11�

<�/E�=�

HEI��_43�$��'��$ �-��%�!$��V'8�
����*.�2!�,��&'8�
(B8�C/A�<�/E�=�

H/I���'�'V'�>�&�4�$'�*���� '�'�+��� '�&8��EC�<�/EE='�

H��I�� ('
'� ������!'��� &���'� �&� /&�)0 � 3������� *���� '�'!� � '� �'� Q��!��&!$�8� ��%�+!��'�

�/EE8����'�

H��I�� 
'('�������'�-.�!�+)�&'!�3!�,��!�4�&��&'�
�(++8�111�<�/ED='�

H�?I�� ('
'�������!'��&�!�/&0!�*.�2!�-)��!�3�'!�5�6'�&&8�AA1�<�/E1='�

H�1I�� ('
'�������!��$ �
'('��!$ P�'�*�� '�*�� ���&�)'�(+8�??�<�/E1='�

H�DI�� �'��'�
�3�%.���+:$8��'���$ �+��.
����%8��'���%�!���.(���%��$ �5'�('���36$�&�"8�


�������*����'�0(8�0/�<�//0='�

H�AI�� 5'� -��$���$8�V'� 	'� ��!22!�48� 
'��'� 	�P���� �$ ��'� 	'�V�%�7� 1!� *.�2!� ,��!� 5����&�

+)�&''8��0A��<�/E/=�

H�0I�� �'��P�$��$ ��'�Q!$�8�1!�
2!�*.�2!�,��'8�BC8�/1C�<�/D1=�

H�CI�� �'��$��!'�
����*.�2!�,��&�'��/0?8�+C8�D1/'�

H�EI�� >'���� ��$ ��'�
�P�8�1!�*.�2!�,��'8�
�<�/?1=�

H�/I�� Q'�Q4��8�1!�*.�2!�,��'8�
���CC8�?/1?�<�/C�=�

H?�I�� �'�-��R!$%��$ �Q'�Q4��8�1!�*.�2!�,��'8�
�10��<�/C�=�

H?�I�� 5'����%%�� 8�5'��$���'��&��'��4�3'8�(&8�?0�C�<�/C�=�

H??I�� �'���!%��$!8�>'��&��4!8�('���$� &���$ ��'�
&�!$&8�-�� .��)�&8�F8�CE/�<�//�=�



� �?0

H?1I�� 9'�
����%��$ ��'�>�$� �������8�+���&��8�(B8�?C��<�/EE=�

H?DI�� �'������!$!8��'�>������$ �	'���$%'�+���&��'��/CD8�&+8�A1�

H?AI�� ��$%�	'8������!$!��'��$ �>������'8�1!�*.�2!�,��!�5����&�+)�&''8���/A�<�/EA=�

H?0I�� �'�9���!$%'��!����!����(��$��!��
�%�$�$��'�+���?8�	��$&3�	��%%8�����<�/E�=�

H?CI�� (�'�&"3:$��$ �5'�5'�9!�R%'�*��&���'�0&8�?�C�<�//�=�

H?EI�� Q'��%4!4���8��'�����%�P�8�Q'��3�3���8�9'������$ �Q'���!��'��&�)0�&���*.�2�'�) 8�

((8�1E���<�//D=�

H?/I�� �'�	&!� �3�$��48�(������<(�R!$���*&!�!��!&3��!����3%��%!$�����4!%�!��.�� �

�����!�43%=�
������$%�!�&����2����4$�����'�����R4��38��P� �$�

H1�I�� �������� 5'� �'8� (�����%.��36$�&�"� �'8� ��36$�&�"� 5'� ('8� �&�!,���"� �'8� 
�7�%.

9��$:$ �"��'8
�36��"�('��'�,����)��.�2!�
���'�	�����8�����;$�--�

H1�I�� ��4��2!�� �Q'��$ ��'�V'�������8�1�*.�2�,��'8�DDDA�<�/AD='�

H1?I�� �����$ ���S&!8�*.�2!�
�''8�0E8�A0�1��<�/AD=�

H11I�� �+�%��$�5'8�5'�*.�2!�,��'8�DD1E�<�/0A='�

H1DI�� -�!$R�
'��$ �	���4�('8��&�)!�*.�2'8�&8�18�DC1�<�/01=�

H1AI�� 
'��'��&$���8�*�&!�1!�*.�28�B(8��/8�?E���<�/CA=�

H10I�� �4�����8�����&3�� 5'�	'8��&���'8��4�3�%.��+! ��'8�
(��!� ,��!�*.�2!��)�&��8� C.E8�

�???.�??0�<�/ED='�

H1CI�� �#�4�S'8�Y,R�$��
'��$ ���`�4����'8�-�� .��)�&8�D8�18�EC��<�/ED=�

H1EI�� 5��������%8��$��'��4!3'�����8�+ED8��E��<�/E0=�

H1/I�� ���P$�	'8����+��
'��'��$ ���������'��'8�1!�*.�2!�,��!�5����&�+)�&''8��/0E�<�/EA=�

HD�I�� 
�����3�$�
'��'��$ ��%���R����'�
K8�8��!�3�''8�&08�E8�/D��<�//�=�

HD�I�� (��R�&$ ��'���_43�$�
'�
����*.�2!�,��&��&�6���8�008�??E�<�//�=�

HD?I�� �5'V'��R!��� �$ ��'�'�����$P�� 8��'�
'�Q4�$ ��P����$ ��'�
�%���'�1!�*.�2!�,��!�

5����&�+)�&''8�0�D�<�/C?=�

HD1I�� 5'�V'��RR!�'��$ ��'�-���4!$��'8�1!�*.�2!�,��!�5����&�+)�&''8��0�C�<�/E�='�

HDDI�� ��RR!��5'�V'8��� ��%�5'�('��$ �-�&$��!$��
'�
'8�1!�*.�2!�,��!�5����&�+)�&''8���DC�

<�/E0='�

HDAI�� �RR!��5'�V'�$ ���� ��%�5'�('8�1!�*.�2!�,��!�5����&�+)�&''8��1DC�<�/EE='�

HD0I�� ��RR!��5'�V'8��� ��%�5'�('8�-�&$��!$��
'�
'��$ �Q&$ ���'�('8�1!�*.�2!�,��!�5����&�

+)�&''8��EE/�<�/E/='�



� �?C

HDCI�� ��RR!��5'�V'8��� ��%�5'�('8�-�&$��!$��
'�
'��$ �Q&$ ���'�('8�1!�*.�2!�,��!�5����&�

+)�&''8��E/C�<�/E/=�

HDEI�� 5'� ('� ��36$�&�"8� 5'� �'� �������.	�"�%8� �'� 
#��".������8� ('� �'� 
�36��"8� �'�

��$ �+��.-����%��$ ��'�
�7�%.9��$:$ �"'�*���� '�'�+��� '�8�0(8�0/�<�//E=�

HD/I�� ('�
'�	��4���.9��$:$ �"8���%!%� ��(��%��6�8���(.�8�(,B!���<�///=�

HA�I�� ��%�����$� �'� V'8� ��'���9(:2���8� ? �8� �  !%�$.V�%���� ������3��!��$�8� �'�'�'�

<�/E1=�

HA�I�� V!�%�$��'��'��$ ���&���9!7�1!�
2�)!�*.�2!�,��'8�CD8�1A�/�<�/A?='�

HA?I�� ��"���$R��>'��'��$ ��$��$�+!�4�>'�	'8��&�)!�*.�2'8��18�E?A�<�/0E='�

HA1I�� S�3� ���'8��P�$�����'8�-&$�4�%4!�%'��$ ���$�R��('8��&�)!�*.�2'8�?18�1A?E�<�/ED=�

HADI�� ��3�!%!��'��$ ��������$�	'8��&�)!�*�2!�
���8����8�?A��<�/EA=�

HAAI�� 	'�
'����P$��$ �
'��'����+�'�1!�*.�2!�,��!�5����&�+)�&''��/EA�<�/0C='�

HA0I�� �'�����!�%8��'�9&�!��$ �Q'�
��3�$ '��&�)0!�*.�2'8��/E/8�&E8�1A1E'�

HACI�� ��������!��  �����& 8���)2���������� ��'�/'����'�;&���'���<���&�'8� A� 8�(,B!���

<�/EE=�

HAEI�� 9�������-'�
'8��&���%%��'� �$ ������R�
'�('����&�!�$��*&!�!��!�'� 5�4$�V!���� �$ �

��$%8���������!��!$��<�/E�=�

HA/I�� -'�
�%%���!���$ �9'�
�%%���!8�
����*.�2!�,��&�'8�+'8�CC/�<�/A0=�

H0�I�� �'��!� ��3�$$�8��'�
!'8�5'�S&�8�������4�3'����$ '8�+B8�AAA�<�/0�=�

H0�I�� �'��"!"���$ ��'�
���8�5'��$���'��&��'��4�3'8�(+8�?D1��<�/0/=�

H0?I�� �'��!� ��3�$$��$ ��'�-���!8�������4�3'����$ '8�
(C8�00��<�/E?=�

H01I�� ���P$�	'8�5'����!%8�
'����+�8�5'��4�3'����'������$����$%8��/���<�/?=�

H0DI�� �'('���� ���8�
'�K�Q�  8�
'�S�3 ��$!'�1!�*.�2!�,��!7�5����&�+)�&''�?0A1�<�//�=�

H0AI�� �'��4�3�%8�9'��h�"��$ ��'���4h$4���'�$!�*.�2'�&D8��E1�<�/EC='�

H00I�� 
�3����� 
!�4�� � V'� �*&!�!��!�� �� �$:�!%!%� �&63!��'� -�$ �� � &���!+��

�$����3��!��$�8��%��J��<�/E1=�

H0CI�� 
!$���3��'�-��3��!#$� ����3���7�%��$��&63!����$��6�!��'���4�3���8��%��J��

H0EI�� (����9��$:$ �"'�
'���%!%� ��3��%��6�'�-��.�&��!��:$8����('�(�B!���<�//C=�

H0/I�� '�!��,$��'�������!%���$��$����!�����4�3!%���'��'�('�Q���4�22��$ �	'�5'���+!$��� %'�

>��'��'�	�����'�V!���'���P�S��R�<�/A/='�



� �?E

HC�I�� ��$�����%� �'� 
'8� �3�����$�!��  �� ��� 
(�� �$� ��� �&63!��� �$���:$!��8� ����*&!�K�

�,�$!��%��$��6�!��%��3�����$��%��$��&63!����$���:$!��8��(��8�(,B!���<�//1=�

HC�I�� (�%�$�5'8�(&��!$&�������(
8�	��$&3�	��%%8�����<�/EC=�

HC?I�� ���4�$� 5'� �� �6�"� �'� �$��� &��!#$� �� ��� 
�%�$�$�!�� (��$,�!��� �&�����8� 
!3&%�8�

(,B!���<�/E�='��

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



� �?/


�#���	��+�
�

����������������������������#������
��1�	����
�
����
���������
	����

�

�

	���������,�(�
'���������'2(�����3�44�
�

� �$��!�������!�&���� ���*&!�!��!��*&63!��� ��!$���,%��$� !+��%�%�:3�!��%� ������!�$�!��

��������$����6���%���������%�� ��4! �#�!%!%8��%���%����2!��������%������!�$�%�*&63!��%��$���%�

�&���%�&$��%&�%��$�!���%�F �%��3�&�%��G����������&�'�
��4! �#�!%!%� ���%���!�%�!$���:$!��%�

%�� ��2!���� �� ��%� �����!�$�%� *&�� �!�$�$� �&���� �$� %��&�!�$�%�  �� %���%8� �$� ��%� �&���%� %�$�

2��3� �%�$&�+�%��%���!�%�!�$!��%�������!�!�� �%���3��#B! �%���4! �#B! �%'�
��4! �#�!%!%� ��

%���%��&� ��!$+��&�������$���������!#$���3������$!#$����!�$����3��%8��&$*&����$����3�$���

��%� �%�& !�%� %�� �$2���$� �� ��� 4! �#�!%!%�  �� ���!�$�%� ����� 2��3��� �%���!�%� %��&���%� ��$�

4! �#B! ��&��B!.��3���7�%8��%6���3�����2��3��!#$� ������!�!�� �%� ��4! �#B! �'�

�

� 	�:��!��3�$����� �%���%����!�$�%�%�$�������%� ��2��3���4! ��B�.��3���7�%8�����&���

$��  ���� %�����$ ��$�%� %!� ��$%! ���3�%� *&�� ��� �!��$ �� �9.� �%��� %!�3���� ���%�$��� �$� ���

��&�8��$���$��$����!�$�%�*&���&� �$�+��!����$����!$���+���� ����.�≤H�9.I≤��.�D��%�����3��

��%&��� ��  �� ���  !%��!��!#$�  ��� ��&�8� ��� +�����  �� ��� ��$��$����!#$�  �� ��%� !�$�%� 4! �#B!���

 ���$ ��:����� ��$��� ����9� ��� %!%��3�� ���� !�$�4! �#B!��� %�� ��� ���%!2!��� ��3��&$� �!��$���

2&����8� *&�� �&� �� 2��3��� ��3���7�%� 3&�� �%�����%� ��$� ���!�$�%� 3��:�!��%�  �� ���$%!�!#$�

3�$�%� �����!"����%� <F���!�$�%� 2&����%G=� �� ���+,%�  �� ��� 2��3��!#$�  �� �$����%�

��� �3!$�$��3�$��� !�$!��%'� �!$� �3�����8� ��3�!,$� %�� �&� �$� 2��3��� � 4! ��B���3���7�%�



� �1�

��$���%����3� �%�F���!�$�%�%&�+�%G� ����%�3�����%� ����%�.���$%!�!#$8�2��3�$ ���$����%���$�

&$������!��������:�������+���$��'�

�

� 
�� ��&��!#$� *&��  �%��!��� ��� �����!#$�  �� 2��3��!#$�  �� ��� &���%� %��&���%� �$� ���

�����%�� ��4! �#�!%!%8��%6���3������B���%!#$� �������$%��$��� ���*&!�!��!����%����!+��<����&���

��$����3�$���%����!*&������$������������!����β=�%��3&�%���$��$������&��!#$��'�'��8� ��! ����

���  !+��%! � �  �� ��3���7�%� *&�� %�� �&� �$� 2��3��8� ��� ��3�����3!�$���  ��� 3����� �$� &$��

%��&�!#$� �&� �� %���  !26�!��  �� !$���������� �� �%��� %��:� 2&$�!#$� ��$���  ��� �9� ��3��  �� ���

��$��$����!#$8� �%6� ��3��  �� ��� ! �$�! � � �� �%���!�! � �  �� ��%� ��� &���%� 2��3� �%� �$� ���

�����%�� ��4! �#�!%!%'�

�

��

����

�<

��

���

��

�

�

	�	�

	��	��	���

IH

IHI=<H
X

=<

=<

8

=<
?

+

+−

+−+

=

+↔+

β

�� <��'��'�'�=�

�

� 
�� ����3!$��!#$� ����%��%���!�%�*&��%��2��3�$� &��$������4! �#�!%!%8��%6���3��%&%�

��$%��$��%� ���*&!�!��!����$����3�$����%������3��J� �� �����&$�%� !2!�&��� �%���3��%�$K�

�

<1=� 
�%� 4! ��B���3���7�%� 2��3� �%� �&� �$� %��� �%���!�%� ��$��� 3�$�$&������%� ��3��

���!$&������%8��%� ��!���%���!�%�*&����$�!�$�$�3:%� ��&$�!�$�3��:�!��'�
�� !+��%! � � ��

�%���!�%� ��%!���%� �� ��� ����!�!#$�  �� �%��%� �$� 3����� �� 3�$�%� �������!#$�  �� 3�$����

%!3&���$��� !2!�&����%&���������!"��!#$��� ����3!$��!#$� ��%&��%���!�! � '�

�



� �1�

<D=� ���!$���+���� ���9��$�����&���%���&� ���%�& !������2��3��!#$� ����%�4! ��B���3���7�%�

�&� �8��$����%!�$�%8�%����!3!�� �������������!�!���!#$� ���4! �#B! ��������B! �� ���!�$�

3��:�!��'�

�

�

�!$� �3�����8� ��%�� �� ��%�  !2!�&��� �%� �$��%� %�J��� �%� %�� 4�$�  �%������� ��  �% ��

��!$�!�!�%� ���%!����))�$&3���%�%��%�& !�%����������! �$�!2!���!#$�����������!"��!#$� ��

 !+��%�%� �%���!�%� 2��3� �%� �$� ��� 4! �#�!%!%�  �� ��� 3����6��  �� ��%� !�$�%� 3��:�!��%8�

���&��3�$��� ��%� �B���!3�$���!�$�%�*&�����3!��$� ��$����� ���$��&����"�� �� ��� �%���!�%�

*&63!��%�8��%6���3��%&%���$%��$��%� ��2��3��!#$�%��%!�&�$� �%�������$ ������ !+��%�%�

�,�$!��%�!$%��&3�$����%��N����$������& �� ��������3�%���3�&���!�$���%'�

�

	�������������������)�)�����*���3���

�

� �%��%� �%���!�%� %�� 2��3�$� ��$� ��:��!��3�$��� �� �%� ��%� ���!�$�%8� ����� ��%� 3�����%�

�����!$�%� �&� �$� 2��3��� &$�� ��3:%� ��� &���%�  �� 4! �#�!%!%�3�$�$&������%8� %�$� �%���!�%�

�&���2��3��!#$�%���&� �� �%��!�!��3� !�$��������&��!#$��'�'?'�

�

IH

IHI=<H
X

=<

=<

=<
?

+

+−

+−+

=

+↔+

�

���

�

�

��

 

�

�

	�	�

	��	��	��

β

� � <��'��'�'?=�

�

�



� �1?


!+!+!&!��-;�9,�-�;5 ,�39 ��$�-+��&�
�


�%� �&�$��%� *&�� ��� 4! �#B! �� �&� �� 2��3��� ������$� %��� ��%� ��%��$%����%�  �� ���

2��3��!#$� ����%!� �� �%� ��%��%���!�%����!$&������%� ����%����!�$�%� !.8� ��!.��� �����.+���$��%�

%!�$ �� ��� !�$� 4! �#B! �� ��3����! �� ��$�  �%� �� ���%� ���!�$�%� � ����$��%'� 
�� 2��3��!#$�  ��

�%��%��%���!�%�%���&� �� �%��!�!�� ��3�$������$�����3� !�$��������&��!#$��'�8��$�����&���%��

�%&3��*&�������� ���9.�*&��%����$����%���%��:���3����! ����$��<��:��3�%� ������!#$'�
�%�

��$2!�&���!�$�%� ����%��%���!�%����!$&������%�%�$��*&����%�*&��3&�%���$�%!3���6�'�(&�4�%�

 �� ��%� �%��&��&��%� �&� �$� %��� �$%�3��� �%� ����  �%8� ���%8� �&����8� �!$��� �� %�!%� :��3�%�

3�$��$!,$ �%��&$! �%�����3� !�� ���!�$�4! �#B! ��

�

	���������	0'	�	���������'�
,��2��
�


!+!&!+!�1$�99,5��-��5 �$�-�6��	5/;5���.�+��&��CD�
�

�B!%��$� !+��%�%������%�$���!�$�%���:2!��%�������� ���3�%����������3�����3!�$�����

������2!�� ����%��%���!�%��$�2&$�!#$� ����9� ���%!%��3�8��%��%��&� ������!"��%����$���%������%�

��$��$����!�$�%�  �� ��%� �%���!�%8�  �� ��%� ��$�! � �%�  �� �%��%� �� �!�$� �$� 2&$�!#$�  �� ��%�

2����!�$�%�3�����%'�	�������3�$���&$�� ����%������%�$���!�$�%���:2!��%�3:%��3���� �%�%�$�

��%� !����3�%� �� !%��!�&�!#$� ���%���!�%��$���%��&���%�%��3&�%���������3�����3!�$��� ����%�

2����!�$�%�3�����%���3��&$��2&$�!#$� ����9�<�$������%�� �������%�%� ��4! �#�!%!%8����!�$�

�&�$ �����%!%��3�� ���$ �� ����9='�

�


�� �����%�$���!#$� ��:2!��� 3:%� �3���� �� �����$�� ��� �:��&���  �� ��%� 2����!�$�%�

3�����%� ����3��$�$���<��3�!,$���$��! ����3��2����!�$�%� ����$�! � =8�����%� ����3!$�$�



� �11

��� 2����!#$� ����$�! � � ��&$���3��$�$���*&���� ���%���!�� �!�$����$� �����!#$���� ������ ��

 !�4�� ��3��$�$��� �$� ��� %��&�!#$� �� %!%��3�8� �%��%� %��  �%��!��$�  �� ��&�� �� �� ��� ��&��!#$�

�'�'1'�

�

[ ]
[ ]

[ ]
[ ]{ }∑ ∑ 



===

−

−−

−

� �

��

��

��

��

�����

��

��

�	���

�	��

�	��

�

�	��
�� ��

��

1

11

=<

=<

=<=<
1

�� <��'��'�'1=�

�

	���� ��3���$ ���3�7��� ��� �$���!��� ��$%! ���3�%� &$� ��!3��� �7�3���� �$� ��� *&�� %��

�!�$����������%�� ��4! �#�!%!%� ������!#$��� �%��!������������&��!#$��'�'�8�2��3:$ �%�� �%�

��3���7�%�3�$�$&������%�8�&$�� ���%��*&!�3���6���K���������3:%� ���%��*&!�3���6���K?8���%�

�*&!�!��!�%���%&%��B���%!�$�%� ����$%��$��%� ��2��3��!#$��%6���3����%�+�����%�%&�&�%��%� ��

�%��%�&��!3�%�%�$���%�%!�&!�$��%K�

�

A'�D

"

?=?"<

?
?

=?"<

??

"

?'D

"

=�"<

�

=�"<

?

"

��
I(H

I9HI=�9<(H
X9?=�9<(�9?(

��
I(H

I9HI=�9<(H
X9=�9<(�9(

−

+

+−
+−+

−

+

+−

+−+

==β+↔+

==β+↔+
� <��'��'�'D=�

�

��%� 2����!�$�%� 3�����%�  �� ��3��$�$��� ����� �� �� &$��  �� ��%� �%���!�%� �%�:$�  �2!$! �%�  ��

��&�� �������$7&$��� ����&��!�$�%��'�'A'�



� �1D

I=�9<(HI=�9<(HI(H

I=�9<(H
-

I=�9<(HI=�9<(HI(H

I=�9<(H
-

I=�9<(HI=�9<(HI(H

I(H
-

?"

?

�""

?"

?

=�9<(

?"

?

�""

�"

=�9<(

?"

?

�""

"

(

?"

?

�"

−−+

−

−−+

−

−−+

+

++
=

++
=

++
=

−

−
� <��'��'�'A=�

�

%!� �$� ��%� �B���%!�$�%� �$���!���%� %&%�!�&!3�%� ��%� ��$��$����!�$�%�  ����3!$� �%� �� ����!��  ��

�'�'D�%�����!�$�K�

?

?�

?

?

=�9<(

?

?�

�

=�9<(

?

?�
(

I9NHXI9NHX�

I9NHX
-

I9NHXI9NHX�

I9NHX
-

I9NHXI9NHX�

�
-

?"

?

�"

"

++

+

++

+

++

β+β+
β=

β+β+
β=

β+β+
=

−

−

+

� <��'��'�'0=�

�

�$� �%��%� ��&��!�$�%� %�� �&� �� �����!��� *&�� �$� %!%��3�%� �$�  �$ �� %���3�$��� %�� 2��3�$�

�%���!�%�3�$�$&������%� !�4�%� 2����!�$�%� %�$� !$ ���$ !�$��%� �� �����$��$����!#$� ��� !�$�

3��:�!��8���� !����3�������%��$ !�$���%���&� �������!����$����2!�&����'�'�'�

�

�

�

�



� �1A

�9

-(

� '�

� '?

� 'D

� '0

� 'E

� '�

� '� ? '� D '� 0 '� E '� �� '� �? '� �D '�

�

1,83$��
!+!+'��!����3�� �� !%��!�&�!#$� ��2����!�$�%� ����3��$�$��������&$�%!%��3���$����*&����%�
��� &���%� ��4! �#�!%!%�%�$�(<�9=".����(<�9=?

".?���$�g���Xβ� ��D'?����D'A���%����!+�3�$���<�ff�=�
2����!#$�3����� ��("^�8��<�.�.�=�2����!#$�3����� ��(<�9=".��8��<.).=�2����!#$�3����� ��(<�9=?

".?'�
�

� ��$%! ���3�%� �4���� &$� %!%��3�� �$� ��� *&�� %�� 2��3�� &$�� �%���!�� 3�$�$&������  ��

�%��*&!�3���6�� <�8�=8� �%6� ��3��  �%� �%���!�%� ���!$&������%8� &$�  63���� <?8?=� �� &$� ��63����

<18D=8��&��%��*&!�!��!�%� ��2��3��!#$��%�:$� �%��!��%������'�'C'�

�

/'�1

1"

D=D"1<

D1
D81

=D"1<

D1?

"

C'C

?"

?=?"?<

??
?8?

=?"?<

???

"

?'D

"

=�"<

�

=�"<

?

"

��
I(H

I9HI=�9<(H
X9D=�9<(�9D(1

��
I(H

I9HI=�9<(H
X9?=�9<(�9?(?

��
I(H

I9HI=�9<(H
X9=�9<(�9(

−

+

+−
+−+

−

+

+−
+−+

−

+

+−
+−+

==β+↔+

==β+↔+

==β+↔+

� ��<��'��'�'C=�

�

%!�&!�$ ��&$������ !3!�$���%!3!��������$��%� �%��!���%���&� �$�����$�����%��B���%!�$�%������

�� ��&$�� ����%�2����!�$�%�3�����%� �����3��$�$���(��$��� ��&$�� ����%��%���!�%�*&63!��%�

�$�%��&�!#$K�



� �10

���������������

I=�9<(H1I=�9<(H?I=�9<(HI(H

I=�9<(H1
-

I=�9<(H1I=�9<(H?I=�9<(HI(H

I=�9<(H?
-

I=�9<(H1I=�9<(H?I=�9<(HI(H

I=�9<(H
-

I=�9<(H1I=�9<(H?I=�9<(HI(H

I(H
-

D"1

D1

?"?

??

�""

D"1

D1

=�9<(

D"1

D1

?"?

??

�""

?"?

??

=�9<(

D"1

D1

?"?

??

�""

�"

=�9<(

D"1

D1

?"?

??

�""

"

(

D"1

D1

?"?

??

�"

−−−+

−

−−−+

−

−−−+

−

−−−+

+

+++
=

+++
=

+++
=

+++
=

−

−

−

� <��'��'�'E=�

�

��

D?

D81

?

?8?�

D?

D81

=�9<(

D?

D81

?

?8?�

?

?8?

=�9<(

D?

D81

?

?8?�

�

=�9<(

D?

D81

?

?8?�
(

I9NHI(HX1I9NHI(HX?I9NHX�

I9NHI(HX1
-

I9NHI(HX1I9NHI(HX?I9NHX�

I9NHI(HX?
-

I9NHI(HX1I9NHI(HX?I9NHX�

I9NHX
-

I9NHI(HX1I9NHI(HX?I9NHX�

�
-

?"?

??

?"?

??

�"

"

+++

+

+++

+

+++

+

+++

β+β+β+
β=

β+β+β+
β=

β+β+β+
β=

β+β+β+
=

−

−

−

+

�<��'��'�'/=�

�

�$� �%��%� �B���%!�$�%� �%� 2���!���� �����!��� *&�� �&�$ �� 4��� ��� ���%�$�!��  �� �%���!�%�

���!$&������%8� ��%� 2&$�!�$�%� %�� 4���$�  ���$ !�$��%�  �� ��� ��$��$����!#$�  ��� ��3��$�$���

%����� ��� �&��� %�� ����!"�� ��� �$:�!%!%8� �%��� �&� �� �����!��%�� ��3�!,$� �$� ��%�  !����3�%�  ��

 !%��!�&�!#$� *&�� %�� 3&�%���$� �$� ��� 2!�&��� �'�'?'� �%6� %�� �&� �� ��%��+��� ��3�� �� &$��

��$��$����!#$� ���'���(����2����!#$� ���3�$�$&�������%�3&�4��3�����*&����� ��� !3���8�

%!$��3�������&�$ �������$��$����!#$������� ���!�$�3��:�!����%� ���'�(�<2!�&����'�'?�=��%���

��3�����3!�$���%��!$+!����8�� �3:%� ��*&��������!#$� ���9��$����*&�������!3������������%��

!$���3�$���



� �1C

�'�

�'E

�'0

�'D

�'?

�'�

�D�?��E0D?

�'�

�'E

�'0

�'D

�'?

�'�

�D�?��E0D?
�9

-(

�9

-(

��� �4� �

1,83$��
!+!&'�'��!����3�%� �� !%��!�&�!#$� ��2����!�$�%� ����3��$�$��������&$�%!%��3���$����*&��
��%���� &���%� ��4! �#�!%!%�%�$�(<�9=".����(?<�9=?

?".?���(1<�9=D
1".D���$�g���Xβ� ��1'?8�D'C����1'/�

��%����!+�3�$���<�ff�=�2����!#$�3����� ��("^�8��<.+.=�2����!#$�3����� ��(<�9=".��8�<�.�.�=�(?<�9=?
?".?�

<.).=�2����!#$�3����� ��(1<�9=D
1".D�<�=�H("^I�����U�'���(Z��<�=�H("^I�����U�'��(�

�
�

�


!+!&!&!�1$�99,5��-��5 �$�-�6���-;�9,�CE�
�

�%���%!�������$�����������!��� ��2����!�$�%��������%��%���!�%����%�$��%��$�&$�%!%��3�8�

�$�����%�%���&� �� ����3!$��������$��$����!#$�3����� ��&$���%���!���$����%��&�!#$��$�������

%&3�� ����%���$��$����!�$�%� ���� �%���%��%���!�%����%�$��%8��%��%�2����!�$�%�$�%����3!��$��

�%��������� ��� ��&$ �$�!�� �����!+��  �� ��%� �%���!�%� �$� ��� %!%��3�'� �%��%� %��  �2!$�$� ���� ���

��&��!#$��'�'��'�

�



� �1E

∑ ∑ 













=Σ





==

−

−−

−

! 7

7!1

7!

7!1

7!

(

7!1

7!

=�9<(!7

=�9<(

=�9<(=�9<(
22 7!1

7! ���� <��'��'�'��=�

�


�� ��3�����!#$�  �� ��%� ��&��!�$�%� �'�'1� �� �'�'��� 3&�%���� �����3�$��� *&�� ��%�

2����!�$�%�  �� ��3��$�$��� ��  �� �%���!�� %�$� !�&���%� �&�$ �� %�� �!�$�$� %���3�$��� �%���!�%�

3�$�$&������%8� %!$� �3������ %�$�  !2���$��%� %!� %�� ���%�$��$� �%���!�%� ���!$&������%� �$� ���

%!%��3�'��%���%�� ������*&���$���� �2!$!�!#$� ����%�2����!�$�%� �����3��$�$���%����$%! ����

������2!�!�$����%��*&!�3,��!��� �����3��$�$���(���3��3&��!��!��$ ���$����$&3��� ��8���

���*&���$��%����%�������$��$����!#$������� �����3��$�$���<H(I�����=��%�3�����*&�����%&3��

%!3���� ����%���$��$����!�$�%� ����%��%���!�%�<Σ(='�

�

� 
���3�$ �� ��� �7�3���� �$��!"� �� �$���!��3�$��� ��$� �%���!�%� ���!$&������%��

��$ �6�3�%� *&�� �$� �%��� ��%�8� ��%� 2����!�$�%� 3�����%�  �� �%���!�� %��  �2!$!�6�$� ���� ��%�

��&��!�$�%�3�%��� �%��$��'�'������'�'�?'�

�

I=<HI=<HI=<HIH

I=<H

I=<HI=<HI=<HIH

I=<H

I=<HI=<HI=<HIH

I=<H

I=<HI=<HI=<HIH

IH

D1
D1

??
??

�

D1
D1

=<

D1
D1

??
??

�

??
??

=<

D1
D1

??
??

�

�

=<

D1
D1

??
??

�

D1
D1

??
??

�

−−−+

−

−−−+

−

−−−+

−

−−−+

+

+++
=

+++
=

+++
=

+++
=

−

−

−

����

�

�	�

����

�

�	�

����

�

�	�

����

�

�

�	��	��	��

�	�
�

�	��	��	��

�	�
�

�	��	��	��

�	�
�

�	��	��	��

�
�

�

�

�

� <��'��'�'��=�

�



� �1/

D?
D81

?
?8?�

D?
D81

=<

D?
D81

?
?8?�

?
?8?

=<

D?
D81

?
?8?�

�
=<

D?
D81

?
?8?�

INHIHXINHIHXINHX�

INHIHX

INHIHXINHIHXINHX�

INHIHX

INHIHXINHIHXINHX�

INHX

INHIHXINHIHXINHX�

�

??
??

??
??

�

+++

+

+++

+

+++

+

+++

+++
=

+++
=

+++
=

+++
=

−

−

−

+

	�	�	

	�
�

	�	�	

	�
�

	�	�	

	
�

	�	�	
�

�

�

�

�

�	�

�	�

�	�

�

βββ
β

βββ
β

βββ
β

βββ

� <��'��'�'�?=�

�

�

5$5�

5$8�

5$.�

5$9�

5$:�

"$5�

5$5� 8$5� .$5� 9$5� :$5� "5$5� "8$5� ".$5�

	
�

�2�

�

1,83$��
!+!('�'��!����3�%� �� !%��!�&�!#$� ��2����!�$�%� ���%���!�������&$�%!%��3���$����*&����%�
��� &���%� �� 4! �#�!%!%� %�$�(<�9=".�� ��(?<�9=?

?".?� ��(1<�9=D
1".D� ��$�g���Xβ�  �� 1'?8� D'C��� �1'/�

��%����!+�3�$��8� ����� H("^I�����U�'��(8� <� ff� =� 2����!#$� 3�����  �� ("^� 8� � <.+.=� 2����!#$� 3�����  ��
(<�9=".��8�<�.�.�=�(?<�9=?

?".?�<.).=�2����!#$�3����� ��(1<�9=D
1".D��



� �D�

�


�� 2!�&��� �'�'1� 3&�%���� ���  !����3��  ��  !%��!�&�!#$�  �� 2����!�$�%� 3�����%�  ��

�%���!�%��&�$ �������$��$����!#$� ��� !�$�3��:�!����%� ���'�(8�����&���%���&� ����3������

��$���� !����3�� �� ��� 2!�&����'�'?����%���&� �������!���*&��4��� !2���$�!�%������%��$� ��%�

2����!�$�%�  ����3!$� �%8� �%6� ���� �7�3���� %�� �&� �� ��%��+��� *&�� �$� ���  !����3��  ��

2����!�$�%�  �� ��3��$�$��� ��� 2����!#$�  �� !�$� 3��:�!��� ���%�$��� �$� ���  !3���� �%� 3&��

%&���!��8� ��:��!��3�$��� ���  ����8�  �� ��� *&�� %�� �!�$�� �$� ���3�$�3���� �$� &$� !$���+����  ��

D'�≤�9≤E'�8�%!$��3�����������3��������� !2���$�!���$������%�2����!�$�%�*&��%���!�$�$��$���%�

��$��$����!�$�%�<2����!�$�%� ���%���!�=��%���$���%���$�3���� �'�

�

�

	���+����5��'��&'����������(�0	�����3��3�463�47�
�

� �$��2&$�!#$�*&��4��%! �� �����$�&�!�! � �������� �����$���������������!#$��$����*&��

��� !�$� 4! �#B! �� %�� �����!�$�� ��$� ��� !�$� 3��:�!��� �%� ��� 2&$�!#$� ����&�%��� ���� �7���&3�

��$��! �� ��3�� $O3���� ���3� !��  �� �!��$��%� <J=8� �%��� 2&$�!#$� $�%� ���3!���  �� 3�$����

��$����� ��$����� ��� �����!#$�3�����  �� �!��$��� <�$� $&�%���� ��%���9.=� �%��!� �%� ��$� ��� !�$�

3��:�!��'��%���2&$�!#$��%��� �2!$! �� ��3�$������$��������� �����&��!#$��'�'�18��$�����&���

�
����(������%�$��$���%���$��$����!�$�%�������%� ���!��$ ����3�������%����!+�3�$�����H
I�

�����%�$��� ��� ��$��$����!#$� �!����  �� �!��$ �'� �!� ��$%! ���3�%� %���3�$��� ��%� 4! ��B�.

��3���7�%�3�$�$&������%� ��� ��%��B���%!�$�%� �� ���� �����!#$� ��3�%�%� �� ��%���3���7�%�

*&��%���& !���$�2��3������2&$�!#$�J��&� �������%�$���%�� ����&�� �����'�'�DK�

�



� �D�

(




�

I
H�
J

−
= � � � � � <��'��'�'�1=�

�

5

5

?

?�

5

5

?

?�

7"

7

?"

?

�""

7"

7

?"

?

�"

I9NH'''I9NHI9NH�

I9NH7'''I9NH?I9NH
J

I=�9<(H'''I=�9<(HI(�9HI(H

I=�9<(H7'''I=�9<(H?I(�9H
J

+++

+++

−−−+

−−−

β++β+β+
β++β+β=

++++
+++=

� � <��'��'�'�D=�

�

�!� �$��!"�3�%� ��%� �B���%!�$�%� �$���!���%8� �� %&%�!�&!3�%� ��� ��$7&$���  �� ��&��!�$�%�

�'0��� �3�%�����$���&$���B���%!#$��$� 2&$�!#$� �� ��%� 2����!�$�%�3�����%� ����3��$�$���

<��&��!#$��'�'�A=�

�

∑=
7

77-J � � � � <��'��'�'�A=�

�

� �%� !3�����$��� �&$�&��!"��� *&�� �&�$ �� %���3�$��� %�� �!�$�$� ���%�$��%� �%���!�%�

3�$�$&������%� ��� 2&$�!#$� J� $��  ���$ ��  �� ��� ��$��$����!#$� ������  ��� !�$� 3��:�!��8� ��

%���3�$���  ���$ ��  �� ��� ��$��$����!#$�  ��� �!��$ �'� 
�� 2!�&��� �'�'D� 3&�%���� ���

��3�����3!�$��� ���$O3�������3� !�� ���!��$��%��$�2&$�!#$� ����9������%!%��3�%��$���%�

*&�� %�� %&�&%�� ��� 2��3��!#$�  �� �%���!�%� 3�$�$&������%� O$!��3�$��8� �$� ����%� %�� �&� ��

�����!���*&�����+�����3:B!3�� �����2&$�!#$�%�������!�$����$����$O3����3:B!3�� ���!��$��%�

*&��%���&� �$��$��"������!�$�3��:�!��'�

�

�



� �D?

�

�

�

�'A

�

�'A

?

?'A

1

� � ? 1 D A 0 C �9

J

<�=

<�=

<�=

�

1,83$��
!+!0!��O3�������3� !�� �� �!��$ �%� <J=8� �$� 2&$�!#$� ��� �9������ %!%��3�%� �$� ��%� *&�� %��
2��3�$�%���3�$����%���!�%�3�$�$&������%�<�=�(<�9=".�Z�<�=(<�9=".�����(<�9=?

".?8�<�=�(<�9=".�8�
(<�9=?

".?� �� (<�9=1
".1� H(<�9=".�� � .
��� Xβ�UD'�8� (<�9=?

".?� � .
��� Xβ?UC'�� �� (<�9=1
".1�


��Xβ1U��'�I�
�

�

� �&�$ ���$����%!%��3��%���!�$���%���!�%����!$&������%�%���&� �����$�����&$��2&$�!#$�

%!3!��������� ���$O3�������3� !�� ���!��$��%�*&��%!��!�$�������!�$��3�$����!�$�����3!%3��

 �2!$!�!#$8� ��� %!�$!2!�� ��  �� ,%���  �� ��&�� �� ��$� �!���$0/� ��3�!�8� ��� *&�� $�� �%� ��%!����

�����!��������$�! � � ���!��$ �%�&$! �%����!�$�3��:�!�����$����8�%!$��*&���4�������2&$�!#$�%��

+&��+�� ���$ !�$��� �������$��$����!#$���$��� �� �!��$�����3�� ��3����8���,%���%�� ��� �����

$�3���� ��2&$�!#$� ��2��3��!#$�<Y='��!�4��2&$�!#$�%&�����3�����%��������� ��� ��! !��%!�



� �D1

��%���3���7�%����%�$��%��$�&$�%!%��3��%�$�3�$�$&������%������!$&������%8�%!��$����%!%��3��

%�� 2��3�$� �%��%� O��!3�%8� &$�� +��!��!#$� �$� ��� ��$��$����!#$�  ��� 3����� ��$����:� &$�

 �%���"�3!�$����$�����&�+�8� ��2��3������*&���$����3�����%��������$��$����!#$8�3�����%��:�

��� 2����!#$�  �� ��3���7�%� ���!$&������%� �� ��� ��$����!�� ��&��!�:� ���  !�&!�%�� ��� %��&�!#$'� ���

������� �� �!�����  !�&�!#$� %�� 2��3�� ��� *&�� %�� ��$���� ��3�� F���� � 3�$�$&�����G� ��� *&��

!3��!��� *&�� %!� ��� ��$��$����!#$�  ��� 3����� %!�&��  !%3!$&��$ �� ��� �&�+�� ���3�$����:�

��$%��$��8����*&��%��������� !�&�!#$�%��4���:�����$"� ������%�� ��3�$�$&�������$����%!%��3�'�

�


�� ��&��!#$�*&�� �%��!��� �� �%��� 2&$�!#$���$%! ���� �4���� �� ��� ��$�! � � ��$O����%�

3��:�!��%� �$��"� �%� �� �� �� �!��$��� �$� ��%� �%���!�%� ���!$&������%� �� %��  �%��!��� �$� ���

��&��!#$��'�'�0'�

�

∑ ∑ 



 


=

!
!7

7

-
!

7
Y � � � <��'��'�'�0=�

�

� �$� ��� 2!�&��� �'�'A� %�� !�&%���� ��� ��3�����3!�$���  �� ��� 2&$�!#$� Y� ����� ��� %!%��3��

����&�%����$���������� �� ���'�'?'?��$����*&��%��%&�&%��&$���%���!��3�$�$&������<�8�=8�&$�

 !3���� <?8?=� �� &$� ��63���� <18D=8� �$� ����� %�� �&� �� �����!��� *&�� ��$2��3�� %�� 3� !2!��� ���

��$��$����!#$� ������  ���3����� ��� ��:2!��� %&2���  �%���"�3!�$��8� � �3:%� %�� ��%��+�� *&�� ���

��$��� ��$��$����!�$�%�3�$���%�  �� ��.0(� %�� ���%�$��� ��� F���� �3�$�$&�����G8� ��� *&�� ���

2&$�!#$����%�$������3!%3����3�����3!�$��'�

�

�

�



� �DD

�

�

5$5

5$#

5$9

5$ 

"$8

5 8 . 9 : �9

Y

<�=<�= <�= < = <�=
<2=

	��� �
(�$�$&�����

�

1,83$�� 
!+!B!� -&$�!#$�  �� 2��3��!#$� <Y=� ����� &$� %!%��3�� �$� ��� *&�� %�� 2��3�$� (<�9=".�� ��
(?<�9=?

?".?���(1<�9=D
1".D���$�g���Xβ� ��1'?8�D'C����1'/���%����!+�3�$��8�<�=�H("^I�����U��

.��(Z�<�=�
H("^I�����U��

.?�(Z�<�=�H("^I�����U��
.1�(Z�< =�H("^I�����U��

.D�(Z�<�=�H("^I�����U��
.A�(Z�<2=�H("^I�����≤��.0�

(�
�

�

�&�$ �� %�� �!�$�� !$2��3��!#$� �B���!3�$���� �� %��  �%��� ����$��� ��� 2&$�!#$�  ��

2��3��!#$8� ����� �� ��� 4����� ��� ��3�����!#$� ��$� �*&����� ����$! �� �� ����!��  �� &$�3� ����

*&63!��8��%�$���%��!����$�������%�+�����%� ���9�<������$%��&�$�!�������$��$����!#$� ��9^=�

�������$��$����!#$������� ���!�$�3��:�!��'�
���B���%!#$�*&�����3!�������!"����%�������&���%��



� �DA

�B���%���$������&��!#$��'�'�C��

�

�����

"
�����

I(H

I9HI�9HI�9H
Y

+

+−−
+−

= � � <��'��'�'�C=�

�

�$� �$ �� H�9.I������ �%� !�&����� �����$�! � � ������ �� !�$�%�4! �#B! ��� !�!�$� �%���� %!%��3�8��

H�9.I��%������$��$����!#$� ���!�$�4! �#B! �����+�$!�$��� �����&����H9^I��%������$��$����!#$�

 �������$�%�� !�!�$� �%8��������*&�������&��!#$�%���&� �������%�$������3�K�

�

�����

"

�9�9

P�����

I(H

I��HI��NQHI�9H
Y

+

−−−
+−

= � � <��'��'�'�E=�

�

�������������
�� ����$�!#$�  �� �%��� 2&$�!#$� �� ����!��  ��  ���%� �B���!3�$����%� ���3!��� ��� �� ���

4����� &$�� ��3�����!#$� �$���� �%��� �� ��� ����$! �� ��$� ��%�� �$� &$�3� ���� ����&�%��� �� ����

��$��� ��%&���� &$�� 4����3!�$��� !3�����$��� ����� �� ��� �%��������� *&�� ��$� � ��&� �� �&� ��

��%&��������3� ��������&�%��'�

�

�

�

�

�

�

�



� �D0


�#���	��&�
�

	��	����������	�������

�����
�	�
��

�#��	
���	��
��������

�

�


!&!+!�
���	��������

�

� 
�������%!�!#$� ��*&����%�$O����%���#3!��%���%��$�3�3�$��%�3��$,�!��%�%�� ������


!$&%� 	�&�!$�� �$� �/?�'� �$� �/D0� 	&������ �� ����4� ���������$� !$ ���$ !�$��3�$��� *&�� ���

��%�$�$�!��3��$,�!���$&������ �������#$��� 6����%��+��%���$��������2!$���������&�8��%�����%�

+��!#�������3!���#���� ��*&63!����$��/A?'�������!�� ����%��J�%��!$�&�$��%�%����3�$"���$���

&�!�!"�����%���!3���%��*&!��%� ���������%��&�!#$8� ����$�%#���D�(9"8��3��":$ �%����$��%��%�

!$%��&3�$��%� ��� �%���$ ���  �� ��� *&63!��� ���:$!��'� 	��� ���3!%3�� ,����� %�� ��3�$"���$� ��

��%��+�����%�$O����%�!$���:$!��%�3:%�2:�!��%���3������/-8����8�������1�	�%!$��3���������$�

$���%��!�%����$ �%���$�! � �%� ��3&�%��������&�����%��!$�6��%&� ����3!$��!#$C�'�

�

� ����!$�!�!�%� ���/C����$����� +�$!3!�$��� ����%��,�$!��%� ���&�%����$����$%2��3� ��

 ��-�&�!��8�*&�����3!�������$����%������%��$��!�3��%�3&�������%���� �3:%���&3&�����%8�%��

3�7��#� ��� %�$%!�!�! � � �� %�� ��3�$"���$� �� �%�& !��� !%#����%� *&�� %�� �$��$�����$� �$� ��7��

��$��$����!#$���*&�����$� !26�!��%� ����%��+��'�������!�� ���%��3�3�$�����$��%��� �,�$!���

�3�!�"��&$��$&�+����������������
(�'����&��3�$�����$���%�%&�����$ &�����%�%�����!�$�$�

��3��%�3��$,�!��%�3�%�����$��%���$�����&���%��3�7�������%�$%!�!�! � C�'�

�

%$8$8$�3<@3'1/%/1B�=K;�1%<1B�L��%�;@=/';'M=�/1�<1B@=%=;'%$�



� �DC

�

� 
�%�$O����%�*&����%��$�&$�3�3�$����$�&���� ���%�6$����!�$�$��%��!� ��&$���3���

3��$,�!��� �� %�� ��3�����$� ��3��  !����%� 3��$,�!��%8� ��� �&��� �!�$ �� �� ��!$���%�� ��$� &$�

��3���3��$,�!������!�� ������ !$������&�����$� !����%�+��!$�%'����3�3�$���3��$,�!���µµµµ�

*&�� ����3!$������$���6������$�!���/� ��� !�����3��$,�!���$&�������$�&$���3���3��$,�!���

 ��2&��"��
���%��� �2!$! �����������&��!#$��'?'�C�8C�'�

�

������������������������������������������������/U�.µµµµ�
��������������������������������������������<��'��'?'�=�

�

�

�

� �$����%�$�!�� ��&$���3���3��$,�!�����%�$O����%�%����!$��$��$�+��!�%���!�$���!�$�%�

���3!�! �%8� � �%�������%���3��$�$��%���%��+����%� ������@8�%!�$ ��������$O3�����&:$�!���

3��$,�!���<��=�*&���&� �� ��3��� ��%�+�����%� ���8� <�.�=8'''''8<.�^�=8� .�8�*&�������%��$ �$���

��%�  !2���$��%� $!+���%�  �� �$���6�� Y��3�$'���$����3�$��� ���3��$��!%3��  �� &$� $O����� %��

 �%��!��� �$� �,�3!$�%�  �� %&� �����!#$� 3��$����6�!��<γ=8� *&�� �%� &$�� ��$%��$���  ��

�������!�$��! � � *&��  �%��!��� ��� 3��$��!%3��  �� �� �� $O����� �� �����!�$�� ��� 3�3�$���

3��$,�!����$�&������$����3�3�$����$�&���� ���%�6$�<��&��!#$��'?'?=C�8C?'�

�

��������������������������������������γ�U�µµµµ�N���������������������������������������������<��'��'?'?=�

�

� �!���$%! ���3�%���%���&��!�$�%��'?'�����'?'?8��%6���3������&�$�!"��!#$� �����$�%&%�

��3��$�$��%���%��+����%���@���$���� !����!#$� ��&$���3���3��$,�!���
��%�����!�$�K�



� �DE

�

�����������������������������������/U�.�γ�@����
��������������������������������������������<��'��'?'1=�

�

� �$����
(��%��!$ &��$����$%!�!�$�%� ����%�6$�$&�������$������%�$!+���%� ���$���6�� ��

����3� !�$�������3����� ���� !��!#$��������3��$,�!��� ����� �$� ��A�.A��(9"8� ��! ����

*&����������� ��%�����!#$��%�∆��U�i��%���!�$��*&�������&$�$O�������� !2���$�!�� ���$���6��

<∆/=��%����3!%3���$������%� !2���$��%����$%!�!�$�%�����$!,$ �%�������&��!#$��'?'D�*&���%����

�

���������������������������������������������������������∆/�U�γ�@�
��U�4�ν��������������������������������<��'��'?'D=�

�

��$ !�!#$� ����%�$�$�!�������*&��4������%���!#$� ���$���6�8��$� �$ ��ν��%����$������3��

���2���&�$�!�� ��
��3��C�8C�'�

�

� 
����%���!#$� ���� !��!#$��������3��$,�!����&� ����&��!������!�%���*&���B!%���&$��

 !2���$�!���$����������!#$� ����%�$!+���%� ���$���6��3:%���7�%���$���%����������%�����%��$�&$�

�*&!�!��!���,�3!��'�
������ ������"3�$$� ����������!#$� ��������!�$�%��$������%��%�� �%� ��

�$���6��<��&��!#$��'?'A=�

�

��������������������������������$?N$��U��B�<@�ν�NR�=�U��B�<γ�4�
��NR�=������������������������<��'��'?'A=�

�

� �&�$ �� ��%� ������!�$�%� %�� !�&���$� $�� 4��� �3!%!#$� �%��$�:$���  �� ��� �� !��!#$8� ���

%!%��3��%��%��&��8����2��3����3��%�� !%!�������$���6���%������+,%� ����%���3��%�3��$,�!��%�

������%� *&�� 2�&��O�$� �� ��� 2���&�$�!��  �� 
��3��� *&�� !$ &��$� ���$%2���$�!�� $�� �� !���!+�%�



� �D/

�$���� $!+���%�  �� �$���6�� 3��$,�!��� $&�����8� �%��� %�� ��$���� ��3�� ��� 2�$#3�$��  ��

����7�3!�$��C�8C�'�

�

� 	�����+!���������7��%�$%!�!�! � 8���%�%�J���%� ��
(��%����&3&��$�3� !�$���&$��%��!��

 �� �B���!3�$��%� �����! �%8�  ��! �� �� *&�� ��� �����!#$� %�J��.�&! �� %�� !$���3�$��� %���3�$���

��3�� <$=�N?�  �$ �� $� �%� ��� $O3����  �� �B���!3�$��%8� &$� 2������ χ� �$� ��� ������!+! � �

�����%��$ �� �� &$� 2������χ?� �$� ��� �!�3���  �� ��&3&���!#$'�  �� ����!�&���� !3�����$�!�� �%� ���

+����! � � ����%������!3!�$��� ����� !%��!�&�!#$� ������"3�$$�<�*&!�!��!���,�3!��=����*&��

���+����! � � �������!�!#$� ���$ �� ������C�8C�'�

�

�

%$8$#$�3<'=;'3%�1B�3%<N-1><@B�/1�<-=$�

�

� 
�%� ��!$�!����%� ���:3����%�  �� 
(�8� ��� �������!#$� 3��$,�!��� $&�����8� ���

������3!�$��� �%�6$.�%�6$� <1=� �� ��� ������3!�$���  !������  !������ <5=8� %�$� ��$�! � �%�

��$%��!���%8� ��� *&�� ��� �3�!�$��� �$� ��� �&��� ��� $O����� %�� �$�&�$���� $�� �%� ��$����3�$���

%!3,��!��3�$����%2,�!��'��� �%�����%�%�$���$%���%� ��! ����*&��%�$�����!� � �%���!�!$� �%�

 �� ��� !$������!#$�  ��� +������  �� �%�6$� $&������ �� ��$� ���O$� ����� +�����8� �%�  ��!�� ��$� 
��

<�������!#$=8���$����+6��&$��&� �&�������,���!���$&������<������3!�$����&� �&�����=8�����$�

������%�6$�$&�������8�<������3!�$���5�#�1='��!��� �%��%��%�������3!�$��%�2&���$��+! �$��%�

�$�����%������� ��
(��%��6�����������3�$�����3��!�� �'��!$��3�����8��$�3� !�!�$�%��$�

2�%�%��6*&! ������%��%��%���%!3��!2!����$��3�3�$��� ��! �����3�+!3!�$��� �%�� �$� �� �����



� �A�

3��,�&��8���$��:�! �%������!�$�%�!$����&3�! �%�����2���&�$��%����!%!�$�%8�����&������+�������

3&�%�������� �%���%���%!���%���!�$���!�$�%���$�!�&���������!�! � C�'�

�

�


!&!(!+!���-; �J�/,��.5��3K/,95�<�� ����-5$�6���$5.�99,7�!�

�

� ���$� ������  �� ��� !$2��3��!#$� �$� ��%� �%������%�  ��
(�� %&����  ���  �%���"�3!�$���

*&63!��� ��! ������%���3��%�3��$,�!��%�������%���$��� �%��$����$O�������������!��&���!#$�

 ����%��������$�%��!��&$ �$��%�!$ &�! �%����������3������!�� �'��!���%���3��%�3��$,�!��%�

��%&���$��%�%�����$�$������3������!�� ��<
�=�����2������%�����������!#$������$�����3!�$���

 ��� $O����'� ��� $O����� �$��$��%� �B���!3�$��� &$� ��3��� �2���!+��  �%��!��� ���� ��� ��&��!#$�

�'?'0'��$�����&���σ��%�����������!#$��3��$,�!���$&���������%���B���%���$�&$! � �%� �����.08����

�

�����������������������������������������
����U
�<�.σ=�����������������������������<��'��'?'0=�

�

�����%� ���� 3!��#$� <��3='� 
�%� ���3�$��%�  ��� ��$%��� σ� ��2��7�$� ��� %!3���6��  ��� �3�!�$���

������#$!���  ��� $O����8�  ���$ !�$ ��  ��� �!���  �� �$����8� %!$� �3������ �%��� $�� �%� &$��

��2���$�!�� ��:��!��'� �%� 3:%� &%&��� �%��������� ���  �%���"�3!�$��� *&63!��� <δ=� ��� �&��� �%�

��3O$3�$���3� ! ���$������!#$���&$��%&%��$�!���%�:$ ��8��%��$ �� �2!$! �����K�

�

�����������������������������������������������δN��3�≡���0<ν3.ν��2=Nν��2�������������������������<��'��'?'C'=��

�



� �A�

����&����&� ��%��������!�$� ����$���� !2���$�!�� ���������!#$��$�����63!���σ<<�8� ��3�$����

*&��δ�≈σ��2�.�ν3�8��$� �$ �����%&�6$ !���2�%����2!���������3&�%������)����������2���$�!�C�'�

�

�


!&!(!&!�
95; �/,��.5��,;5 �$����!�

�

� 
�� ���%�$�!��  �� $O����%� 3��$,�!��%� +��!$�%� ������� ��� ��3��� ������ �� ���� �$ �� ���

�$���6�� ���$O����'�
��!$������!#$� !������ !�������$���� �%�3�3�$��%�3��$,�!��%�µµµµ+���µµµµ&�

%����� �%�����&$�+������)��%K�

�������������������������������/��U�<µµµµ+�
!�µµµµ&=N)

1�.�1<µµµµ+�
!��=�<µµµµ&�

!��=N)A������������������<��'��'?'E=�

�

������� !����%�$&������3��$,�!��%�%���!�$�K�

�

����������������������������/5�U�γ�γ?@?H<�+
!�&=N)

1�.1<�+
!
)=<��&

!
)=N)A�I�������������������<��'��'?'/=�

�

*&���&� ��%����%��!����$�2��3������+!� ����3�K�

�

��������������������������������������������/5�U�γ�γ?@?�+
!
5��&�����������������������������������<��'��'?'��=�

�

�$�  �$ �� 5� �%� ��� ��$%���  �� ������3!�$���  !������  !�����'� ��� �&� �� ��%��+��� *&�� 5�

%���3�$��� ���$ �� ����%����� �$� �%������!+�%� ����%!�!#$� ���$O���������?'�

�



� �A?

� ����2����� ����� !$������!#$� !�������$���%��%������%� ��
(�� ���$ �� ���:$�&���θ�

*&�� 2��3�$� ��� +������ !$���$&������ ��$� ��� ��3���3��$,�!���
�'���� ��� !$������!#$� �+
!
5� �&�

��%&���$� %�!%� ���%�%�  !2���$��%�  �� �,�3!$�%8�  �� ��%� �&���%� %���3�$���  �%� ��$��!�&��$� �$�

��!3����� �$8���%��&���%��!�$�$����2������<1��%?θ�.��=N)�!�
�� ���$ �$�!�� ��)���%!�$!2!���*&��

��� ������3!�$���  !������ �%� 2&����� �$� �  !%��$�!�%� �����%� ��  !%3!$&��� �:�! �3�$��� ��$� ���

 !%��$�!�C�'�

�

� �$�2�%���6*&! ��������3� !��!%���#�!��� ��<1��%?θ�.��=�%������� �%���%���!�$���!�$�%�

�%�����8��%6�*&����%�!$������!�$�%� !������%�$����$��!�&��$��������%!�!#$��$���%��%������%� ��


(�� �$� 2�%�� �6*&! �'� �$� %#�! �%� �� �$� �6*&! �%� ��!%���!$�%� �$� ��%� �&���%� ��%� ��%!�!�$�%�

$&������%� %�� 3�$�!�$�$� �����!+�3�$��� ��� ��3��� ���!�� �8� ��� !$������!#$�  !������  �� ��%�

 !����%�3��$,�!��%��&� ��%�����%��+� ���$���%��%������%� ��
(�C�'�

�


!&!(!(!�
95; �/,��.5���6,$�9.5��-;K�*�-;K���"�!�

�

� �$� ������3!�$��� �$����  �%� $O����%� �&��� ���3� !�� $�� �%� ����� �$� �6*&! �%� �%� ���

������3!�$���!$ !�������%�6$.�%�6$���������3!�$���1Z��$��2��������!$������!#$�������< !�����=�

�$����3�3�$��%� $&������%�3��$,�!��%� �%� γ�γ?@?�+
!<1^5=� �&'� 	���� ��%�3��,�&��%� ��!�$�� �%�

��%���3��$�$��%� ��<1^5=��%�$��+! �$��%��$�����%������'��$�2�%�%�!%���#�!��%�%���3�$���1��%�

��%��+� �8� ��! ����*&����� !$������!#$��%�3� !�$�����%��������$�%��$���%��$����%��$������%�

$O����%'��:%!��3�$����B!%��$����%�3���$!%3�%���!$�!����%���������������3!�$���!$ !������18�

�� �%� ����%� 3� !� �%� ���� ��%� �������$�%�  �� +���$�!�'� ��� 3:%� !3�����$���  �� ����%� <1


��=�

!$+��&�������!$������!#$�<��$������ ��-��3!=� ��&$�������#$�'���$����$O�����<��$�����&�����%�



� �A1

�������$�%� �8�  8'''� $�� �!�$�$� ��$�����='� ����� 3���$!%3��  �� ������3!�$��� �%�6$.�%�6$�

!$+��&�������!$������!#$�3� !� ��������%��������$�%��8� 8''''�������3!$�����!����1


�
�%&���� ��

��%� ����&����!�$�%�  �� ��%� ��3��%� 3��$,�!��%�  ��! �%� ��� 3�+!3!�$��� ���!����  �� ��%�

�������$�%��������$O������8��%�������&����!#$��%��B���!3�$�� ���������$O������8���+!��+��%�'�

��� �,�3!$�� �%�6$. !������ 1


'�� %&����  �� ���  !������ !$������!#$�  ���  !����� 3��$,�!���  ���

$O������8���$���� !�����3��$,�!��� ���������#$����!���8�����&���!$������O����$����$O������'�


����$%��$��� ��������3!�$�����%��+� ���%����%&3�� ��1���<����&�����$����3�$��� �3!$�=���

 �� 1�� �� 1'�� '� �%��%� ��3��$�$��%� %���3�$��� �&� �$� %��� �+��&� �%� ���� �:��&��%� ��#�!��%� ��

3&�%���$����!3�����$�!�� ����%��������$�%� ��$���$����8��%6���3�� ����%��������$�%� ���$�����

σ���πC�'��

�


!&!(!0!�	3�6$3;5 5�� A9.$,95!�

�

� �� �%� ��%� $O����%� ��$� �� j�k� �!�$�$� &$��  !%��!�&�!#$� ��!�%�! ���  �� ��� ������ �� &$�

3�3�$��� ��,���!��� �&� �&�����'�
�� �$���6�� �������%�:�!��� �%�3!$!3!"� ������ ��� �����!� ��

��!$��3!�$���  �� &$� �&� �&����� �$� &$� ��� !�$���  �� ��3��'� �$� &$�� 3��,�&��8� 4��� &$�

��� !�$��� ����3�����,���!���<���=� ��! ��������%!3���6���$���� !%��!�&�!#$� �����������������

 ��! ������%��������$�%���������%�$O����%'�
���$���6�� ��&$��&� �&�����$&�������%��&�$�!"� ��

 ����&�� ����%&���!�$���!#$��$������� !�$��� ����3�����,���!���%!�3�����$��&%�$�!�� ��&$�

��3���3��$,�!��� �B���$�'� 
�%� ���$%!�!�$�%� %�$� !$ &�! �%� ���� &$�� �� !�2���&�$�!�8� �$� ���

*&�� �%� ��$��! �� ��3�� ��%�$�$�!�� �&� �&������ $&�����8� �%��� ���+�� ��$����3�$��� �� ���

����$�!#$� ����$ �%� ����%���!#$��$%�$�4� �%C�8�C?'�

�



� �AD

%$8$#$�/1>1<-'=%;'M=�/1��N<1%�3%<%��%B�B1O%�1B�/1�<-=$�

�

� ���4�$�����!"� ��3&������%��%�& !�%� ��
(���$2��� �%�4��!����� ����3!$��!#$���

�$:�!%!%��&�$�!���!+�� ���%���!�%�*&63!��%C8�E8����3����6�� ����%��%�& !�%�%��4�$��$2��� ����

���  ����3!$��!#$�  ��� �!���  �� �%���!�%� *&63!��%� *&�� %�� �!�$�$� ���%�$��%� �� �!�$� �� ���

��&�! ��!#$� ����%����3���6�%��%��&��&����%� �� !�4�%��%���!�%'�

�

� �$��%��� �����7�� %�������$��&$��3��� ����6��*&�����3!��� �����!�$��� ��%� %�J���%� ��

��%�$�$�!��3��$,�!���$&������<
(�=���$���%�2����!�$�%�3�����%� ����%��%���!�%�2��3� �%�

 &��$�����������%�� ��4! �#�!%!%8������������%�$���%��!�� ����3!$������:������7������%������� ��

��%�$�$�!�'�	�����%���2!$���%�%�J���%�����$! �%�%��!$�����$8�����!"�$ ���%���!$������!#$���$�

��& �� ���%�2�P���� ��� !$%��&3�$��'�
���$���!���%���2���O�� ��3�$ ���$���$%! ����!#$�*&��

��%� %�J���%� ���%�$��$� &$� ��3�����3!�$��� ��&%%!�$�� �� �%�& ���&%%!�$�'� 	��� ����� �� �8�

�&�$ ��%���!�$�$�%�J���%���3���7�%�*&��%�����7�$� �����3�����3!�$����$��%�3�$�!�$� ��%��

����� ������� ���$+��&�!#$���$���%���$�*&�� !�4��%�J����%���!$����� ������ !+��%�%�%�J���%�

�%��������%8��� �%�����%���$���������6%�!��%���&%%!�$�%'�

�

�

�


